MIHICTEPCTBO OCBITHU 1 HAYKHM YKPAITHU

UL TS

YHIBEPCHTET

\7E.

YKPATHCBKUM JEPKABHUI YHIBEPCUTET
3AJIIBHUYHOI'O TPAHCHOPTY

|1

C. M. Jloneus, C. 1. Hemko, O. B. Eab Kaccem

TECHNICAL ENGLISH
FOR RAILWAY STUDENTS

HaByajibHHH NOCIOHHK

Yactuna 1

Xapkis 2025



VIIK 811.111(075)
167

Pexomenoosarno euenor paoorw Yrpaincvkoeo 0epaicasHo2o yHigepcumenmy
3aNI3HUYHO20 MPAHCHOPMY K HABUALIbHUL NOCIOHUK
(6umse 3 npomoxony Ne 6 6io 1 aunusa 2025 p.)

Penenzenrmn:

npod. O. JI. Inbenko (XapkiBChbKHUil HAIlIOHATBHUN YHIBEPCUTET MiCBKOT'O
rocniogapctea iM. O. M. BekeTosa),
noi. O. L. 3eninceka (HamioHansHui FOpUAMYHINA yHIBEpCUTET iM. SIpociaBa

My nporo)

Honens C. M., Hemiko C. 1., Enp Kaccem O. B. Technical English for
167 Railway Students: Hapu. nocionuk. — Xapkis: YkpIY3T, 2025. — Y. 1.

— 153 c., puc. 1.

ISBN

Hapuanbauii TOCIOHUK CKJIaJC€HUI BIAMOBIIHO A0 MPOTPaMH 3 1HO3EMHHX MOB
JUI. HEMOBHMX 3aKJajiB BUIIOI OCBITH. MeTa HaBYaIbHOTO MOCIOHUKA - MIATOTYBaTH
MalOyTHIX CHEIaIiCTIB 3aTi3HUYHOTO TPAHCIOPTY 10 MNpodeciiiHO OpiEHTOBAHOTO
YCHOTO Ta MUCHMOBOTO CIiIKyBaHHA. E(eKkTHBHE OBOJIOIHHS MOBOK 3a0€3MeUEHO
CHUCTEMOI0 KOMYHIKaTUBHUX BIIPaB, 1[0 CTUMYJIIOIOTH IHTEpeC 3100yBaviB BUIIOi OCBITH
1 IXHIO TBOpYY aKTHUBHICTh. TE€KCTOBUH MaTepiaJl HABYAJIBLHOTO IMOCIOHMKA Jla€ Pi3Hy
iH(dopMaIlifo Mpo 1CTOPIt0, HAWBAKIIMBIIII acCMeKTH POOOTH 1 TEHIEHINI PO3BUTKY
3aM3HUIL K YKpaiHW, Tak 1 1HIMUX KpaiH cBiTY. TekcTH CKIaaeHi 3a CydYaCHUMH
MaTepiajaMu CIeliali3oBaHUX OPUTAHCHKUX 1 aMEPUKAHCHKUX TEPIOIMYHUX BHJIAHb:
International Railway Journal, European Rail Outlook, Railway Gazette i Railvolution.
Benuky yBary mpuijieHO BUBYCHHIO TPAMATHUKHU SIK OCHOBH PO3YMIHHS Ta MOBJICHHS
AHTITIHCHKOI0 MOBOIO.

PexomenmoBaHoO sik 0a30BUil Kypc /Ui 3100yBadiB 3aKJIaJIiB BUIIOI Ta CEPEIHBOT
OCBITH 3aJIi3HUYHOTO TPAHCIIOPTY TEPIIOr0 POKY HAaBUAHHS, a TaKOX THUX, XTO Mae
TEXHIYHY OCBITY 1 0a)xa€ CaMOCTIMHO BJIOCKOHAJIOBAaTH CBOI HABHYKH OBOJIOIIHHS
aHTJIHCHKOI0 MOBOIO.

VJIK 811.111(075)

© YkpaiHcbKuii ep:kaBHUIl yHiBepcHTeT
ISBN 3aJ1i3HHYHOTO TPAHCHOPTY, 2025.



SMICT

I. FROM THE HISTORY OF RAILWAYS ... 7
Travelling by Rail: Pros and Cons; From the History of Railways: 200 Years of
Progress; Unusual Railways; Sentences with the Verbs to be and to have;
Construction there + to be; Degrees of Comparison of Adjectives and Adverbs;
Nouns: Countable and Uncountable; Plural and Singular; Indefinite (Simple) Tense;
At the Railway Ticket Office; -er (-or), -ion (-sion, -tion, -ation), -ist, -ant (-ent),
-able (-ible)

1. RAIL OPERATION ... e e 41
Travelling by Train; Railway Traffic Operation; Virtual Rail for Staff Training;
Engineering; Possessive Case of Nouns; Articles; Imperative Sentences; Prepositions
of Time and Place; Questions; Indefinite (Simple) Tense in the Passive; Modal Verbs
Can, May, Must and their equivalents; Colloquial Expressions; -ure (-ture), -ment,
-ness; -less, -ful, -ly

L RAIL TRACK Lo e e e e e e 77
Modes of Transportation; Railroad Track; The Track for the Future; Around the
World: Track Innovations; Continuous Tense; Present Participle; Pronouns; Use of
It; Numerals; Telephone Conversation; -ity, -ty, -ship; -ous, -ive, -y; -ate, -en

IV. UNDERGROUND RAILWAYS .. e 108
Advantages and Disadvantages of City Transport; Underground Railways; Light Rail

as Modern Solution for Large Cities; Kharkiv Underground; News in Brief about
World Metros; Perfect Tenses; Perfect Continuous Tenses; Past Participle; Pronoun

One; Attributive Groups; Social Expressions; -ic, -al, -an; -age, -th, -ee; -ize, -(i)fy;

en- (em-)
BIBJIIOT PA®TUHMIM CITHCOK .....oooviiiiiiiiieiie e, 142
JIO A AT OK . oo e 143

Active Voice; Passive Voice; Pronouns; Functions of Modal Verbs and Expressions;

Use of Prepositions after Words and Expressions; British and American English



BCTVYII

HaBuanbHuil MOCIOHMK MOXeE OyTH BUKOPUCTaHHWM sIK 0a30BUH Kypc IS
3100yBayiB 3aKJIaJIB BHILOI Ta CEPEAHBOI OCBITH 3aJI3HUYHOTO TPAHCHOPTY
NEepIIoro poKy HaByaHHsA. Merta HaBuaibHOTrO mociOHMKA, 3a I[Iporpamoro
BUBYECHHS 1HO3€MHUX MOB, - MATOTOBKA 37100yBayviB 10 BUKOPUCTAHHS 1HO3EMHO1
MOBM B MalOYyTHIM JiJIbHOCTI, TOOTO (OpMyBaHHS HEOOXIAHMX HABUUYOK
npodeciiHO-OpIEHTOBAHOTO YCHOTO Ta MUCHhbMOBOTO CITLJIKYBaHHS.

HapuanbHuil mociOHMK CIPSIMOBAHUM HA PO3BUTOK HABUYOK 1 BMIHb PI3HUX
BUJIiB YUTaHHS (BUBUYCHHS, O3HAHOMIICHHS, MTOIIYK Ta OTJISM), IO B TTOAAJIBIIIOMY
JaCTh 3MOTY MPodeCiOHATBHO 1 HIBUAKO 3HAXOJUTH 1H(POPMAIIiI0 B OPUTIHAIIbHIHI
JTEpaTypi: 3arajibHOHAYKOBUX CTaTTSAX, MOHOrpadisix, Kpae3HaBUIH JiTeparTypi,
TEeXHIYHINA TOKYMEHTaIlli, MaTepiajiax MOJITEeXHIYHOTO Ta HAYKOBO-TIOMYJISIPHOT'O
XapakTepy.

ITlin gac BUOOpPY TEKCTOBOTO Marepialy OCHOBHUM Kputepiem Oyia
iHopMalriitHa IMIHHICTH TEKCTIB 1 X BIAMOBIAHICTH 1HTEpecaM 3100yBadyiB
3aKJIajiB BUIOi OCBITH 1 TEXHIKYMIB 3aJi3HUYHOTO TPAHCIOPTY. YCI TEKCTH
NepIIoi YaCTUHU HAaBYAJIBLHOTO MOCIOHUKA CKJIaJeH] 32 Cy4YaCHUMHU MaTepiajaMu
CTeliali30BaHUX OPUTAHCHKUX 1 aMEPUKAHCHKUX TMEPIOJUYHUX BHJIAHb:
International Railway Journal, European Rail Outlook, Railway Gazette i
Railvolution, depe3 1o miapydHuK aKTyalnbHHI 1 Ma€e iHQOpMaIliiiHy HOBU3HY. Y
NeSKUX BUITQIKaX TSKCTH Oy aJlallTOBaH1, a HAHO1IbIN CKIIAIHI JUTSl CIIPUMHSITTS
MOBHI SIBHINA i peaii moJgadl y BAHOCKaX 1 KOMEHTapsX JI0 TEKCTY. Y Cl OCHOBHI
TeKkCcTH MaroTh QR-K0/11, 3aCTOCOBYIOUH fIK1, 37100yBad MOKE MPOCITYXaTH TEKCT.

Benuky yBary nmpuiiieHO HaBYAaHHIO YCHOMY MOBJIEHHIO Ta IMiJTOTOBIII
3100yBaviB 10 MOHOJIOT1YHOTO BHUCJIOBIIOBAHHS y BHUIUISAI JIOMOBIJEH, IO €
TUNIOBUM Uit cepu mpodeCiiHOTO CIITKYBaHHS, MIATOTOBII A0 y4YacTi B

eJIeMeHTapHOMY Jiano3i abo monio3i (becima abo auCKycis), mo mepeadadae



PO3BUTOK YMiHb BHUCJIOBJIIOBATH OCOOMCTY TOUYKY 30py, 3rofy a00 HE3roay 3
Yy>KUMH BUCTOBIIOBAaHHSAMHU, 3/I1IMCHIOBATH 3alUT 1HPOpMAIIi TOLIO.
HaBuanbHuil NOCIOHHMK CKIAAAETHCS 3 YOTHUPHOX CTPYKTYPHHUX PO3JUIIB 1
nonatka. Koxxuuit po3aia yMoBHO nozitenuid Ha Discussion, Reading, Grammar,
Speaking i Word Building. Yactura Grammar nojae rpaMaTHYHHNA Matepian y
CTUCIIOMY BUTJISI[I 3 BUKOPUCTAHHAM TaOJUIb 1 BIANOBIAHMX KOMEHTapiB, a
TaKOX BEJIMKOI KIIbKOCTI HAOUHUX MpUKIaIiB. ['pamMaTuuHuil MaTepial moJaHo
TIOCTIIOBHO 1 CHCTEMHO, TaK 10 MOBTOPEHHSI IIKITFHOTO KYypPCY aHTTIHChKOT MOBH
Ha piBHI y3araJdbHEHHS Ma€ MIIlHy OCHOBY JJIS TMOJAJBIIOrO PO3IIUPEHHS Ta
yckinagHennss wmatepiary. CdopmoBaHI HAaBHUKH  3aKpIUIIOIOTh  CEPIEIO
KOMYHIKaTHBHO CIIPSIMOBaHUX BIIPAB MiJCTAHOBYOIO, MIEPEKIATHOTO 1 TBOPUOTO
xapakrepy. Jlekcuka BmpaB He OOMEXeHa JHINEe TEXHIYHMM HANpPSIMKOM, a
BimoOpaxkye 1  couiagbHO-OOyTOBY  cdepy. ['pamaTuuni  BhpaBu
nudepeHIiiioBalHl 3a CTYNEHEM CKJIQJHOCTI 3 ypaxyBaHHSM pI3HUX PIBHIB
MiTOTOBKK 3700yBadiB 1 po3paxoBaHl Ha MHCBMOBY Ta YCHY NPAKTUKy B
peKUMax ayAauTOpHOI M camocTiiiHoi poOiT. YactrHa Reading mouwnHaeThes 3
JETAIBHOTO CJIOBHMKA 3 PI3HUMHU JIGKCHYHUMH BIpaBaMu. TeMaTruka TEKCTIiB
OXOIUTIOE HAMBaXXJIUBIII AacHeKTl pOOOTH 3alli3HUIN: KEPYBaHHSI PYXOM,
METPOTIOJIITEH, 3aIi3HUYHE OyMIBHUIITBO Ta OymoBa kojii. Tekctu, 6e3nepeyHo,
MaTh mnpodeciiHuii 1HTepec Uil MaHOYTHIX 1HXKEHEPIB 3ai3HUYHOTO
TPAHCIIOPTY, OCKIIBKM MICTATh HAWCydYacHIII BIAOMOCTI PO JOCSATHEHHS
CBITOBHUX 3aJI3HUIIB 1 CTOCYIOTBCS TEHJICHIIIT PO3BUTKY €BPOIMEHCHKIX 3a113HUIIb
Ha HaWOmmKYl necaTimTTa. CHucTemMa IepeATeKCTOBUX 1 MICIATEKCTOBUX BIIPaB
cupsiMoBaHa Ha (OpPMYBaHHS HAaBUYOK 1 BMiHb pOOOTH 3 TEKCTOM, BKJIIOYAIOUU
MOIIYK, OCMHCIICHHS Ta Yy3arajJbHeHHS iH(opMaii, ii kimacudikamio u
MOPIBHSUTHHUI aHai3, TPOBAKEHHS MPOQECIiHHOT AUCKYCIT 3 0OTPYyHTYBaHHSIM
CBO€I TO3WIli, aHOTyBaHHS Ta pedepyBaHHS, MIATOTOBKY W MPE3CHTAIII0
ocobuctoro mpoekty (Project) i3 BHKOpPHCTaHHSM J0JATKOBOI CIICHiaJbHOI

iHpopmarrii. KomyHikaTuBHI 1 TBOpYI 3aBHaHHS B MeEXaxX TEBHOI TEMU



MOCWIIOIOTh MOTHUBAIII0 3100yBayiB 1 IXHIO MPOQECIiHY OpIEHTAILlII0, a TAKOX
rorye iX A0 CaMOCTIMHOI poOOTHM 3 HAYKOBUM TEKCTOM. J[OJaTKOBI TEKCTH
(Supplementary textS) 3MicTOBHO TOB’s3aHi 3 OCHOBHHM 1 pO3IIMPIOIOTH
npodeciifiHy CBIIOMICTh 1 KOMIIETEHIIi 10 3100yBaviB. Taki TEKCTH MpU3HAYCHI JJIsI
PO3BUTKY HABHUYOK «IIBHAKOTO YMTAHHSI» 1 BMIHHS 3HAXOAHWTU B TEKCTI MEBHY
1H(pOopMalIlito, IO 1 € METOI0 NPO(ECIitHO OPIEHTOBAHOI'O YUTAHHS.

Yactuna Speaking copsmoBaHa Ha PO3BUTOK HABHYOK JI1aJIOTIYHOT
MOBJICHHEBOI JTiSUTBHOCTI 32 JIOTIOMOTOK0 TEMaTHYHHUX MOJEJIeH, 3pa3KiB,
HaWOUIbIl TUIOBUX CHUTYaTMBHHUX [IaJioOTiB 1 MOBHHUX Kiime. YactuHa
cimoBotBopernst Word Building oxoruroe mommpeHi BUMAagKd aKTHBHOTO
CJIOBOTBOPEHHSI B CyYaCHIN aHIIIMCHKIA MOBI 1 MICTUTh 0araTo BIpaB.

JA  CcKJIaJaHHS HABYAJBHOrO0 MNOCiOHMKa OyJaM BHKOPHCTAaHI

ayniomarepiaau JI. 1. 3oi10TapeBchbKoi.



. FROM THE HISTORY OF RAILWAYS

Discussion:  Travelling by Rail: Pros and Cons
Main Text: ~ From the History of Railways: 200 Years of Progress
Supplementary Text: Unusual Railways
Grammar: Sentences with the Verbs to be, to have
Construction there + to be
Degrees of Comparison of Adjectives and Adverbs
Nouns: Countable and Uncountable; Plural and Singular
Indefinite (Simple) Tense
Speaking: At the Railway Ticket Office
Word Building: -er (-or), -ion (-sion, -tion, -ation), -ist, -ant (-ent), -able (-ible)

DISCUSSION

Exercise 1.1. a) What do we all have in common? Among other things, the
fact that we all travel by rail. Let us discuss the pros and cons of a railway
journey. What for you is most important from the railway? Add your own
reasons to the list below.

+ safety

» comfort

* punctual departures and arrivals

* attentive staff

 cheapness

b) In this text you’ll know Maria’s opinion about the advantages and
disadvantages of travelling by train. Put the linking words on the right in the

correct place in each paragraph. The linking words are in the right order.

First of all
1. Travelling by train has many advantages. There are no Also
stressful traffic jams, and trains are fast and comfortable. For example
You can use the time in different ways. You can just sit Besides



and read, or relax and watch the world go by. You can
work, or you can have a meal or a snack in the buffet car.
And, what 1s most important, you don’t depend on the

weather.

2. Travelling by train also has some disadvantages. It is However

expensive and the trains are sometimes crowded and For one thing
delayed. You have to travel at certain times and trains What is more
cannot take you from door to door. You need a bus or a For example

taxi to take you to the railway station.

Despite the
3. | prefer travelling by train to either flying or driving. | disadvantages
feel more relaxed when | reach my destination. Because

Exercise 1.2. In groups discuss the following questions.

e Do you know which country was the birthplace of railways? Do you
remember any names or dates associated with rail history?

e What do you know about the early days of railways? What did the first
trains and carriages look like?

e When was ‘the golden age’ of railway? Are you optimistic about the future
for railways? What makes you think so?

e Give some facts to prove that the railway is the backbone of any country’s

economy.

READING

Wz railway — n samizauns (AmE railroad); rail — n petika, 3amizHuns
|"" -

ra;-a%

oy --" I

travel — n moi3nka, mMomOpOXK; V pyxaTHCS, IXaTH, IOJOPOKYBaTH;
traveller — n macaxwp

choose (chose, chosen) — v Bubuparu



prefer — v HagaBatu nepesary

means — n 3acio; by means of — 3a gormomoroxo

combine — v noeanyBatu, exHaTH; Syn unite

safety — n Ge3neka, HadiiHICTh; Safe — adj Oe3neunwmii, HaIHHKI

superior — adj Halikpaiuii, nepeBaxkarourii; have no superior — He MaTH PiIBHUX
Important — adj BaxxuBuii, 3HAUHUIH

carry — v Be3tu, Hectu; carry freight (goods) — mepeBo3uTu BaHTaxI1

account (for) — v BiamoBizartu 3a, 3BiTyBaTH; aCCOUNt — N 3BIT, paXyHOK
different — adj pi3uwuii; differ from — v BigpisHsaTHCS Big

place — n micrie, Miciie3HaxoKeHHs; V po3miinyBaTH; take place — BigOyBaTucs,
MaTu MicIie

develop — v possuBatH(cs), po3poOisTH, crBOproBaTH; development — n
PO3BHUTOK, JOCSATHEHHS, PO3POOJICHHS

realize — v po3ymiTH, yCBIIOMJIIOBATH, BAKOHYBaTH

challenge — n Bukiuk, npo6iema; meet the challenge — ctukarucs 3 npodemoro,
BIJIITOBICTH HA BUKJIUK

engine — N JOKOMOTHUB, IBUTYH; Steam engine — napoBuii IBUTYH

invention — n BuHaxix; invent — v BUHaxoguTy; iINVeNtor — N BUHAXigHUK
attempt — n cripo6a; v mpoOyBatu

carriage — n Baron; Syn car, coach

construct — v 6yayBaru, KoHCTpyfoBaty; Syn build

call — v 3Batn, HazuBaTH

load — v 3aBanTaKyBaTH; N HABAaHTAKCHHS

power — n cuia, MOTYXHICTh, €Hepris; V moctadatu eHeprito; powerful — adj
noTy>kHHiA; tractive power = traction — tsiroBa cuia, Tsra

successful — adj ycminmauiA, Baammii; SUCCESS — N ycrmix; be a SUCCESS — MaTH ycImix
offer — v mpomonyBatu; N MPOMO3HITis

be in wide use — maTi mMUpPOKEe BUKOPUCTAHHSI

connect — n 3’exqnyBaTu Syn link



skill — n BminHSA, MaiicTepHICTh

doubt — n cymHiB; V MaTu CyMHIB

possibility — n moxxuBicTh; possible — adj moxmBuii

In terms of — 3 Touku 30py, CTOCOBHO; term — N TepMiH, mepioj, cemectp; terms —
N yMOBH

volume — n 06’em, Maca

complete — v 3akinuyBatu

get an access to — oxgepkatu 4OCTYyN 10

change — v 3miHroBaTH; N 3MiHa

rank — v 3aiiMatu micrie

be over — 3akiHuUMTHCS, MIAXOIUTH 4O KIHIA

compete (against) — v 3maratucs; competition — N 3MaraHHs, KOHKYPCHIIiS;
competitor — n koukypeHT; competitive — adj koHKypeHTHU I

due to — prep 3aBasiku, BHacigok; Syn thanks to

high-speed train — BucokomBuakicHuii motsr; syn fast train; ant slow train

resemble — vV moxoauTy, MaTh CXOXIiCTh

Exercise 1.3. Read and translate the following combinations.

By means of railroads; the safest means of travel; to run much faster than; to
develop a speed; to develop a new method; due to the advanced technologies; to
run a factory; to operate well; to be far slower and lighter; much more comfortable
than; not so important as; thanks to new developments; the most powerful modern
locomotives; to introduce electricity as tractive power; the introduction of diesel
traction; to be ready to meet the challenges; the passenger and freight service; the
invention of a steam engine; to draw a train; to be the backbone of any country’s
economy; to be as successful as; to compete successfully; in terms of construction

speed; to combine comfort and safety; to resemble aircraft in design.

10



Exercise 1.4. Match the words in the left column with the corresponding
synonyms in the right one.

Goods, to be over, means of transport, | Freight, to come to an end, fast, to pull,
safe, to resemble, high speed, to draw, |to operate, to propose, to construct, due
to think, travel, to run, to build, thanks | to, to invent, contest, to consider,

to, competition, to develop, to offer. |journey, reliable, vehicle, to be like.

FROM THE HISTORY OF RAILWAYS: 200 YEARS OF PROGRESS

(1) Millions of people all over the world spend their time travelling

either for pleasure or on business. Some choose automobiles for
comfort and mobility; others prefer air travel especially if the distance
is long and time is short. Anyway, the railway is by far the most popular means
of travel. This holds true whether it involves moving people between countries or
on their daily journeys to business centres, as well as for the transport of railfreight
nationally and internationally. In combining speed, comfort, safety and perfect
service railways have no superior. But their most important function is to carry
freight. Railways account for a major part of freight transportation, being, in fact,
the backbone?! of the national economy.

(2) The world is now a very different place from when railways were
developed. In May 2004 Britain’s National Railway Museum in York organised
festivities to commemorate? the birth of the world’s first steam locomotive 200
years ago. The idea behind Railfest 2004 was to track the progress of rail transport
from Richard Trevithick’s locomotive of 1804 to Britain’s new flagship®
Pendolino train. To better realise the challenges for modern railways, let us also
look back at their start.

(3) The first trains were drawn by horses and transported such products as
coal, ore and timber in mines and factories. Later on, the horse railways were used
as passenger transport in large cities. However, the boom years of early railways

began with the invention of the steam engine at the end of the 18" century. There

11



are a number of key dates in the history of railways. In 1804 Richard
Trevithick, an English engineer, built a light and small steam engine for his iron
works in Wales. His working model was demonstrated in London where for a
shilling the public could travel in a carriage drawn by the steam engine on a
circular track of iron rails. The locomotive was called ‘Catch-me-who-can’, and
people could really catch it because it developed only 12 miles per hour (mph).
The locomotive was too heavy and finally broke the rail, thus ending Trevithick’s
career as an inventor. Yet, he can be rightly credited* as the father of the steam
locomotive.

(4) Another important date is the year of 1825 when George Stephenson,
an engineer of the coal mine in northern England, constructed the steam engine
called Locomotion. This locomotive was much smaller and lighter than the steam
locos developed later on, and it was much slower. However, it could draw a small
train of loaded cars and developed an unheard-of speed of 13mph (21km/h).
Stephenson was also the builder of the world’s first public railway — the Stockton
& Darlington Railroad (1825) using both steam and horses as tractive power. It
began regular service with the only locomotive every day except Sunday. In many

senses, 1825 is seen as the start of the Age of railways.

. another railway, now steam-powered, between

Yet, Stephenson’s really big triumph

came in 1829 when he was asked to build

Liverpool and Manchester. It was the first truly
successful passenger railway in the world. The

S 4 company offered a prize of 500 pounds for the

Puc. 1. Rocket as preserved in
the Science Museum, London

best steam train. The prize was won by George
Stephenson with his famous train The Rocket,
which is now in London’s Science Museum. It could travel at 49 mph, which was
very fast at that time. Soon the steam-powered railways were already in wide use.

By 1854 every town of any size in England was connected by rail.

12



(5) The invention of steam locomotives made the railway the first and the
most important means of mass transportation. In fact, until the invention of the
motorcar in the early 20™ century, railways had a monopoly on land transport. A
major railway project of that time was the construction of Trans-Siberian railway
in 1891 which in terms of construction speed (12 years), length (7500km), and
volume of work completed was the largest in the world. Europe got access to the
Pacific Ocean via Asia.

(6) Since that time many changes have taken place on railways. Had it been
possible for the opponents of early railways to live till now, they should have
admitted that George Stephenson was eventually right about the bright future for
railways. Steel wheels running on steel rails have stood the test of time and do
face a bright future. Indeed, railways are the only means of transport with a
considerable potential for growth and improvement combining standard rail
methods with new technologies. There has been major technical progress during
the last 200 years, and the rate of the progress during the last few decades is really
breathtaking.

(7) Sometimes one can hear that the ‘golden age’ of railways is over because
we live in the age of high technologies and super-high speeds. Modern railways
are ready to meet these challenges. They compete effectively in the transportation
market of the new global economy. High-speed trains become more and more
‘intelligent’ due to advanced computer technologies. Modern trains resemble
aircraft in design, fully automated operation and speed (the world speed record
now is 581 km/h) using air or magnetic cushions for levitation. What seems
fantastic today turns out to be quite common tomorrow. Advances in rail
transportation will make the trains still more powerful and our travel more

comfortable with each coming decade [1, 10].
! backbone — ocnoBa, cTpuKeHb.
2 festivities to commemorate — cBsita Ha 4eCTh YOrO-HEOYIb.
3flagship — dmarman.

*he can be rightly credited — iforo moxHa 110 npaBy Ha3BaTH.

13



Exercise 1.5. Complete the sentences according to the text.

1. Railways are of great importance to a country because ... . 2. The very first
railways used ... and transported ... . 3. People could catch Trevithick’s locomotive
because ... . 4. ... built a successful steam locomotive ‘The Rocket’. 5. The boom
years of early railways began with the invention of ... . 6. Stephenson constructed
his ‘Rocket’ for the railway between ... . 7. Stephenson’s locomotive won ... .
8. Nowadays railways ... effectively in the transportation market. 10. Modern
railways are ready to meet ... of the age of super-high speeds. 11. By now ... is
581 km/h. 12. ... technologies will make our trains still more powerful. 13. High-

speed trains resemble ... in design, fully automated operation and speed.

Exercise 1.6. Scan the text for the numbers and names mentioned below. Be
ready to comment on them.

Railfest 2004; Pendolino; ‘Catch-me-who-can’; coalmine of Killingworth;
Stockton & Darlington; ‘Rocket’; Richard Trevithick; 500 pounds; 29 mph;
George Stephenson; the length of 7500 km; 581 km/h, 12 years.

Exercise 1.7. Answer the questions.

1. What is the most important function of railways? 2. What part do railways play
in the national economy of a country and why? 3. What are the advantages and
disadvantages of railways? 4. What was the idea behind the Railfest 2004 in
York? 5. What were the early railways like? What were they used for? 6. What
invention caused the boom years of railway development? 7. What do you know
about Richard Trevithick? 8. When was the first successful steam locomotive
built? What did it look like? 9. Where was the first truly successful passenger
railway built? 10. Who built the first public railway? Where did it take place?
11. What was the most challenging railway project of the end of the 19" century?
12. Can modern railways compete with road and air transportation? Prove your

point of view. 13. What are the main challenges for modern railways? 14. What
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changes will take place on railways in future? 15. What is the speed record for

modern high-speed trains?

Exercise 1.8. Make up a short story on one of the suggested topics using word
combinations in brackets. Make use of any additional source of information
you can find.

1. The importance of railways (play an important part; carry people; transport
freight; economic and political development; the most popular means of travel;
combine speed, comfort and safety; the backbone of a country’s economy).

2. Early locomotives (the first attempt to use steam engines; invent a successful
steam locomotive; be small and light; not so fast as; draw trains; develop a speed).
3. The future of railways (compete; great changes; take place; run powerful
locomotives; comfortable cars; develop super-high speeds; intelligent trains
operated by electronic computers; introduce advanced technologies; resemble

aircraft).

Supplementary text: UNUSUAL RAILWAYS
Read the text and then fill in the table. Give your own arguments in favour

of one of the projects.

Name of the project Pros Cons

Gliding Railway

Balloon Railway

Railway on Ice
Tube-Flight Concept

(1) In the course of railway history many researches were carried out to develop
cheaper and more efficient means of transportation. Here are some interesting
examples of unusual railways. In 1862 L.D. Girard, a French inventor, surprised

the world that he invented Gliding Railway! based on the entirely new wheelless
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design. According to the project the train was to move on six plates. While the
train was running the water was to be spread evenly between the plates and the
track. When constructed the experimental line was a success. People travelling on
this strange railway were surprised by its smoothness, noiseless operation of trains
and speed attained. This railway proved much cheaper in the comparison with
conventional railways since it did not need a rail track.

(2) In the early 1900s there appeared one of the strangest mountain railways
in Austria. It was a balloon railway? whose function was to facilitate and speed
up the transportation of passengers up a high mountain near Salzburg. It consisted
of a large balloon connected to the car. Instead of wheels the car had a slide®
running on a single rail. When loaded, the car carrying ten passengers rose up the
mountain. But when it was to run down, a large tank installed under the car had
to be filled with water. It was the increased weight that made the car run down
again.

(3) William H. Reinolz, USA, proposed to use a water base for his track.
But the water was to be frozen and the trains were to move over a bed of ice.
According to Reinolz the atomic energy ought to be used for freezing water, and
the track ought to be enclosed in a gallery of transparent plastic to decrease air
friction and power losses. The streamlined* trains should be made of aluminium.

(4) The idea of using underground tunnels or tubes for high-speed running
is being carefully studied by scientists. According to the so-called tube-flight
concept® streamlined vehicles are to run in a tube. The power source should be
installed in cars and they are to transfer air by propellers from the front to the rear.
Running in the tube the trains will have small power losses, so speeds up to
2000mph can be theoretically attained. Not all of the proposals for unconventional
railways have found practical application. But these ideas have made it possible

to build modern high-speed transportation systems [1, 10].

1 Gliding railway — 3anizuuns, 3acHOBaHa Ha IPUHIIUII KOB3aHHSI.
2balloon railway — 3ai3Huus, Ha sKiii MOTATM pyXaaucs 3a J0IOMOTOK MOBITPSAHOT KyJIi.

%a slide — mym noB3yHOK.
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4 streamlined — Toi, sxuit Mae 06TiuHy popMmy.

® tube-flight concept — inest MBUAKICHOTO «TIOIBOTY» y TPYOi.

Exercise 1.9. Can any of these ideas be possibly used nowadays/ in the future?
Which of the projects has found practical application? Which of them seems

the most fantastic (realistic)?

GRAMMAR
Sentences with the Verb to be
PRESENT PAST FUTURE
I am (I'm)
was
he, she, it is (he’s) will (“Il) be
you, we, they are (you’re) were
NEGATIVE

I am not (I°’m not)
__ i was not (wasn’t) _
he, she, it is not (isn’t) will not (won’t) be

you, we, they are not (aren’t) were not (weren’t)
INTERROGATIVE

Aml..?
Was I, he, she, it ...?
Is he (she, it) ...? Will you be ...?
Are you (we, they) ...? Were they, we, you ...?

Exercise 1.10. Object to the sentence according to the model.

Model: He was in Kharkiv last month. — Nothing of the kind. He wasn't. He was
in Kyiv at that time.

| hear it will be cold tomorrow. — Nothing of the kind. It won't. For all | know it
will be warm enough.

1. She was unwell last week. 2. Kate is 18 years old. 3. They were present at the
meeting yesterday. 4. The film was boring. 5. There will be a lot of people at the

birthday party tomorrow. 6. She was late for the classes. 7. Last summer was
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unusually hot. 8. He is very good at languages. 9. They are first-year students.

10. John is in America now.

Exercise 1.11. Fill in the gaps with the verb to be in the appropriate form.
Take turns to ask each other questions. Give true answers.

Model: What / favourite colour? — What is your favourite colour? — It’s violet.

1. Where / you / born? 2. Which month / you / born? 3. What / the most interesting
subject at school? 4. When / Christmas in our country? 5. What / your favourite
sport? 6. Where / you when | called you yesterday evening? 7. What / your
parents? 8. What / the best (worst) TV programme for you? 9. How big / your
family? 10. Where / you from? 11. Why / you late for the lecture yesterday? 12.
Which profession / the most popular (difficult, respectable) in our country? 13.

You / busy tomorrow? 14. How old / you?

Exercise 1.12. Put was, were, wasn't, or couldn’t into the gaps. Practise the
conversation between two friends, Sue and Bill.

Sue: ... you at Eve’s party last Saturday?

Bill: Yes, I ....

Sue: ... it good?

Bill: Well, it ... OK.

Sue: ... there many people?

Bill: Yes, there ... .

Sue: ... Tom there?

Bill: No, he ... . And where ... you?

Sue: Oh, I ... come because | ... at Adam’s party. It ... fantastic.
Exercise 1.13. Translate the sentences.

1. Bin 3apa3 y Binpsukenni. 2. Bona 6ye Tam o m’sriit rogusi. 3. Moro 6par —

imkenep. 4. Bin Oyne paauii Bac 6auntu. 5. Y i KiMHATI X0J10aHO. 6. BoHa Oyna
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Ha uckoTel Buopa. 7. Moro 3apa3 nema Baoma. 8. Bu Oyaete 3aBTpa BijibH1?

9. Tema nexuii qyxe 1ikasa. 10. Bin Oyne B yHiBepcuTeT! 3aBTpa’?

Sentences with the Verb to have (have got)

PRESENT PAST FUTURE
have = have got )
: had will have
he, she, it has = has got
NEGATIVE
don’t have = haven’t got _
didn’t have won’t have

he doesn’t have = hasn’t got

INTERROGATIVE

Do you have...? Have you got...? ) _
Did you have...? Will you have...?

Does she have...? Has she got...?

JiecnoBa have ta have got BUKOpuCTOBYIOTH Maiike omHakoBo (have got BUKOpHCTOBYIOTH
JIMIIE B TETIEPITHBOMY Yaci Ta pO3MOBHI MOBI, have XxapakTepHO sl MHCbMOBOT MOBH).
Criiike criorydenss have + noun o3Havae AisIbHICTH @00 3BHUKY:

have a swim / a good time / a party / a holiday,

have breakfast / dinner / a cup of tea / a cigarette / a break,

have a bath / a shower / a shave / a rest,

have a chat / a row / a dream / fun,

have a look at something / a word with someone.

Exercise 1.14. Make these sentences negative.

1. I usually have breakfast at 8.00. 2. | will have a lot of free time soon. 3. They
have rows about home duties. 4. We had a good time on holiday. 5. I’ve got
everything I need. 6. Railways had steam locomotives in the 19" century. 7. | had

a lot of fun at yesterday’s party. 10. He’s got some pen friends in Canada.

Exercise 1.15. Fill in the gaps using am, is, are, have or has.
1. Where ... you from? 2. We ... two lectures on physics every week. 3. My father

... a travel agent. 4. Our University ... several hostels. 5. ... you hungry? 6. My
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best friend ... an excellent mark in English. 7. I ... hot. Open the window, please.
8. He ... not interested in football at all. 9. He ... everything he needs. 10. What ...
the weather like today? 11. What ... his new car like? 12. Let me ... a moment of

rest.

Construction there + to be
3BopoT there is / are + HoBa iHdopmalist + 00CTaBUHA MicHs
3Bopor there + to be mae 3HaueHHs ¢, 3HaxoOoumbcs, icnye. Ilepeknan

MOYMHAETHCS 3 00CTaBUHU MIcCIsl a00 MPUCY/IKA, 32 BIICYTHOCTI OOCTaBUHMU.

PRESENT SIMPLE PAST SIMPLE FUTURE SIMPLE
There is a book on the There was a mistake in my There will be a new show
shelf. paper. on TV next week.

There are (some) books There were (some) mistakes in | HactymHoro TixHs 1o

on the shelf. my paper. TeeBi3opy Oyjie HOBE IOy
Ha monwui € kaura Y Moiit po6oTi Oyna moMmiIka
(kHUTH) (Oyi TIOMHUIIKH)

INTERROGATIVE

Is there a book on the Was there a mistake in your
shelf? paper?
-Yes, there is (there are -Yes, there was (there were Will there be a new show
some). some). on TV next week?
Are there (any) books on | Were there (any) mistakes in -Yes, there will be.
the shelf? your paper? -No, there won’t be
-No, there is not (there -No, there was not (there
are not any) were not any)
NEGATIVE
There is no (isn’t a) book | There was no (wasn’t a)
on the shelf. mistake in my paper. There will be no show on
There are no (not any) There were no (not any) TV next week
books on the shelf mistakes in my paper
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IMpumitku: 1. 3BopoT there + to be Bkasye Ha icHyBaHHS 4Oro-HeOy/ib, 110 HE OYyJIO paHille
3raJlaHo B IIEBHOMY MicIii. SIKII[o HAeThCs Mpo BKe BiOMI peaMeTH, To 3BopoT there + to be
HE BUKOPHUCTOBYIOTh. [lopiBHsiiTeE:!

The book is on the table. — (11s1) kaura na croii. (Where is the book?)

There is a book on the table. — Ha croui (sixkach) kaura. (What is there on the table?)

2. Iicns there moxxiinBe BXKUBaHHSI Ai€ciiB eXist (icHyBaTh), appear (3 sBisaTucs) 1 MOAAIbHUX
miecmis (can, must, should, may).
There exist special-type vehicles for monorails. — IcHyiOTh cremianabHi BaroHu Jis
MOHOPEIbCOBUX 3aJI13HUIL.
Later, there appeared a steam locomotive. — I[Ti3Hirie 3’IBUBCS TapOBO3.

There must be some way out. — Mae OyTu SIKUiCh BUXI/I.

3. 3 mepemniueHHIM iecioBo {0 be 3aBkan y3roKeHo 3a YUCIIOM i3 THUM MPEAMETOM, 0 CTOITh
0e31mocepeTHbO MICIs HbOTO.

There is a fax machine, three minicomputers and a xerox in Mr. Jones’s office.

Exercise 1.16. Fill in the gaps with there + to be in the appropriate tense.
1. ... some celebrities at his birthday party last night. 2. ... many students and
teachers in the club tomorrow. 3. ... a new underground station in this district in a
year? 4. ... an invisible magnetic field between the poles of the magnet. 5. ... a
meeting at the University yesterday. 6. ... some pictures on the wall. 7. ...
somebody in the corridor when I entered. 8. ... an opposition to the party in power.
9. ... a lot of guests at his wedding yesterday. 10. ... a lot of sights in Kyiv.
11. When he explained everything, ... a long pause. 12. ... any milk left? 13. There
different sources of energy. 14. There ... no place like home. 15. ... there

anything | can do for you?

Exercise 1.17. Fill in the blanks with it is or there is.
1. ... warm in the room. 2. ... a theatre in our street. 3. ... a lot of work to do. 4. ...
five o’clock in the afternoon. 5. ... so nice seeing you again. 6. ... nothing to be

done about this. 7. ... often a rainbow after rain. 8. ... a lot of snow this year. 9. ...
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very strange that he is late. 10. ... a “‘Who, Where, When’ contest at our university
today. 11. ... cold today; ... a strong wind. 12. ... dark; ... no moon. 13. ... time to

begin our lesson. 14. ... no time to explain everything. 15. ... too early to leave yet.

Exercise 1.18. Work in pairs. Ask and answer as in the model.

Model: There are two simulators in the laboratory. — Sorry, I didn 't catch. How
many simulators are there in it? (Are there any simulators in it?)

1. There are about ninety students in the hall. 2. There is little bread left. 3. There
are ten computers in our laboratory. 4. There were six foreign scientists at the
conference. 5. There are some errors in his calculations. 6. There are 25 players
in the ‘Dynamo’ soccer team. 7. It was reported that there were three burglars in

the gang. 8. There will be three colleagues at my birthday party.

Exercise 1.19. Translate the sentences.

1. V mpomy XKypHalli € I[iKaBl CTaTTI MPO ICTOPIIO 3ali3HULL YKpainu. 2. Y
HamoMmy odici Oyne HoBe oOnamHaHHs 3a Kutbka AHIB. 3. IlicnszaBtpa Oyme
JIEKIIiSl PO OXOpPOHY HABKOJIMIIIHBOTO cepenoBuIa (environmental protection).
4. Ha apyromy moBepci € 6i6mioteka. 5. Y 3ami Oyino 6arato Hapoay, KOJU MH
yBidnud. 6. CKUIbKH (akyJNbTETIB y BalIOMY YHIBEpCUTETI? — Y Hamomy
yHIBepCcUTETI I’ ITh (haKyIbTeTiB. 7. Y Hac 3amumuBces xii0? — Tak, Tpoxu. 8. Ha
Hamomy (aKkyJIbTET1 € IyXe rapHa jadoparopis BaroHis. 9. IcHYIOTb pi3Hi BUIU

KL,

Degrees of Comparison of Adjectives and Adverbs

THIl IPUKMETHUKA

IopiBHANBHMUI CTYNiHD

Hajipummii cTtyninb

OnHoCKIIam0B1 hotter the hottest
hot, easy easier the easiest
JIBoCKIIa10B1 happier the happiest
(Ha -y, -ow, -le) narrower the narrowest
happy, narrow, simple simpler the simplest
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Bararockitanosi ) ) ) )
) ) more interesting the most interesting
interesting
Bunsartkn
good better the best
bad worse the worst
much, many more the most
little less the least

[Tpumitka. 1. Jlesaxi IpUKMETHUKU MatOTh /1Bl (POPMHU CTYIIEHIB TOPIBHSIHHS, 1110 B1IPI3HAIOTHCS
3HAYEHHSIM!

farther, the farthest (Bimnanenuii y npoctopi),

far further, the furthest (moganpmuii, 101aTKOBHI),
older, the oldest (cTapmmii 3a Bikom),
ole elder, the eldest (crapmiuii 3a MOIOKEHHSIM y POANHI).
Edinburgh is farther/further away than York. — Eain6ypr 3HaxomuTsest gami, Hix Hopk.
For further information, see page 6. — JlomatkoBy iH(opMaIlito AMBUTHCS HA CTOPIHIII 6.
My elder/older brother has just got married. — Miii crapiuuii Opar MIOHHO OpPYKUBCS.
He’s the oldest student in our group. — Biu HalicTapiuii y Hamrii rpyii.
Comparative conjunctions and phrases
as ... as... as young as — (Takui >ke) MOJIOIUH, K
as busy as a bee — 3akmonoranuii, sk 6mK0Ia
twice as old (as) yaBiui crapiie (3a)
three times as large (as) BTpHYi OljIbie (HiX)
half the price of yIBii JeTIeBIIe
half as much (many) yIIBiY€ MEHIIIe
twice the length of (twice as long as) y JIBa pa3u JOBIIE
than younger than ... (momoze 3a ...)
not so (as) ... as — He Takwuii, sAK This text is not so interesting as that one.
the ...the ... —uum ... TUM ... The sooner, the better. — Yuwm ckopirire, TuM

Kpalle.
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Remember the expressions

at least — npunaiimHi worst of all — ripme 3a Bce
most of all — naii6inbire best of all — naitbinbiIe (Haiikpare)
at best — y HalikpamoMy BHITAAKY so far so good — moku Bce rapass

[Mpumitku: 1. I[TopiBHSUIBHUI CTYIIHD TPUKMETHHUKIB MOXe OyTH IMMOCHJICHHH MPHCITiBHUKAMH
much i far:

much more powerful — nabarato notyxHiuuii;

far cheaper — mabarato (3Ha4HO) ACIICBIINH.
HaiiBummii cTymiHb MOPIBHSAHHS MMOCHJICHUH 3a fomomoroto by far:

He is by far the most successful manager in his business. — Bin HaitycrimmHimmi

MEHEKep y IboMy Oi3Hecl.

2. Most (of) mepen iMCHHUKOM Ma€ 3HAYCHHS Oi1bUlicmb, OLIbULA HACTUHA.
Most (of the) experiments were made in the laboratory. — binsima uactuna

eKCIepUMEHTIB OyJIi IPOBEEH1 B J1abopaTopii.

3. Most 6e3 aptukiis a00 3 HEO3HAYCHUM apTHKIIEM, TEPEKIANalTh SIK 0yJice, HAOMO,
HAO38UYALHO.
It is most important. — Lle ay»e (Haa3BHYANHO) BaXKIIUBO.

This is a most interesting fact. — Ile ay»xe (HaaTo) mikaBuii (haxT.

Exercise 1.20. Use the adjective or adverb in brackets either in the
comparative or superlative degree. Write a similar true story about yourself.
I am in my first year at the University and | think it is one of (important) periods
in my life. Of course, it is (difficult) to study at the University than at school. |
spend (much) of my time at the University and have (little) free time for rest or
entertainment. But Alex, who is one of my (good) friends, is even (busy). He lives
(far) from the University than | do, and has (little) free time. Anyway, he finds
time to go in for sports, to visit theatres and to read a lot. And at seminars he is

always (brilliant).
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Exercise 1.21. Compare the two persons using as ... as or not so (as) ... as
according to the model.

Model: Bruce was born in 1991. Kevin was also born in 1991. — Kevin is as old
as Bruce. / Paul is handsome. Andrew isn’t very handsome. — Andrew is not as
handsome as Paul.

1. Sally is 17. Jane is 17 too. Sally ... . 2. This summer is unusually hot. Last
summer was just warm. Last summer ... . 3. This text is hard to translate. That text
was simpler. This text ... . 4. Tom and Diane have just married. They are both
happy. Tom ... . 5. Ann is very pretty. So is Nancy. Nancy ... . 6. Gary’s jokes are
smart. So are Dan’s. Dan’s jokes ... 7. My room is bigger than yours. Your room

isn’t....

Exercise 1.22. Put the adjectives into the superlative (-est / most / least) or
comparative (-er / more / less) degree.

Model: This book is more interesting than the one I read last week.

1. This is the (strange) book | have ever read. 2. We stayed at (expensive) hotel in
Berlin. 3. Our room was (comfortable) than we thought it could be. 4. Our motel
was (cheap) than all the others in the countryside. 5. Ukraine is very large but the
United States is (large). 6. Mount Everest is (high) mountain in the world. It is
(high) than any other mountain. 7. It was a wonderful day. It was (terrific) day of
my life. 8. Which is the (short) way to get from the city centre to the University?
9. My grandparents had three daughters. My mother was (young) of them. 10. He
Is the (bad) driver | have ever seen. 11. Niagara Falls is one of (fantastic) sights
in the world. 12. Young Ann is becoming (pretty) every day. 13. | think Swiss

chocolate is (tasty) in the world.

Exercise 1.23. Put the adjective in brackets into the corresponding form of
comparison. Then give true answers.

1. Which is (big): the Earth or the Moon? 2. Which weighs (much): gold or silver?
3. Is Kharkiv an (old) capital city than Kyiv? 4. What is (important) thing to do
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when learning a foreign language? 5. Who was (famous) woman Prime Minister
in Britain? 6. Which is (large) city in the world? 7. What is (high) speed developed
by modern trains? 8. Is wood a (good) conductor of electricity than rubber?
9. What is (beautiful) place you have ever seen? 10. What is (valuable) invention
a man has ever made? 11. What is (interesting) book you have read? 12. What is

(mysterious) thing you have ever heard of?

Exercise 1.24. Read a postcard, which a girl wrote to her mother. Write your
own card to someone on some occasion using the adjectives in superlative
and comparative degrees. Then decide whose card is the funniest, the most
interesting and the most original of all.
To my mother,

You are the best mother in the whole world. You are the smartest, the brightest,
and the funniest of all mothers. You are the nicest friend | 've ever known. You are
the most wonderful and definitely the least strict. No mum in the world is better
than you. You are the greatest mother of all. I love you very, very much!

Love, Sandy

Exercise 1.25. Translate these sentences.

1. Moro Bomoces 6ite, six cuir. 2. Bin mift crapruuit 6par. 3. Mu MaeMo 3Ha4HO
OinpIIe JaHWX, HDK BOHHU. 4. SIKi cmiBakM HaWTIOMYJISIpHIII y Bammii kpaiHi?
5. Bamra mammHa He Taka ctapa, sk Mosi. 6. Lleit MicT y Tpu pa3u HIKYHil 32 TOM.
7. Jle Haiibmmkya 3ynuHka aBrobyca? 8. Ii 6par Takuii ske BUCOKHIA, SIK BOHA.
9. s oOpyuka nemeBmia 3a Ty. 10. Mu 3ynuHWINCS B HAaWTIPIIOMY TOTEII.
[lepeinpmo o kparoro roremnto. 11. Y He Moriau 6 BU MOPaIUTH MEHIIT JJOPOT U

pectopan? 12. Yum noBiiie BOHa TOBOpUIIA, TUM MEHIIIE ST PO3YMIB.
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Exercise 1.26. Translate the sentences with most and mostly in different

meanings.

Oinbulicms, 8enuKa KibKicms, HAUOLIbL, oyice;

nepeeasiCro, DLl 30 6ce

1. Most elements exist in different forms. 2. Uranium is mostly used as atomic
fuel. 3. Titanium is a most useful construction material. 4. Of all the transportation
means railways remain by far the most important. 5. Most of all | was afraid of
being late. 6. He is ten at the most. 7. The neutrons and protons represent most of

the mass of the atom.

Exercise 1.27. Translate the sentences paying attention to different meanings

of as and like.

as: sK, y mou yac 5K, y Mipy mozo 5K, OCKLIbKU,

CMIIbKU CKIIbKU, MAKOINC AK

1. As the time passed, stone tools were replaced by metal ones. 2. There are two
kinds of transformations, which are known as physical and chemical changes.
3. This equipment can be relied upon as it is of the highest quality. 4. Every
second the Sun sends into space as much energy as mankind has ever consumed.
5. The outer and inner walls of the house are as thick as 4 centimetres. 6. At
present plastics as well as metals are widely used in construction. 7. He walked
as fast as he could. 8. We walked as far as the post-office. 9. Keep the book as

long as you need it.

like: sx; nooobamucs, nrobumu; ne modwce 3pieHAMUCS, HEMA HIY020
Kpaujo2o, xomie ou; noOiOHULl, maKuii camuil; Hema OadCauHs;

NPUONIUZHO; MOYHO 5K, 30A€EMbCS, HA2AOYE, OYHCe HA2AOVE; HA

8IOMIHY 8i0; A65€ COO0I0
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1. Radio-waves are like light waves. 2. | enjoy travelling because | like new
impressions. 3. We should like to know if we can get our order on time. 4. | don’t
feel like going out tonight. 5. You can contact our production manager on this and
the like issues. 6. It looks like raining. 7. Like charges repel each other, while
unlike charges attract each other. 8. Unlike his brother, Nick has always kept his
word. 9. It was just like you said. 10. What is your new flat like? 11. She looks
very much like her mother. 12. There is nothing like a cup of hot tea for a
headache. 13. It costs something like $100.

Count and Noncount Nouns. Plural and Singular
IMEHHUKHN TOAUIAIOTH Ha 3JIIYEHHI Ta HE3JlYueHHl. 3JdiYeHHi iIMEeHHUKH MaroTh
OJHUHY Ta MHOXKHMHY, TepeJ] HUIMH MOXYTh CTOATH Heo3HaueHuit a (an) ado
o3HaueHuit (the) apTukmi.

Onuuna: a flower, one week, the place, this shop.

Mmuoxuna: some flowers, two weeks, many places, these shops.

Plural forms of nouns ending
-s/-sh/-ch/-x/-0 + es: bus — buses, church — churches, tomato — tomatoes.
Aue! photos, pianos.
y — ies: baby — babies.
Aue! -ay/-ey/-oy + s: day — days, monkey — monkeys.
-f/-fe —ves: shelf — shelves, life — lives, wife — wives, knife — knives.

Aure! roofs, chiefs, safes.

Nouns of Greek and Latin origin

basis — bases stimulus — stimuli

analysis — analyses phenomenon — phenomena
axis — axes minimum — minima

crisis — crises maximum — maxima
formula — formulae datum — data
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Special cases

a man — men a goose — geese
a woman — women a tooth — teeth

a child — children a foot - feet

a fish — fish a mouse — mice

a sheep — sheep a penny — pence (cyma rpoiueii)
a deer — deer It costs 16 pence.

an ox — oxen Agne: pennies (MOHETH)

a person — people Pennies are made of bronze.

HessiveHHi iMeHHHMKH TMO3Ha4alOTh cdepu JISIBHOCTI Ta ramysi
JOCIIKEHHS, MaTepiaiu, pIAMHM, 1Ky, TPUPOJHI SBUILNA, a0CTPAKTHI MOHATTS
Tomo: education, economics, water, bread, weather, knowledge, politics,
luggage, progress, research, money, vacation, evidence, fruit, hair, information,
news, advice, furniture, work.

Bonu 3a3Buuait He MaiTh (OPMH MHOXKHHHM 1 3 apTHKieM a (an) He
BkuBaHi (MOkIIHBe BxkuBaHHs the, some).

No news is good news. Time is money. He never listens to advice.

HesniueHHi iIMEHHUKH TaKOK MOXKYTh OyTH BHLICHI sSIK oMuHUYHI: @ glass
of water, a loaf of bread, a piece of cheese, a cup of tea, a bottle of milk, a can of
oil, an interesting item of news, a bit (word) of advice, pieces of luggage, scraps
of information.

Jlesiki IMEHHUKH HE MaIOTh OJTHUHHM 1 BYKMBAIOTHCS YaCTIIIe Y MHOXKHHI:

1) cattle, police, crew, the British.

The police were called.

In 1581 the Dutch declared their independence from Spain;
2) mapHi imeHHHKH: ShOrtS, SCiSsors, pants, glasses, trousers, jeans.

The pants are in the drawer. A pair of pants is in the drawer;

3) clothes, congratulations, contents, funds (=money), outskirts, savings, thanks,
troops.

Congratulations on your new job.
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She lives on the outskirts of Cambridge.

CnoBa, 10 TO3HAYAIOTH I'PYNY JIOACH, MOKHA BXKUBATH K B OJHUHI, TaK 1

muoxwuHi: class, club, committee, family, firm, government group, team, army,
crowd, jury, majority, minority, public, school, union.
Our team is/are going to win the game.

The family was (were) happy to hear the news.

Nouns that have additional meaning in plural

Singular Plural
arm — pyka arms — 30pos
colour — kosip colours — mparmop
custom — 3BuUKa, 3BHMYAN customs — MUTHHITSA
good — no6po goods — ToBap
iron — 3amizo Irons — Hapy4YHUKH
pain — Ou1b pains — 3ycuist
scale — macrirab scales — Bara, Tepesu
work — pobota works — 3aBo

Exercise 1.28. Write the nouns in plural if possible. Find uncountable nouns.
Date, umbrella, family, foot, health, woman, knife, holiday, city, potato, tie,

photo, datum, life, bus, hair, joke, light, air, lighter, sunshine, branch, oil, advice.

Exercise 1.29. Offer your guests something to drink or to eat.
Model: Would you like a glass of juice? Would you like some juice?
For ideas: cheese, chocolate, coffee, beer, biscuits, candy, bread, meat, salad,

wine, tea, pizza.

Exercise 1.30. Fill in a (an) or some.
1. I need ... money. | want to buy ... food. 2. We met ... interesting people at the
party. 3. I’m going to open ... window to get ... fresh air. 4. She didn’t eat much

for lunch. Only ... apple and ... bread. 5. I’m going to make ... table. First | need
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...wood. 6. We live in ... big house. There’s ... nice garden with ... beautiful trees.
7. Listen to me carefully. I’m going to give you ... advice. 8. | want to write a

letter. | need ... paper and ... pen.

Exercise 1.31. Choose the verb which agrees with the noun.

1. Twenty hryvnias (seem, seems) a fair price. 2. 500 kilograms (was, were) too
big load for this car. 3. A hundred dollars (is, are) a lot of money. 4. Three hours
(was, were) enough to write the report. 5. The news (is, are) wonderful. 6. Physics
(is, are) difficult for me. 7. Their wages (is, are) high. 8. His trousers (is, are) a bit
short. 9. Politics (is, are) interesting for everyone nowadays. 10. Her clothes (is,
are) luxurious. 11. Linguistics (has, have) developed rapidly in modern times.
12. The scissors (is, are) quite sharp. 13. The police (is, are) investigating this
theft. 14. The public (is, are) asked to help. 15. Sports (is, are) very popular these
days. 16. My glasses (is, are) dirty. 17. Your advice (was, were) very useful. 18.

Your hypothesis (is, are) very interesting. 19. The fruit (was, were) fresh.

Exercise 1.32. Translate the sentences.

1. S mikonu He 1’10 OaraTo Boau. 2. Bama indopmarris ayke Baxkiausa. 3. MeHi
noTpiOHo OaraTo rpoiureit. 4. Y kimuati 6yao0 6araro meoiiB. 5. Jle Mol HOKHUI?
6. oMy moTpiGHi OKyIs1pH, aje BiH He Moxe ix 3Haiitu. 7. Ha Byaumi Gysto 6arato
moner 1 mamuH. 8. Jle Bam Oarax? 9. 1 yyB SKMIICh IIyM XBWJIMHY TOMY.
10. Bynp nacka, meperisiHb 1110 ra3zery. Tam € 1ikaBi HoBuHH. 11. Bamie Bomoccs

3aHaATo noBre. 12. Y Hei 6arato poOoTH.
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Indefinite (Simple) Tense

PRESENT PAST FUTURE

I, you, we, they work worked )
] will work
He, she, it works went (2 popma)
NEGATIVE
| don’t work _ _
) didn’t work will not (won’t) work

He, she, it doesn’t work

INTERROGATIVE

Do you work...? _ _
] Did he work...? Will you work...?
Does he, she, it work...?

Present Indefinite (Simple) Tense
BoxuBaroTh nuIe s mo3HadYeHHs (akTy 3iHCHEHHs il 3apa3, He BKa3yr4H ii
TPUBAJICTh a00 3akiHYeHICTh. [lo3Hauae nAit0, KA TPAIUISIETHCS 3BUYAITHO,
PETyJSIPHO B TEMEPIIHbOMY 4aci, ab0 KOHCTaTye mo3avacoBi (akTH 1 sBUIIA.
Yacto BHKOpPHUCTOBYIOTH Taki oOcraBuuu: always, often, seldom, rarely,
sometimes, usually, every day, never, frequently, as a rule.
| usually get up early. — 4 3Buyaitno BcTaro paHo.

The Sun rises in the East. — Conrie Bctae Ha cxoi.

Exercise 1.33. Make the sentences negative and interrogative.
1. He always comes home late in the evening. 2. I often visit my parents. 3. They
study every day. 4. We learn English. 5. They speak English very well. 6. We

usually go to the seaside on holiday. 7. My little brother likes cocoa with cereal.

Past Indefinite (Simple) Tense
BxuBaroTh 111 MO3HAYEHHS OJIHOPA30BUX a00 MOCIHIIOBHUX AiH Y MUHYJIOMY.
Oo6craBuHn MuHyJoro gacy: last month, some days ago, yesterday, long ago, the
day before yesterday ta in. Takox BXHBAaIOTh Y NMUTAIBHUX PEUYCHHSX, IO

rmounHaroTbes 3 when, what time.
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| worked hard and finally won the prize.

When did you see her last?

Exercise 1.34. Read the verbs paying attention to different pronunciation of
the —ed suffix.
[t] [d] [id]

like — liked phone — phoned state — stated

reap — reaped play — played end — ended

hope — hoped cry —cried fade — faded

miss — missed snow — snowed want — wanted
work — worked tie — tied spot — spotted

pack — packed try — tried upgrade — upgraded

Exercise 1.35. Make these sentences negative and interrogative.
1. I went to London last year. 2. He helped his brother yesterday. 3. They studied
at the University ten years ago. 4. He read adventure books in his childhood.

5. She gave me some pictures yesterday.

Future Indefinite (Simple) Tense
BxuBaroTh s Mo3HAYeHHS MaHOyTHIX Mik. Y cydacHIM MOBI JIOIOMIKHE
miecmoBo Will BxxuBarots st BCIX 0Ci6 (ae shall mist mepiroi ocodbn MoskHa
BKHMBaTH B o(imiiiHomMy ctiiti). O0cTaBuHHE yacy: tomorrow, in a year, next week,
soon, the day after tomorrow ta iH.
We will take exams in June.

| will go to Kiev next month.

Exercise 1.36. Change the verbs in brackets in accordance with the context.
1. My friend (work) at a factory. 2. Our group (go) to the theatre next month.
3. My mom (graduate) from university 15 years ago. 4. | (come) home later than

usual yesterday. 5. He (read) the book about Robinson Crusoe in his childhood.
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6. Schoolchildren (have) the longest holidays in summer. 7. William Shakespeare
(be born) on April 26th, 1564. 8. The teacher (ask) the new grammar rule at the
next lesson. 9. My little sister usually (sleep) till 10 o’clock. 10. My mother
(celebrate) her birthday two days ago.

Exercise 1.37. Match a line in A with a line in B. Put the verb in A into the

Present Simple and the verb in B into the Past Simple.

A B
a | usually (work) eight hours a day, but |1) last summer we (stay) in a hotel
b Ann usually (drive) to work, but 2) last weekend they (play) tennis
¢ Max usually (watch) TV in the 3) yesterday | (start) at 9 a.m. and
evenings, but (finish) at 9 p.m.
d Ann and Max usually (go) sailing at 4) last year it (snow) for three
weekends, but months
e It usually (rain) a lot in winter, but 5) yesterday she (walk)
f Max and | usually (go) camping in 6) yesterday evening he (listen) to
June, but music

Exercise 1.38. Complete the sentences with the positive form of the verb.
Remember the past form of irregular verbs.

Model: I didn’t go to New York; I went to Chicago.

1. We didn’t meet Jim, we ... Max. 2. He didn’t leave last Tuesday, he ... last
Thursday. 3. We didn’t see Alice, we ... Marry. 4. They didn’t buy a Volvo, they
... a Saab. 5. You didn’t know the answer, Tom ... the answer. 6. | didn’t lose my
passport, I ... my ticket. 7. We didn’t have white wine, we ... red wine. 8. He didn’t
write a letter, he ... a postcard. 9. The film didn’t begin at 6.30 p.m., it ... at 7.30
p.m. 10. Shakespeare didn’t write music, he ... plays. 11. Christopher Columbus

didn’t discover India, he ... America. 12. Beethoven didn’t come from Paris, he ...
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from Germany. 13. Leonardo da Vinci didn’t live in Germany, he ... in Italy. 14.
The USA didn’t win the last Football World Cup, Italy ... it.

Exercise 1.39. Test your own knowledge about great explorers (check your
answers below). Complete the quiz by using the verbs be, reach, lead, make,
sail in the Past Simple.
1. Who ___the South Pole first?
a Robert Scott; b Roald Amundsen; ¢ Richard Branson
2. Who ___the first expedition westwards from Europe to Asia via the Pacific?
a Ferdinand Magellan; b Marco Polo; ¢ VVasco da Gama
3. Who __ the second man on the Moon?
a Yuri Gagarin; b Neil Armstrong; ¢ Edwin Aldrin
4. Who ___ to America first?
a The Vikings; b Christopher Columbus; ¢ James Cook
5. Which European first ___ contact with the continent of Australia?

a Thor Heyerdahl; b Captain James T Kirk; ¢ Captain James Cook
(1b, 2a, 3c, 44, 5¢)

Exercise 1.40. Make sentences in the Past Tense using one word or phrase
from each column once only. Remember the Past form of irregular verbs.
Model:

John did his homework 2 days ago

John catch a letter a year ago

Ann break his homework yesterday

Nelly fall a new car when he was at University
Paul write down the stairs last week

Mark feel very happy the other day
Victor do a picture when she was a child
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Sandra speak a fish last Tuesday

Dennis buy to his friend recently

Elizabeth draw a glass the day before yesterday

Exercise 1.41. Put the verbs into the Past, Present or Future Simple.

My friend Jack is 35. He (leave) Britain when he was 20 and (go) to Italy. He
(work) in Naples for eight years, then he (move) to Rome. There he (meet)
Antonella. They (get) married in 2001 and now they (live) in Florence. Jack
(teach) English in a language school. And what Antonella (do)? She (sell)
computer software. But she is going to leave her job because in six months she

(have) a baby. They are both very happy.

Exercise 1.42. Translate the sentences.

1. Bin npairtoe Ha 3aBoji. 2. BiH BuUuBcs B Koje ki 6arato pokiB Tomy. 3. Bona
nobpe rpae B TeHic. 4. S mpouyuTaB 10 KHUTY Ha TOMY THXHI. 5. Mu mobumo
n00pi ¢inmeMu. 6. S BIAMOBIB HA Ballle 3alTUTAHHS KiJbKa XBUJIWH ToMy. 7. Kyau
MU noigemo? 8. Bona He mipairtoe B mkoui. 9. Tu quBuBcs teneBizop Buopa? 10. S
npuiiay 3aBtpa. 11. Bu po3mosisere anrmiickkorw? 12. Bu mobpe po3mosisere
¢dpanmyspkoro. 13. Tu He momomir MeHi BYopa. 14. Mu He Oymemo 3aBTpa
BuuTHCA. 15. Mu He roBopuiu 1ipo 11e. 16. BoHu He )KUBYTh Y 1IbOMY OYJIUHKY.
17. Kynu Bu i3aunu munynoro jita? 18. 51 He 6auuB ioro B4opa. 19. [xHi miTH

x0Tk 10 mkoau? 20. Mu noinemo BiiTKy B Yropmuny. 21. Bu nigete nonomy?

SPEAKING

Exercise 1.43. a) Work in pairs. Practise the dialogue.
At the Railway Ticket Office
A: Good morning. Can | help you?

B: Yes, please. | want to go to Edinburgh. When’s the next train?
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A: Let me see. There’s one at 10.42. You change at Doncaster. And there’s another
at 11.15.

B: Is that direct, or do I have to change?

A: That’s direct.

B: What time does it arrive?

A: ltgetsinat... 14.10.

B: Right. I’ll have a return ticket, then, please.

A: When are you coming back? Are you coming back today?

B: No, tomorrow.

A: Ah, so you don’t have a day return. You need a period return. That’1l be £8.40.
B: Can | pay by credit card?

A: Yes, certainly.

B: Here you are. Which platform does it leave from?

A: Platform 3.

B: Thanks a lot.

A: Goodbye.

b) Put the lines of the conversation in the correct order and role-play it.

> 0O >» O > O 0O >» O » >

: Hello. Id like a ticket to Newcastle, please.
: | want to come back this evening, so a day return.
: How do you want to pay?

- Return, please.

- Here’s your change and your ticket.

: Single or return?

: Twenty, forty, sixty pounds.

: Day return or period return?

: Cash, please.

: Forty-eight pounds fifty, please.

: Thank you.

37



¢) Work in pairs. Imagine it is 11a.m. Student A works in a railway ticket

office. Give Student B the information he/she wants.

Trains to Bristol
Depart Arrive
11.25 Change at Derby 12.35
11.50 Direct 12.50
Tickets
Single £13.50 Day return £19.00 Period return £22.40

WORD BUILDING

Noun suffixes: -er (-or), -ion (-sion, -tion, -ation), -ist, -ant

Adjective suffixes: -ant (-ent), -able (-ible)

Exercise 1.44. Translate the following words naming their part of speech.

Conduct — conductor — conduction; calculate — calculator — calculation;
produce — producer — production; conclude — conclusion; load — loader;
difference — different; existence — existent; efficiency — efficient; eat — eatable,

respond — responsible, understand — understandable, divide — divisible.

Exercise 1.45. Add one of the suffixes to the following words to name a

person’s profession. You will have to change some of the words a little.

) _ -er -ian -ist -ant
Noun suffixes to name a person who does a job
farmer

Music, art, farm, manage, photograph, garden, science, politics, electric, drive,

mend, academy, physics, mathematics, chemistry, magic, account.

Express the following in one word denoting the doer of the action.

Model: one who sells matches — a match seller
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One who drives a lorry, one who owns houses, one who wishes well, one who
rises early, smth that opens cans, smth that washes the floor, smth that kills noise,

smth that locates sound, smth that kills pain.

Exercise 1.46. Let’s play a guessing game. Think of one of the jobs, but don’t
tell the rest of the group. They should ask you Yes/No questions to find out
what the job is.

Model: Do you ... (work inside, earn a lot of money, work regular hours, in shifts)?

Do you have to ... (wear a uniform, use your hands, answer the phone)?

Exercise 1.47. Fill in the crossword. The vertical line will finally open you the
name, which you know very well.

1. Railway carriages for transporting people and freight.

2. The very first railways used them for drawing trains.

3. An Englishman who demonstrated his working model of a steam engine in
London in 1808.

4. The fastest means of transport.

5. It makes modern engines work.

6. Very strong.

7. A person on a journey.

8. The inventor of the world’s first steam locomotive.

9. The place where students from different towns live.

10. A person who creates or designs something new.

11. The tractive power of early engines.

[5, 10].
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1. RAIL OPERATION

Discussion:  Travelling by Train
Main text: Railway Traffic Operation
Supplementary text A: Virtual Rail for Staff Training
Supplementary Text B: Engineering
Grammar: Possessive Case of Nouns
Articles
Imperative Sentences
Prepositions of Time and Place
Questions
Indefinite (Simple) Tense in the Passive
Modal Verbs Can, May, Must and their equivalents
Speaking: Colloquial Expressions

Word Building: -ure (-ture), -ment, -ness; -less, -ful, -ly

DISCUSSION
Exercise 2.1. a) Complete the table with the words below. The words are all
to do with travelling by train.
Ticket office, get on, passenger, information office, platform, buffet car, single,
get off, compartment, ticket inspector, catch, miss, engine driver, season, return,
book in advance, depart, arrive on time, be delayed, commuter, luggage room,

upper (lower) berth, conductor, information board.

Verbs to do with trains | Kinds of tickets People Places

b) The following sentences describe what you do when you go to the railway
station to catch a train, but they are in the wrong order. Put them in the right
order, and then report about your recent railway journey to the group. You
can add your own sentences to the story.

 You find your coach and get on the train.
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You book tickets in advance.

The conductor checks your tickets and helps you with your seat and
luggage.

You get a taxi.

You look for a porter to take care of your luggage.

You arrive at the railway station.

You find your compartment and your berth.

The conductor announces ‘all aboard please, the train leaves in 5 minutes’.
You go to the information board to find out about the platform and the track
of train departure.

When on board the train, the conductor takes care of passengers: brings

bedclothes, offers tea or coffee.

Exercise 2.2. In groups, brainstorm the following questions.

What does the safety of rail travel depend on?

What is railway traffic operation, to your mind? What aspects does it

include?
What services and departments are involved in the process?
What kinds of trains do you know? How is the train schedule compiled?

Has train operation changed a lot since the early days of railways? How do

hi-tech developments and advanced technologies assist in train operation?

READING

il operation — N ympaBiiHHA, eKCIUTyaTamis; put into operation —

»ﬁ‘ii,’r;*

BBOJUTH B JIit0 (€KCIUTyaTaIlio); Operate — v ynpapisiTi, paloBaTu,

JIATA

require — vV BUMaratu

trained employees — kBasiikoBaHi cTy>KOOBIII

ensure — v 3abe3nevyBatu
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handle trains — Bignpasisitu (poIycKaTH) NOTATH

include — v BxirrouaTy; Inclusion — N BKJIFOYEHHS, 1OJaBaHHSA

marshalling yard (AmE classification yard) — coptyBaiibHa CTaHIIis

In spite of — prep He3BaXkaroun Ha

make up (trains) — v ckiagatu, GopMyBaTH (ITOTSTH)

intermediate — adj npomixuaui

delay — v 3atpumanns, 3amisHeHHs; be delayed — 3aTpumyBatucs, Cri3HIOBaTHCS
arrange — v ¢opMmyBatu, OpraHizoByBaTH

Crew — n 6puraja

run — mpooir; run (a railway, train) — v ynpasnstu (3a1i3HULECIO, TTOTSITOM)
break up (trains) — posuimtoBaty, po3popMOBYBaTH (TIOTSTH)

destination — N myHKT npU3HAYCHHS

in order to — conj aus Toro o0

facilitate — v monermrysatu

except (for) — conj kpim

schedule (timetable) — poskman, rpadik; compile a schedule — ckmamatu
poskiaz; be scheduled — 6ytu y po3kiai

arrive — v npubysatu; arrival — n npubytrs; ant depart — v BignpaBastu(cs);
departure — n BigmpaBieHHs

take into account — Opatu 10 yBaru

commuter train — TpUMiCbKHIA TOTSIT

freight (goods) train — BaHTa)XHUH TOTAT

management — N yIpapJIiHHS; Manage — V ynpaIsTH

manual — adj pyunuii, HeaBTOMaTH30BaHUI

according to — conj BiAMOBITHO 110

relay — v Binmpasisatu, nepenasatu; Syn transfer

assign — v npu3HayaTH, YCTAHOBITIOBATH; assignment — N mpu3HaYCHHS

proper — adj BignoBiaHUNA

43



centralized traffic control (CTC) — uneHrpamizoBaHe yHpaBIiHHSI PyXOM
(nucneTdepchbKa EHTpai3alis)

entirely — adj moBnicTIO

remote — adj aucranmiHMiA

switch — n nepemukau, 3aziznuy. ctpinka; switch on (off) — v BMukatu (Bumukarn)
move — vV pyxaTtucs; movement — n pyx

actuate — v mpuBOAUTH 10 il

admit — v monyckartu, 103BOJISITH, BU3HABATH

recent — adj negaBuiii

design — V mpoeKTyBaTH, KOHCTPYIOBATH

traffic density — rycrora pyxy

utilize — v BukopucToBYBaTH; SyNn USE

dispense with — v o0xoauTucs 6€3 40roch

adjust — v HanamToByBaTH

device — n npuian, ycratkyBauss; Syn tool, unit

train collision — 3iTkHEeHHS MOTSITIB

decrease — v 3menmyBaTH(cs)

in case of an emergency — B aBapiiiHOMY CTaHi

warning — n momnepeKeHHs, 3acTepeskents; warn (smb of) — v monepemxysatu
(korock mpo 110Ch)

Prove — V BUSBIIATH, MiATBEPIKYBaTH

consist — n cocras; Vv (0f) ckmagarucs (3)

contribute (to) — v monomaratu, ClipusiTH

Exercise 2.3. Change the italicised words into their synonyms from the active
vocabulary.

To come to a station; a long journey of a train; to assemble trains; a freight train;
to inform the driver of a danger in time; to operate a railway; to leave a station on

time; to direct trains through intermediate stations; to provide for safety;
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classification yard; to make up a schedule; in case of an extraordinary situation;
to be listed in the timetable; to make train operation easier; qualified railway
specialists; cars with the same direction; so that not to be late; to consider all the
factors; local trains; to transfer all the data to the control centre; to be operated
from the distant terminal; to lessen the risk of emergency; to turn on the light; the
tools which allow to dispense with manual labour; to regulate all the switches

along the route.

Exercise 2.4. Choose the appropriate word to build a grammatically correct
sentence.

1. The railroad timetable greatly contributes to providing (safety, safe, safely) of
train operation. 2. Compiling a timetable is, indeed, one of the most (complicating,
complicated, complicate) jobs in the operation business. 3. The schedule diagram
can be changed with a click of a mouse, which (automatic, automatically,
automated) adjusts the operations of all trains. 4. The (printing, print, printed)
schedules of the regular trains form the timetable. 5. It is the business of the
operator to keep the trains (move, moving, moved) with as little delay as (possible,
possibly, possibility). 6. The system is designed (specific, specifically, specified)
for lines with high-density traffic and utilises the (latest, late, lately) computer

technology.

Exercise 2.5. Use one of the following suffixes to form derivative nouns from
the verbs. There may be no suffix or change of root vowel as well.

Arrange, complicate, require, train, handle, delay, run, arrive, depart, manage,
load, assign, govern, admit, utilise, adjust, collide, prove, contribute, warn,

decrease.

-ment | -tion -ing -al -ture -sion | conversion
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RAILWAY TRAFFIC OPERATION

ci:im (1) Modern railway is a huge and complex system. Few passengers

-
- 1T
n -

realise that it has required the services of a small army of trained
railroad employees to make their travel possible. Railway traffic
operation must ensure a safe and efficient handling of trains at all stages including
stations, freight terminals, marshalling yards, signal and control centres, etc.

(2) In spite of all the differences between freight and passenger train
operation, the fundamental principles are the same: to make up a train; to load it
with passengers or freight; to handle it through the intermediate stations or
terminals with least possible delay; to rearrange the trains and cars as needed; to
change the engine and the crew on the longer runs, and to break up the trains at
the final destination.

(3) In order to facilitate the problem of train operation, all railroads, except
the very short ones, are divided into sections or divisions operated just as a small
railroad. A railroad runs two principal kinds of trains: regular trains and extra
trains. A regular train is a scheduled train. Regular trains are all numbered: the
trains in one direction have even numbers, while the trains in the opposite
direction have odd numbers. An extra train is not scheduled in the timetable;
special trains, work trains and wreck trains® are examples of extra trains.

(4) The list of times at which a regular train is to arrive at and leave a station
is known as the train’s schedule. The printed schedules of the regular trains form
the timetable. Compiling a timetable is, indeed, one of the most complicated jobs
in the operation business. Dispatchers have to take into account a lot of things,
namely, summer or winter service, weekday or weekend schedules, express or
slow commuter trains, regular or extra service, freight or passenger trains, etc.

(5) The operation business also includes management of marshalling
(classification) yard work. In classification yards loaded freight cars from all the
country are sorted according to their final destination, and then joined to others to

form a new train. Through the years this has been done manually. Modern yards
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use computers and Automatic Car Identification system (ACI) to speed the process
of car classification. Electronic scanners read colour-coded identification labels
on incoming cars and relay the information to yard computers that assign the cars
to the proper track. Scanners do it three times faster than any car dispatcher.

(6) Automation has become an important factor in railroad operations. An
impressive example is Centralised Traffic Control (CTC), a system in which
trains are controlled entirely from a central point through remote operation of
switches and signals. The operator sees each train on a large control panel and
directs traffic on hundreds of miles of railroad track. There is a separate lever? for
each switch and signal. When a train enters the controlled section, small light
flashes on the panel. It is the business of the operator to keep the trains moving
with as little delay as possible. From the terminal the operator pushes a button or
moves a lever, actuating switches and signals miles away. The switches and
signals are all operated electrically and interlocked?®, so that it is impossible to
admit two trains to the same track.

(7) The most recent system of automatic traffic operation has been
developed in Japan. Autonomous Transport Operation Control System (ATOS) is
designed specifically for lines with high-density traffic and utilises the latest
computer technology. A key concept in the development of ATOS is that the
operational control should be transferred from the station to the train control
dispatcher in the control centre. ATOS is totally different from CTC as it
dispenses with the large wall-mounted train location panel®. ATOS displays a
graphic real-time diagram of the operating status of a train on a computer screen.
The schedule diagram can be changed with a click of a mouse, which
automatically adjusts the operations of all trains. Under fully automatic operation
the dispatcher needs exercise manual control only in unusual situations, all train
movements being set by electronic machines.

(8) Telecommunications devices such as the telephone, radio and television

have long been used in traffic operation. Thanks to the radio, the danger of train
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collisions has been greatly decreased. The locomotive drivers can communicate
with wayside stations® along the track or with other trains on the route. In case of
an emergency the engine driver can radio a warning to other drivers or ask the
dispatcher for help. The radio and TV have also proved very useful in the
marshalling yards during the sorting and inspection of train consists.

(9) Nowadays the railway industry is witnessing rapid technological
advancements, including the adoption of digitalization, automation, and smart
technologies. Electronics, telecommunications, and software development are
increasingly involved in signalling systems, train control, passenger information,
and maintenance management. Digital solutions, such as artificial intelligence
(Al) and the Internet of Things (loT), enhance the efficiency and safety of rail
travel devices to improve asset monitoring, predictive maintenance, and
operational efficiency. Augmented Reality (AR) and Virtual Reality (VR)
technologies are incorporated for training rail staff, passenger entertainment,
enhancing the overall railway operation efficiency. Blockchain technology is
implemented to improve transparency, security, and efficiency in freight
transportation and supply chain management. Smart railway stations and
infrastructure equipped with sensors, 10T devices, and digital signage to assist in
safety, accessibility, and passenger experience are being increasingly developed.
The age of computers and cyber information systems brings about a renewal® of
railway and its traditional forms of management. High technologies greatly
contribute to the safety and efficiency, which are the priorities in traffic operation
[1, 10, 11].

Lwreck trains — pemonTHi moTATM.

2 a separate lever — okpemuii Baxib.

%interlocked — 3ueneni, 3aMKHYyTi.

4 the large wall-mounted train location panel — Benuka maHenb auMcHETYEPCHKOT
LEHTpali3allii, SMOHTOBaHa Ha CTiHi.

® wayside stations — mpomixHi cTanmil.

®brings about a renewal — MPU3BOJIUTH /10 BITHOBIICHHS.
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Exercise 2.6. Check how well you remember the facts from the text while
answering the questions.

1. What must railway traffic operation ensure? 2. What are the main stages in
handling freight and passenger trains? 3. How can railway operation be
facilitated? 4. What kinds of trains do railways run? Is there a difference between
regular and extra trains? 5. Why is making a timetable considered to be one of the
most complicated jobs? 6. What are the marshalling yards intended for? 7. What
are the latest improvements in the work of a modern classification yard? How do
computers facilitate the work of marshalling yards? 8. What are the advantages of
CTC? 9. How are train movements controlled under CTC? 10. Why is it
impossible to admit two trains to the same track? 11. Where was the most recent
system of automatic traffic operation designed? How does it differ from CTC?
12. Which devices help to decrease the danger of train collisions? 13. Where do
radio devices find wide application? 14. What are the priorities in traffic

operation?

Exercise 2.7. Work in pairs. Give the corresponding term from the text for
the following definitions. Ask each other questions and answer them as in the
model:

Student A: What do we call the stations for receiving, classifying and sorting out
the trains?

Student B: We call them marshalling yards or sorting stations.

1. a railway section operated like a small railway; 2. a printed schedule of regular
trains; 3. a list of times at which the regular trains arrive at or leave a station;
4. a train which is not scheduled in the timetable; 5. a scheduled train; 6. a local
train which stops at each station; 7. tools for actuating switches and signals from
the control centre; 8. a train used to carry freight; 9. a system for the automatic
control of train movements from the central panel; 10. a computer system used to

speed the process of cars classification; 11. the devices by means of which
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locomotive drivers can communicate with wayside stations or with other trains on

the route; 12. devices for ‘reading’ colour-coded labels on cars.

Exercise 2.8. Translate the sentences paying attention to the italicised words.
1. Railways usually number all passenger trains in order to facilitate the problem
of their operation. 2. All regular trains are numbered. 3. The number of the
incoming train was announced over the radio. 4. A number of new devices have
been recently introduced. 5. Thanks to the radio the car inspector can inform other
inspectors in case of an emergency. 6. Railways make use of different forms of
telecommunications. 7. The printed schedule of regular trains forms the timetable.
8. The scheduled trains are regular trains; extra trains are not scheduled in the
timetable. 9. The long-distance train has to change both the locomotive and the
crew several times during its run. 10. The trains run by railways are basically of

two kinds: passenger trains and freight trains.

Exercise 2.9. Choose one or two of the suggested topics and make a
presentation based on the information from the text and additional sources.
« The main principles of railway traffic operation

« Types of trains and compiling a timetable

Marshalling yard work

Centralised traffic control

Computers and high technologies in traffic operation

Exercise 2.10. What associations do the words Virtual Reality trigger in your
head immediately? Read the text and be ready to discuss its application on
the railway.

Supplementary Text A: VIRTUAL RAIL FOR STAFF TRAINING

(1) Virtual Reality (VR) is presently a hot, up-to-date topic in the field of
computer science. Virtual reality can be defined as a computer system which is

used to create an artificial world with an ability to navigate through that world
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and manipulate objects in that world. The virtual reality system creates full colour
3-dementional images, tracks the user’s body movements and changes the image
instantly as the user interacts and moves through the virtual world.

(2) The idea of Virtual Reality appeared well before the advent of the
computer, but it is only in recent decades that we have witnessed its increasing
application in scientific, educational and training fields as well as in gaming.

(3) Although a great number of areas of human’s activity have become
automated, there are still a lot of fields where safety and effectiveness depend on
human factor, for example, train driving. Improving driver’s skills and rail staff’s
knowledge in train operation is vitally important in terms of ensuring safety of
passenger and freight transportation. That is where the VR concept can prove
useful.

(4) VR with the electronic technique known as “simulation” creates virtual
rail environment. Different types of cab simulators have been used for many years
across the industry, but they tend to have a major limitation: they are applied only
to driver training and they can only train one person at a time. Now, the latest
generation of multiple simulators, created on the base of virtual reality concept,
can be networked together to provide joint training for drivers, train controllers
and operations control staff, all interacting in multidisciplinary teams. Using
virtual reality theatres, a wider range of training scenarios can be provided. It
improves workplace communication between train staff, and understanding their
roles.

(5) The training session begins with selecting a track, building a number of
virtual trains with initial conditions such as train loading, signal states,
environmental conditions and where each train starts. During the session the
instructor can add different complexities, for example, faults in trains or signals,
obstructions on the track such as workers, animals or even a car stopped on a level
crossing. The environmental conditions can also be changed, for example, causing

a heavy rain or snow-storm to affect visibility or movement on a track line. All
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changes are seen immediately and ensure that each training session can be
different.

(6) Now the virtual environment is much more realistic and complex than
a single training cab in isolation. Train staff can now regularly experience a whole
range of dangerous situations to ensure they are prepared if they happen in the
real workplace. Integrated simulator training for drivers, train controllers and
operation control staff together allows trainees to fully understand how their
actions affect each other, which, in effect, helps to reduce human error in critical
situations. The VR concept creates the virtual environment that feels, sounds, and
reacts the same as the driven train; the only difference is that in this virtual

environment mistakes don’t have real-world effects [1, 10, 14].

Exercise 2.11. a) Answer the following questions: How do simulators assist in

staff training? and What are the features of the latest simulators?

b) Get ready to report on any other application of virtual reality, whether in

industry, service, entertainment, etc.

Exercise 2.12. a) Read the text. Choose the most suitable heading for each
paragraph:

a) Engineers’ contribution to society.

b) Origin and definition of engineer.

¢) Women in engineering.

d) Engineering and science.

e) Types of engineers.

Supplementary Text B: ENGINEERING
(1) Engineers find solutions to problems that are important to society. They

control and prevent pollution, develop new medicines, create advanced
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technologies and help explore new worlds. They make the world a cleaner, safer,
healthier place by inventing, building and improving all sorts of things from
microchips to household appliances, from skyscrapers to spacecraft.

(2) Interestingly, the word engineer does not come from the word engine.
In fact, it comes from the Latin word ingeniosus meaning skilled. An engineer is
really a clever, practical problem solver. Although the fields of engineering and
science are connected, there are also differences.

(3) While a scientist will ask why a problem occurs or happens, an engineer
will want to know how to solve the problem. As one writer once said: scientists
build in order to learn, whereas engineers learn in order to build.

(4) There are all sorts of opportunities in a variety of engineering fields such
as aerospace, biomedical, civil, mechanical, and computer engineering. Engineers
work alone or in teams, and in all sorts of locations such as offices, factories,
research labs, outdoors, and even outer space.

(5) Engineering has often been seen as a male profession. For example, only
9 percent of US engineers are women, while in the UK it is just over 8 percent.
However, research shows that women make the best problem solvers. So now it
is time for women to engineer the future. Break the stereotype. Build a career.
Sigh up today! [4].

b) Choose one type of engineering mentioned in the text to match the
inventions listed 1-5.

1. Railways, roads, bridges = civil engineering.

2. Spacecraft, satellites, missiles = ... engineering.

3. MRI scanners, heart pacemakers, artificial limbs = ... engineering.
4. Cars, CD players, washing machines = ... engineering.
5

. Microchips, robots, networks = ... engineering.
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c) Explain how you became interested in becoming an engineer. Include what
you consider to be the special aptitudes that qualify you for this career.
Indicate what area of civil engineering you have chosen to go into, and what
you think the future of the field itself will be.

GRAMMAR

Possessive Case of Nouns

[TpucsiitHuii BiIMIHOK IMEHHHKIB BiJIIIOBIJIa€ HA MTUTAHHS Yuii? 1 O3HAYAE
HAJICXKHICTh TIpeaMera 10 sKoi-HeOyAab ocoOu. [IpuciiiHuii BiAMIHOK
BXKUBAETHCS:

* KOJIM WACThCS MPO JIFOeH 1 TBapHuH: MYy Sister 's name, my sister’s room,
my mother-in-law s flat, the cat’s tail, Charles’s address, Kate and Alan’s yacht
(but: Sonia’s and Ann'’s yachts);

* y Jeskux (pasax, 10 MO3HAYATh Yac, MPOCTIp 1 KUIbKiCTh: @ month’s
holiday, an hour’s walk, a mile’s distance, today’s newspaper, yesterday’s
business talks;

* 3 Ha3BaMH KpaiH, MicT, pik i caoBamu World, country, city, ship: city’s
council, country’s capital, world’s population, ship’s crew, London’s galleries;

* JUIS TIO3HAYEHHS MICIl, TOB’S3aHOTO0 3 JIFOJAUMHOIO MEeBHOI mpodecii uu
pomuuem: Yesterday | was at my sister’s. — Buopa st 0yB y moei cectpu. | bought
it at the butcher’s yesterday. — S kynuB 11e B4opa y M’sICHii JaBIIi.

HanexHicTh 10 HEXHMBOTO IMEHHMKA BHCIIOBIIOIOTH 3a JOIMOMOTOIO
npuiivennuka Of: the book of the film (not ‘the film’s book), the top of the box
(not ‘the box’s top’), abo ckiamoBUM IMEHHUKOM, ab0 PSJIOM BH3HAYATHHHX
imennukiB: the leg of the table (the table-leg), a world oil demand (the world s oil

demand).
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Exercise 2.13. Use the Possessive Case if possible.

1. I stepped on (the tail of the dog, the dog’s tail). 2. (The test of Maria, Maria’s
test) was written without mistakes. 3. (The leaves of the trees, trees’ leaves) are
green. 4. Have you seen (the newspapers of yesterday, yesterday’s newspaper)?
5. Where is (the cat’s food, the food of the cat)? 6. When is (the doctor’s visit, the
visit of the doctor) arranged? 7. Be careful, (the back of the car, the car’s back) is
very close to the building. 8. The students have (two months’ holidays, holidays
of two months) in summer. 9. Where did you last see (the glasses of your mother,
your mother’s glasses)? 10. Is that (his father’s car, the car of his father) over
there? 11. (The house’s roof, the roof of the house) is red. 12. (The sun’s rays, the

rays of the sun) are very hot at the Equator.

Exercise 2.14. Replace the of-phrase by the noun in the Possessive Case.

The wife of Doctor Stanford, the elder sister of Helen, the friend of my brother-
in-law, the best suit of my husband, the novels of Dickens, the answers of the
students, the dress of the girl, the wishes of my friends, the tools of the workers,

the distance of two miles, the population of London, the airport of Kharkiv.

Exercise 2.15. Read the story and then complete the sentences using nouns in
the possessive case.

Anna and Victor are married. They have two children, Kateryna and Borys.
Kateryna is married to Andriy. Kateryna and Andriy have a daughter, Olena.

1. Anna is ... wife. 2. Victor is ... husband. 3. Kateryna is ... sister. 4. Borys is
... uncle. 5. Borys is ... brother. 6. Olena is ... niece. 7. Kateryna is ... wife.
8. Kateryna is ... mother. 9. Victor is ... father. 10. Victor is ... grandfather.
11. Olena is ... granddaughter. 12. Andriy is ... husband.

Exercise 2.16. Build a word combination using —’s, —s’or ... of ...
Model: the owner / that car — the owner of that car

the mother / Ann — Ann’s mother
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The new manager / the company, the result / the football match, the garden / our
neighbours, the jacket / that man, the ground floor / the building, the top / the
page, the children / Don and Mary, the daughter / Charles, the economic policy /
the government, the cause / the problem, the husband / Catherine, the newspaper
/ yesterday, the husband / the woman talking to Mary, the birthday / my father,
the name / this street, the car / the parents / Mike, the toys / the children, the
wedding / the friend / Helen.

Exercise 2.17. Translate word combinations using the Possessive Case.
Kuwura moro apyra, cykHst cecTpu, cTil 0aTbka, AiM 6a0yci, M’si4 iBYaT, IIKOJIA
CHHA, MallliHa TOr0 4YOJIOBIKa, JUTHHA TI€i XKIHKH, y MOii 0abyci (Baoma), y

nepykapHi, y OyJI04HiH, TITH MO€ET TITKU, JKUTTS HOT0 OATHKIB.

Articles
Heesusznauenuu
Busnauenuii apmuris the be3 apmukns
apmuxie a (an)
o o o IMeHHUKHN Y MHOKUHI Ta
3niyeHi IMEHHHUKH B Heszniveni Ta 37i4eHi IMEHHUKH B o
_ ' _ ' HE3JI1YeH1 IMEHHUKH 3

OJIHUHI, 3ra/laHi BIIEpIIIE: OJIHMHI Ta MHOXHHI, KOJH

y3aragpHeHHsaM: Milk is
good for kids. (Ame: The
milk is in the fridge.)

| have a house. The house | #imeTbcst PO NEBHMIA IPEAMET

is in the country a6o oco0y: Where are the keys?

OxkeaHnu, Mops, piKH; 03epa Ta

[IpeacTaBHUKH HAPOLY, ropu y muokuHi: the Red Sea, the

KpaiHH: Atlantic Ocean, the Alps, the AOGCTpaKTHI IMEHHHKH:
a French woman Andes (kpim 03ep B OAHHUHI Ta freedom, happiness

a Japanese worker ripcekux Bepinud Lake Baikal,

Mount Vesuvius)

Jlesiki BUpa3u KiJbKOCTI: Kpainu, Ha3Ba SKHUX
) | SIBuma abo MOHATTS, €UHI Y
a few, twice a week, a pair ' CKJIAJIA€THCS 3 OJHOTO
) cBoemy poai: the earth, the
of shoes, a little, forty CJI0Ba, KOHTUHEHTH:
Queen, the sun, the Moon
miles an hour, a hundred China, Europe, Asia
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Hesusnauernuii

apmuxie a (an)

Busnauenuii apmuxns the

be3 apmukas

Omnuc mofelt, mpeaMeTiB,

micib: She has a nice face

Kpainu, Ha3Ba AKUX CKJIAA€THCS
3 OUIBII HIXK OZHOTO CJIOBA T
yacTuHu cBity: the United States,
the East (Ase: Great Britain)

KinbkicH1 4UCIIIBHUKY
micis imennukis: World

War One, Chapter three

[Ipodecis, mpencTaBHUK
a0o0 mpeaMeT IEBHOTO
KJacy:

He is a manager.

This is a table

[Mopsakosi yucaiBauku: the third
chapter
the First World War

Bupasu 3 Bunamu
TPAaHCHOPTY 1 MicCLIs:

at home, in/to bed, at/to
work, at/to school, by
bus, by train, on foot,
have breakfast (lunch,

dinner)

[Ticns 3Bopoty there is
nepes 3MYeHIMHU
IMEHHHKaMH B OJHUHI
There is a student in the

classroom

Teatpu, my3ei, razeTu Ta rorei:
the Bolshoi Theatre, the

Hermitage, the Times, the Hilton

Bunu criopty, nopu
POKY, HayKH: SOCCE,

autumn, physics

[Ticns cis rather
(0ocums), quite (yinkom),
such (makuit), what
(sakuit): such a nice girl,
quite a young man, what a

fine model!

[leBHa rpy1a, Kjac JrOIei, ciM s
pyna, )

the unemployed, the Petrovs

[Tnaneru, cysip’s:

Venus, Mars, Milky Way

[Tepen mpukMeTHUKAMH
HaWBHUIIOro cTyrneHs: He was the

smartest of all three brothers

Exercise 2.18. Fill in a/an or the if required.

1. Amanda is ... student. When she finishes her ... studies, she wants to be ...

journalist. She lives with ... two friends in ... flat near ... college where she is

studying. ... flat is small but she likes it. 2. It’s ... nice morning. Let’s go for ...

walk. 3. What is ... largest city in ... Canada? 4. | like ... this room but | don’t like
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... colour of ... carpet. 5. Can you recommend ... good restaurant? 6. We had dinner
In ... most expensive restaurant in ... town. 7. Excuse me, please. Can you tell me
how to get to ... airport? 8. I’m going away ... next week. 9. Could you close ...
door, please? 10. I’ve got ... problem. Can you help me? 11. I’m just going to ...
post-office. | won’t be long. 12. There were no ... chairs, so we had to sit on ...
floor. 13. ... my sister has just got ... job in ... bank in ... Manchester. 14. Where
did you have ... lunch? 15. Rita is studying ... English and ... Maths this term.
16. Please give me ... cup of ... coffee with ... cream and ... sugar. 17. ... Lake Erie
is one of ... five Great Lakes in ... North America. 18. We crossed ... Atlantic
Ocean. 19. What did you eat for ... breakfast this morning? 20. Last night ... bird
was singing outside my house. 21. ... chair you are sitting in is broken. 22. Did

you have ... nice holiday? — Yes, it was ... best holiday 1’ve ever had.

Exercise 2.19. Choose the right word.

1. Where’s milk/the milk? It’s in the fridge. 2. I don’t like milk/the milk. I never
drink it. 3. We went for a swim in the river. Water/the water was very cold. 4. |
don’t like swimming in cold water/the cold water. 5. Excuse me, can you pass
salt/the salt, please? 6. | like this town. | like people/the people here.
7. Vegetables/The vegetables are good for you. 8. | can’t sing this song. | don’t
know words/the words. 9. | enjoy taking photographs/the photographs. It’s my
hobby. 10. He’s afraid of dogs/the dogs. 11. Women/the women live longer than
men/the men. 12. We had a very nice meal. Vegetables/The vegetables were
especially good. 13. I like skiing/the skiing but I’m not very good at it. 14. Why

are people/the people violent?

Imperative Sentences
CreepmkyBasibHa (hopMma: Start the engine! — BeiMka# 1BUTYH!
3anepeuna ¢popma: Do not (dont) stop here! — He synunsiiitecs TyT!

CrnonykaHHs 710 Jii:
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me Hym™mo s nounraro
him Hexaii BiH yurtae
her Hexaii BoHa yurae
Let read.
us IHounuTaiimo
them Hexait BOHM YUTAIOTh
the student Hexaii cTyneHT unrae

Exercise 2.20. Translate the proverbs in the Imperative Mood.
1. Be slow to promise and quick to perform. 2. Never put off till tomorrow what
you can do today. 3. Don’t trouble trouble until trouble troubles you. 4. When in

Rome, do as the Romans do. 5. Let bygones be bygones. 6. Let sleeping dogs lie.

Exercise 2.21. Translate the sentences in the Imperative Mood.

1. Inpre! 2. He inpre! 3. Inpmo! 4. Jlo3BonbTe Meni noixaru! 5. Hexait BiH ine
kyau 3axoue! 6. Hexail Bona pobuth mo 3axoue! 7. [aiite im moixaru 0e3
npobaeMm! 8. [Togusithcs Ha MeHe. He nuBiThCs Ha MeHe. 9. BuMkHITH cBiTI0. He
BMuKanTe cBiTiio. 10. BuBuits 11e mpaswmino. He BuiTh 11e ipaBuio. 11. Po3kaxiTs

MeHi Bce. He po3kasyiite MeHi Bchoro. 12. 3axoante! He 3axoapTe!

Exercise 2.22. Translate the sentences using either the Imperative Mood or a
more polite form will you, could you?

1. 3aunHiTh ABepi (BU 3aBakaeTe). 2. 3aunHITH ABepi (Oyap jacka, MpoTsr). 3.
[lepexnaniTe 1i pedeHHs (KOHTpodbHa pobota). 4. Byns nacka, mepexiIamiTh
IbOTO JIUCTa. 5. 3yCTpiHb MEHE Ha BOK3aJll, SKIO 3MoXeIl. 6. Binkpuiite pota (y
ctomaronora). 7. Un He moram © Bu BigkpuTu BikHO? 8. CiyxailTe yBa)HO.
9. IMocnyxaii, Oynpb Jacka, e 3anuc. 10. Butigite! 11. Byas nacka, BUHII T, HaM

Tpeba MOrOBOPUTH.
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Prepositions of Time

in September, in July

in summer, in winter

IN in the morning/afternoon/evening
in 2010
in a year, in two weeks’ time (uepes)
on Monday, on Sunday morning
ON on the first of September
on Christmas Day
at 3 o’clock, at half past 8
at night, at noon, at midnight, at lunchtime
AT at Christmas, at the weekend

at the moment, at the same time
at the age of 5

DURING during the war, during the meeting (rnio uac)

FOR for 5 years, for a week, for several minutes (npomseom)
BEFORE before lunch, before going to bed (nepeo, 00)
AFTER after lessons (niczus)
FROM ... TO -
(TILL) from morning till night (s ... 0o ...)
BY by 2 o’clock (0o sxoecocs uacy)
SINCE since my childhood (3 sixo2o-nebyow uacy)
WHILE while | was reading (noxu, y moii uac)

Prepositions of Place and Direction

™,
> ]
OUTSIDE
L J

2 e (a)

O INSIDE

S o

BY. BESIDE,
NEXT TO

UNDER BETWEEN

UUUUUUU iH ALONG FROM AWAY FROM

TOWARDS
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Exercise 2.23. Fill in the blanks with prepositions of time and place.

We are students. ... the morning we go ... the University. Our lectures begin ... 9
o’clock. We have no lectures ... Sundays. We take examinations ... January and
June. We do not study ... summer. We come ... the classroom and sit down ... the
tables. We take our books and notebooks ... ... the bags and put them ... the table.
During the lesson we go ... the blackboard and write sentences ... it. When the
lessons are over, we go ... ... the classroom and go home. We usually come back

... the University ... 3 o’clock ... the afternoon.

Exercise 2.24. Translate the word combinations.

1. During the lecture, for 2 weeks, for a year, before the war, after classes, from
Monday till Friday, since 10 o’clock, for two hours, while they were reading, by
10 o’clock, on Saturday morning, by the end of the week, on his holiday, on her
birthday, at 12 o’clock, at night, in 15 minutes, in the evening, in winter, in July.
2. 3 paHKy 10 Be4yopa, TiJ yac KaHikym1, o 9 roauHi, 3 5 no 7, 3a 10 xBumauH, y 1995
poIIi, B3UMKY Ta JIITOM, y TPaBHi, BpaHIli Ta BBEYEPi, 3 MOHEAUIKA O CYOOTH, Y
BIBTOPOK, BOCEHH, 3a PiK, 32 5 JTHIB, YHOYI, ITiJT YaC YPOKY, ITiCJIsI CHIAHKY, TIEpe/
3yCTpiY4I0, IOTO (TOTO, HACTYITHOTO) POKY, IOTO (TOT0, HACTYITHOTO) THXHS,
IIbOT'0 (TOTO, HACTYITHOTO) MICSAIISA, TOKA BOHA PO3MOBIISIE, MTPOTATOM MiCSIIS, 3
2008 poky, 3 5 roguHu JHSA, Y 5 POKIB.

3. Ha cromi, 3a cToioM, y CTOJI, i CTOJIOM, HaJ CTOJIOM, M CTOJIaMH, y CTiJI,

13 CTOJTy, TIepe]T CTOJIOM, IT03a/1y CTOJIY, IO CTOMY, BiJ CTOJY, 31 CTONTY, O1JI CTOITY.

Exercise 2.25. Put while, during, or for into each gap.

1. My uncle died ... the war. 2. The phone rang ... I was having supper. 3. I lived
in Paris ... several years. 4. ... I was in Poland | made a lot of friends. 5. | was in
hospital ... three weeks. 6. ... my stay in hospital, the nurses looked after me well.
7. A football match lasts ... ninety minutes. 8. I hurt my leg ... I was playing
football yesterday. 9. I hurt my leg ... the second half of the match. 10. Traffic is
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always bad ... the rush hour. 11. Last week I was held up ... three hours. 12. Peter

came round ... we were eating. 13. Peter came round ... the meal.

Exercise 2.26. Put a preposition from the box into each gap.

at, in, about, after, for, with, by, on, until, during, to

James lives ... a small flat ... Cambridge. He lives ... two other boys who are
students ... Cambridge University. They work hard ... the week, but ... weekends
they invite a lot of friends ... their house. They cook a meal ... their friends, and
then they go out ... the pub ... a drink, or they stay ... home and listen ... the
music. James has two jobs. ... Mondays, Tuesdays and Wednesdays he works ...
a hospital, where he helps to look ... children who are ill. He goes ... the hospital
... bus. He starts ... ten o’clock and works ... quarter ... five. On Thursdays and
Fridays, he works ... home. ... the evening, one of the boys cooks a meal. ...

dinner they look in the newspaper to see what’s on TV or they talk ... their day.

They usually go ... bed ... about midnight.

Questions

General Questions

JlomomizkHe 3micToBe
) ITinmeT ) JlopaTok Oo0cTraBuHA
Ii€cJIoBO Ii€CJIOBO
Do you study English at the Institute?
Yes, | do. No, I don’t.
Is he studying English now?
Yes, he is. No, he isn’t.
Have you seen anew film in our club?
Yes, | have. No, | haven’t.
Will students take exams in June?
Yes, they will. No, they won’t.
Can you speak English well?
Yes, | can. No, | cannot.




Special Questions

who — xT0 what — o how — sk

what (colour) — sikuii

when — komnu

whose — awuii, which — sikuii, KoTpHii how long — six 1oBro

YHsl, IUE

where — nie
where from —

3BIJIKA

whom — koro, | what time — xorpa how much (time) —

KOMY roJinHa CKIJTbKU

why — gomy

what size — sxwuit po3mip | how many (students) —

CKUJIBKH

what kind (sort) of — how far — six manexo

AKUH, IKOTO POy

How many faculties are there at the University?
When did you enter the Academy?

What will you read me tomorrow?

Whose book have you taken?

Where do you come from?

What specialists does your faculty train?

Who knows this story?

How far is it from here?

What time is it by your watch?

How long does it take you to get to your office?

Alternative Questions

Will you go by train or by plane?

Is he from Poland or Ukraine?

Does he work at the plant or in the office?

Tag Questions

You

live

in Kharkiv,

don’t you?

Maria

will do

her work in time,

won’t she?

He

has done

the translation,

hasn 't he?
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You don’t speak English, do you?

He isn’t your friend, is he?

Exercise 2.27. Give true answers to the questions.

1. How old are you? 2 When did you finish school? 3. Do you work or study?
4. Are you a part-time student or a full-time student? 5. Which of your friends
likes football? 6. You will be an engineer in 5 years, won’t you? 7. Your group
mate lives in a hostel not far from the city centre, doesn’t he? 8. How long does it

take you to get to the University? 9. How often do you have your English lessons?

Exercise 2.28. Fill in the blank spaces with the following words.

what, where, when(2), who, why, whose,

how much(2), how many, how, how long

Model: What is your name? — Nick.

1. ... are you late? — Because | missed the train. 2. ... does the film start? — At 9.15.
3. ... did you see this morning? — Tom. 4. ... did that bike cost? — Two hundred
pounds. 5. .... do you want to leave? — At 5 o’clock. 6. ... did you buy at the
supermarket? — Some milk. 7. ... sisters have you got? — Two. 8. ... coat is this? —
Maria’s. 9. ... is the baker’s? — It’s next to the video club. 10. ... bread have we
got? — Half a loaf. 11. ... do you get to the University? — By metro. 12. ... does it

take you to clean the room? — Half an hour.

Exercise 2.29. Put questions to the words in italics.

1. He speaks English, French, and German. 2. They worked at this problem some
years ago. 3. She is coming in a day or two. 4. | will be an engineer in 5 years.
5. Helen didn’t come because she missed the train. 6. They would like to buy their

own house. 7. He can answer all your questions. 8. The call is urgent.
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Exercise 2.30. Match a line in A with aline in B and a line in C.

A B C
It’s chilly today, haven’t you? [No. How do you do?
You don’t like this food, Is it? Yes. They live next door to me.
You know the Browns, have you? Yes. A Renault.
This exercise isn’t hard, do you? Yes. There was frost last night.
You’ve got a car, isn’t it? Well, I find it a bit too salty.
You haven’t met Henry, don’t you? No. It’s quite easy.

Exercise 2.31. Make tag-questions of these sentences.
1. You do not live in Kyiv. 2. The weather is fine. 3. The film was interesting.
4. You have already done your home task. 5. He is writing a letter now. 6. | can

take this book for a week. 7. You can’t do this work. 8. They will be here soon.

9. He will be busy tomorrow.

Questions with prepositions at the end
bararo gieciniB aHT1ACHKOT MOBH BXXHBAIOTh 13 MPUHMEHHUKAMHU, SIKi 3a3BUYai CTABJISTh

HANPUKIHII MUTAJBHOI0 PeYeHHs. 3 MePEeKIaZoM YKPAiHChKOIO 3 HUX MTOYMHAETHCS

[IUTAHHS.
Who did you speak to? 3 KHM TH pO3MOBIISB?

What are you talking about? IIpo 1o v roBopuii?

Who will she dance with? 3 kUM BOHa Oy/I¢ TaHI[FOBATH?
What are you thinking about? IIpo o v xymaen?

Exercise 2.32. Write questions with a preposition at the end.

Model: I’'m waiting. — Who are you waiting for?

1. Sh! I’m listening. — What ... ? 2. Jane is talking. — Who ...? What ...? 3. They’re
looking everywhere. — What ...? 4. Jerry’s in love. — Who ...? 5. Sophie’s getting
married. — Who ...? 6. She’s going on holiday. — Who ...? 7. The letter is from the
Tax Office. - Where ... ? 8. I’'m worried about the children. - What ...?
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Exercise 2.33. Read the true story and then write the questions.

A couple called Michael and Kate, who lived in Hereford in England, booked a
holiday using the Internet. They thought they were going to Gerona in Spain.
When they arrived after their flight, they were puzzled because they saw lItalian
flags everywhere. When a bus driver refused their pesetas, they realized
something was wrong. Michael and Kate only spoke English, so they asked
another British couple for help. That was when they discovered that they were in

Genoa in Italy. Their mistake was that they had clicked the wrong box.

Questions Answers
What were the names of the two people? Michael and Kate.

live? In Hereford.

holiday? They used the Internet.

? To Gerona.
?  They flew.

? Because of all the Italian flags.

? When someone refused their pesetas.

?  Another British couple.

? They told them they were in Italy.

© ©o N o g~ w D E

? The wrong one.

Exercise 2.34. Take turns to ask your partner about his/her life,

I. Micnie mposxuBaHHs; Miclie, 1aTa HAPOKCHHS; P11 3aHATH (poO0Ta, HABUAHHSA);
YOMY BUPIIIMIN CTaTH 1HKEHEPOM; BOJIOJIHHS 1HO3EMHOIO MOBOIO; YIIOOJICHHIA
npeametr y 3BO; 3ax0omuieHHs; IJ1aHU Ha MailOyTHE.

II. PigHe micTo; kKoim OyJIO 3aCHOBaHO, JI€ PO3TAIIOBAaHO, BH3HAYHI MICIIf,

BiJIOMi iIMEHa; MPUYMHA, 3 SKOi BU MOIXAJX 3 PITHOTO MICTAa.
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I1l. Cim’s (Benuka, mana); 6ateku (BiK, poOoTa); cecTpu, OpaTH; yr0ONeH1
3aHATTS B CIM’i; TOMAIIHI TBAPUHM; TOMEIIKAHHS (1M, KBapTHPa); BIACHA CIM s

(4n ozpy>keHi BU a00 3aM1IXHi).

Indefinite (Simple) Tense in the Passive
AHTTChKE II€CIOBO Mae ABa cTaHu: akTuBHui (Active VoiCe) Ta macuUBHHIA
(Passive Voice). Active Voice nmoka3sye, o MiMeT caM BUKOHYE JifO0.
People speak English there. The students asked many questions.
Passive Voice nokasye, o mijaMer BUIPOOYe /it Ha COOi.

English is spoken there. The teacher was asked many questions.

BE + V-ed (Past Participle)

Present Simple The letter is written by him.

Past Simple The letter was written by him.

Future Simple The letter will be written by him.

Exercise 2.35. Compare the two sentences in the Active and Passive Voice.

1. The first railways used horses for drawing trains. — Horses were used on the
first railways for drawing trains. 2. Richard Trevithick, an English engineer, built
one of the first working models of the steam engine in 1808. — One of the first
working models of the steam engine was built in 1808 by Richard Trevithick, an
English engineer. 3. George Stephenson demonstrated his locomotive in 1829. —
Now this locomotive is demonstrated in a London Museum. 4. He told them an

interesting story. — They were told an interesting story.

Exercise 2.36. Form the Past Participle of the following verbs and use them

in the sentences.

grow, produce, make, deliver, include, employ, speak, pull down

1. English is ... here. 2. Volvos are ... in Sweden. 3. Is service ... in the bill?

4. Whisky is ... in Scotland. 5. About one thousand people are ... in that factory.
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6. Lots of tulips are ... in Holland. 7. In Britain milk is ... to your doorstep. 8. That

block of flats will be ... because it is unsafe.

Exercise 2.37. Change active sentences into passive ones.

Model: The teacher asked him a question. — He was asked a question.

1. They built some new houses in our street last year. 2. The agent must inform
the buyers on the arrival of the ship. 3. She left money at home. 4. They robbed
the bank last week. 5. They equipped the laboratory with the latest computers.
6. Scientists make wonderful discoveries. 7. A railway line will connect the
village with the town. 8. The director signed the contract last week. 9. Almost half

of mankind speaks Chinese.

Exercise 2.38. Write all kinds of questions to these statements.
1. The money was left at home. 2. The books are taken from the central library.
3. The young workers are trained to use the new equipment. 4. The children of

Sparta were given a military education.

Exercise 2.39. Translate the sentences.

1. Voro wacto mocunaoth n0 Kuepa. 2. Temerpamy 6yiao oepaHO BUOpA.
3. HactynmHoro poky TyT 30ynyrooTh HOBY cTaHIliio Merpo. 4. Komu mae Oytm
nepekiaaeHa 1 ctattsa? 5. bararo HoOBuX OyuHKIB 0Oy I0BaHO MUHYJIOTO POKY
B Hamomy Micti. 6. lle mnuranmHs Oyae BUPIIMIEHO HACTYMHOTO THXKHS.
7. Tenerpamy Hajicianu Bl TOAUHU OTOMY. 8. PoO0Ty Oyio 3akiHUE€HO BUOpA.
9. lls xHmra Oyne mepekiajcHa HIMEIBKOIO Ta icmaHChKor MoBamu. 10.
Jlenerarito 3ycTpiHyTh 3aBTpa BBedepi. 11. IM moxasanm maGopaTopilo Ta

010moTeKy yHiBepcuTeTy. 12. JIHIMH MEHI PO3TOBIIN AYy’KE IIKaBUH BHITAJIOK.
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Exercise 2.40. Pay special attention to translation of the sentences in the
Passive. Begin your translation with prepositions.

Model: Many inventions were not thought of before. — Ilpo senuxy xinbkicmo
BUHAX00I8 MU He OYyManu paHiuie.

1. Super-high speeds were not heard of thirty years ago. 2. The achievements on
the Ukrainian railways are often written about in newspapers and magazines.
3. The beginning of our century was spoken of as the Golden Age of travel. 4. The
program was insisted on by many specialists. 5. One of the projects is objected to.
6. The experiment was watched by a group of scientists. 7. The invention of the
steam engine was followed by the development of steam ships and locomotives.
8. The conference will be attended by railway experts from various countries.
9. Radio communication is affected by the weather. 10. My watch is fast; it cannot
be relied upon. 11. Why was he laughed at? 12. He is always listened to with great
interest. 13. She is very well spoken of. 14. Yesterday | saw the film, which is so
much spoken about. 15. What was he sent for? 16. This subject will be dealt with
in the next paragraph. 17. As an agreement had not been arrived at, the dispute

was decided by the court.

Modal Verbs Can, May, Must and their Equivalents

Perhaps the most valuable result of all education is the ability
to make yourself do the thing you have to do, when it ought to
be done, whether you like it or not

Aldous Huxley, an English writer and philosopher
MopanpHi mieciioBa can, may, must mepeaaroTh He Jit0, a CTaBJICHHS A0 i€l Ail
(MOXIIUBICTh, Oa)kaHiCTh, HEOOXimHICTH Ta iH.). Ilicis MomampHOTO mJi€cioBa
CTOITh 1H(}IHITUB 0e3 yacTku 10. ¥ 3amepeyHuX i MUTATFHUX PEUEHHSIX MOJIaIbHI

J€CIIOBA BUKOHYIOTH (DYHKITIFO TOTIOMI>KHHUX JIECIIB.
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Present

Past

Future

Heobxionicmos — [Nosunnicme — 06086 430k

must — have to — be to

— should — ought to

| must meet him. — 5l noBuHeH ioro 3ycTpitu
(kamezopuune 30008 "A3aHHA, 1 MAK
88adicaro).

| have to meet him. — I noBuneH ioro
3YCTPITH (MeHi 00800UMbCsl, HeOOXIOHICIb
32I0HO 3 306HIWHIMU 0OCMAaUHAMU OJISl
Mo2o, Xmo 2080puUmy).

We are to meet at 6. — Mu maemo 3ycTpiTHcs
0 MIOCTI! TOJIUHI (3a NIAHOM, PO3KIAOOM,
O00MOBIEHICMIO).

You should meet him. — Tu noBunex (To0i
Tpeba, CIIia) Horo 3yCTPITH (3aeanbHa
nopaoa, peKomMeHoayis).

You ought to respect the elderly (= paoorcy

eam,; ye HeobxioHo, OibuLicmo 100ell MmaxK

ssadicac)

| had to meet him. — 51
noBUHEH OyB (MEHI
JIOBEJIOCH) HOTO
3YCTpITH.
| was to meet him. — 51
MMOBUHEH OyB

(mepenbayvanock) Horo

3yCTpiTH

I will have to meet
him. — 4 moBuHEH
Oymy #oro

3yCTpITH

30amuicms — 30ibHocmb — Moowcausicmeo

can — be

able to

He can swim. — Bin Moxe 1u1aBaTy.
He is able to help you. — Bin mae 3mory To6i

JOIIOMOI'TH

He could swim.

He was able to help you

He will be able to

help you

Jo3zein — Mooicnusic

mo (8ipocioHicmy)

may — be allowed to

You can/can’t borrow my car. (1o3Biu,
HeopMaTbHUN)

Could I use your phone? (6inb1 BBiwINBE;
3aIuT J103BOJTY)

You may use the phone. (popmainshe;
HaJaHHS JI03BOJTY)

Might | speak to Mr Jones, please? (6imbir

(dbopManbHe; 3aITUT I03BOITY)

| was allowed to leave

I will be allowed

to use this device
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Present Past Future

I 'm afraid you can’t/mustn’t see the patient.
(meopmanbHe; BizMOBa)

Children may not be left alone (popmanvre;

8i0M08A — NUCbMOBE NOBIOOMIIEHHS)

Exercise 2.41. Answer the questions as in the model.
Model: - Can you dance well?
- Yes, | can. | can dance well enough.
- No, I can’t. | can’t dance at all.
1. Can you speak English a little? 2. Could you swim when you were five? 3. Can
you play football? 4. Can you play the piano? 5. Can you drive a car? 7. Can you

sing? 8. Can you cook?

Exercise 2.42. Say the sentences in past and future.
Model A: We must learn the new words regularly.
We had to learn the new words regularly.
We will have to learn the new words regularly.
1. He must go there at once. 2. She must be at home by 11.00. 3. | must go to this
meeting. It is very important. 4. We must pass the examination in physics.

5. I must rewrite the test. | failed last time.

Model B: He can skate well.

He could skate well.

He will be able to skate well.
1. He can continue his studies at the evening department. 2. | can meet you at the
metro station. 3. His father can help him in his studies. 4. | can translate this text

without a dictionary. 5. She can play tennis three times a week.

Model C: You may open the window.
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You were allowed to open the window.

You will be allowed to open the window.
1. You may go home after classes. 2. They may continue the experiment. 3. The
students may use dictionaries while translating the text. 4. He may take my pen.

5. The tourists may attend the sitting of the Parliament.

Exercise 2.43. Fill in the gaps using can or can’t with one of the given verbs:
eome, find, hear, drive, see, speak.

Model: I’m sorry but we can’t come to your party next Saturday.

1. I like this hotel room. You ... the mountains from the window. 2. You are
speaking very quietly. | ... you. 3. Have you seen my bag? I ... it. 4. Catherine got

the job because she ... five languages. 5. I ... though | haven’t got a driving licence.

Exercise 2.44. a) Add your sentence beginning it with | think ... should... or
| don 't think ... should ...
Model: It’s late. (go home now) — I think we should go home now.

That coat is too big for you. (buy it) — I dont think you should buy it.
1. You don’t need your car. (sell it) 2. Diane needs a rest. (have a holiday) 3. Sally
and Colin are too young. (get married) 4. You’re not well this morning. (go to
work) 5. James has a toothache today. (go to the doctor) 6. The hotel is too

expensive for us. (stay there)

b) Give advice to people in the following situations. Use should.

1. My twenty-year-old son just stays at home all day watching television! 2. My
car keeps breaking down. 3. | just can’t get to sleep these days. 4. Since my father
retired, he doesn’t know what to do with himself. 5. | just don’t know what to do
with my hair. It looks awful. 6. I’m overweight. 7. I’ve got exams next week. 8.
My cat’s ill. 9. I’m always arguing with my parents. 10. It’s my parents’ wedding

anniversary soon. 11. I’m always late.
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Exercise 2.45. Ask permission.
3a4MHUTH ABEP1, MOBEPHYTUCS N0JOMY, MITH B KIHO, BCTATH, 3alIaJIUTH, MOCTIATH,

cicTH, miTH 10 0ydeTty, po3MOBIATH (PaHIy3bKOIO.

Exercise 2.46. Fill in the gaps with mustn 't (ne moBunen) or needn 't (He Tpe6a)
+ one of the verbs: elean, forget, hurry, lose, wait, write.

Model: The windows aren’t very dirty. You needn’t clean them.

1. We have a lot of time. We ... . 2. Keep these documents in a safe place. You ...
them. 3. I’m not ready yet but you ... for me. You can go now and I’ll come later.
4. We ... to turn off the lights before we leave. 5. I ... the letter now. | can do it

tomorrow.

Exercise 2.47. Fill in the gaps with have to or had to + one of the verbs: answer,
buy, change, go, walk.

Model: We had to walk home last night. There were no buses.

1. It’s late. I ... now. I’ll see you tomorrow. 2. | went to the supermarket after work
yesterday. | ... some food. 3. This train doesn’t go all the way to London. You ...

at Bristol. 4. We took an exam yesterday. We ... six questions out of ten.

Exercise 2.48. Complete the questions.

Model: I have to get up early tomorrow. — What time do you have to get up?

1. George had to wait a long time. (How long ... ?) 2. Liz has to go somewhere.
(Where ... ?) 3. We had to pay a lot of money. (How much ... ?) 4. | have to do
some work. (What exactly ... ?) 5. He has to work hard these days. (Why ...?) 6.
You will have to tell the truth. (When ...?)

Exercise 2.49. Mustn’t or don’t have to? Choose the correct modal verb.
Remember that don 't have to means re mpeba, nema nompeou.

Model: We have a lot of work tomorrow. You mustn’t be late.
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1. You mustn’t /don’t have to tell Mary what | told you. It’s a secret. 2. The
museum is free. You mustn 't/ don 't have to pay to get in. 3. Terry is a millionaire.
He mustn 't/ doesn 't have to go to work. 4. We mustn 't/ don 't have to rush. We’ve
got plenty of time. 5. You mustn’t / don’t have to play with guns. They’re
dangerous. 6. ‘Shall I come with you?’ — “You can if you want, but you mustn't /
don’t have to.” 7. Children mustn’t / don’t have to tell lies. It’s very naughty.
8. Why did you get up early? You mustn 't/didn’t have to wake up at 7. 9. Is he

going to quit? He mustn t/doesn 't have to leave this job now.

Exercise 2.50. Translate the sentences.

1. Bu MosxeTe 3ycTpiTH #oro Ha Hamii ¢ipmi. 2. [if notpi6HO KOMOMOrTH MaTEpi.
3. CtyneHtam OyJ0 T03BOJICHO KOPUCTYBATHUCS MiipydHrKamu. 4. Bam motpiOHO
NIOTOBOPUTH 3 HUMHU. 5. TW NMOBHHEH HamucaTH OaThkaM jucrta. 6. S mir me
3pobutu cam. 7. 5 3Moky gornomortu To01 3aBTpa. 8. MoxHa yBitu? 9. YoMy im
JoBeJIoCcs MOKUHYTH e OyauHok? 10. Bin He 3Moxe moixatu B Itaiiro BIITKY.
11. Bam poBeaeThcsi 3poOuUTH 110 poOOTY a0 moHenuika. 12. I He 3MOXy
POYUTATH LI0 KHUTY 32 THXK/IEeHb. 13. BoHa mOBMHHA MEPEKIIaCTH IF0 CTATTIO 10
cepenu. 14. 51 He Moy BiAMOBICTH Ha Bamie 3anuTaHHs. 15. Tu He Moxern
CHOTOJTHI TTITH B KiHO. 16. TH MOBHHEH MOTOBOPUTH 3 HOro 6aThKkOM. 17. 5 3MOXKy
ix mo6auntu 3aBTpa. 18. BiH moBuHeH Oyie 3p0OUTH JOTIOBIIb HAa KOH(EPEHITiTO.

19. ﬁOMy JIOBOJIMTHCS 3apa3 OaraTo MparfoBaTH.

SPEAKING
Exercise 2.51. Complete the conversations with the correct expressions.
Practise these flashes in the dialogues of your own.
I 'm sorry Excuse me of course Pardon
A: ... ! Can I get passed?
B:...?

A: Can | get passed, please?
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:....Ididn’t hear you. Yes, ... .
: Thanks a lot.

That’s right Oh, what a pity Congratulations Never mind | hear
. ... you’re going to get married soon. ... !
..., next July. July 21. Can you come to the wedding?
. ... ! That’s when we’re away on holiday.
. .... We’ll send you some wedding cake.

: That’s very kind.

Hurry up all right Oh, dear Justa minute | haven'ta clue
... ! Look at the time! ..., or we’ll miss the train.
... ' I can’t find my umbrella. Do you know where it is?
. ... . But you won’t need it. It’s a lovely day. Just look at the sky!
Oh, ... . Let’s go, then.

Good luck See you later Same to you Good idea

What about you No, of course not

... In your exam!

. ... . | hope we both pass.

: Did you go out last night?

. ....Iwentto bedearly. ... ?

: Me, too. ... after the exam. Let’s go for a drink.

WORD BUILDING

Noun Suffixes: -ure (-ture), -ment, -ness

Adjective Suffixes: -less, -ful
Adverb Suffix: -ly
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Exercise 2.52. Read and translate the following pairs of words.
To depart — departure, to please — pleasure, to press — pressure, to seize — seizure,
to sign —signature, dark — darkness, cheap — cheapness, bright — brightness, near —

nearness, great — greatness, smooth — smoothness.

Exercise 2.53. Form the nouns by adding —ment and use them in the sentences.

amuse, engage, improve, achieve

1. There are a lot of ... in a big city: plays, films, concerts, football matches and
so on. 2. At the meeting the chief of our plant told us about the ... in this branch
of industry. 3. [ have several ... next week. 4. Sales figures continue to show signs

of ....

Exercise 2.54. a) Translate the adjectives with -ful or -less suffix.
Hopeless, aimless, moonless nights, limitless hatred, classless society, priceless

treasure, beautiful, helpful, useful, forgetful, thankful, painful, doubtful.

b) Translate the following words using -less or -ful.

bescepacunuii (heart), 0escmaunuii (taste), Gesconnwmii (Sleep), Oe3moBHuI
(speech), 6esxamicuwmii (pity), mapemuumii (USe), 6e3popmumuii (Shape); baratuii Ha
noxii (event), uymoBuii (wonder), ycmimuuii (SUCCeSS), momoxkasuii (youth),
3a0ytiauBuii (forget), yBaxkuuii (care), morykuuii (POWEr), CIIOBHCHHM XKaxy

(fear).
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1. RAIL TRACK

Discussion:  Modes of Transportation
Main text: Railroad Track
Supplementary text A: The Track for the Future
Supplementary text B: Around the World: Track Innovations
Grammar: Continuous Tense
Present Participle
Pronouns
Use of It
Numerals
Speaking: Telephone Conversation
Word Building: -ity, -ty, -ship; -ous, -ive, -y; -ate, -en

DISCUSSION
Exercise 3.1. Compare four forms of transportation: marine, road, rail and
air transport. Make up your own story. Decide which kind is:
the fastest, the cheapest, dependent on weather and geographical conditions, able
to transport large quantities of cargo, time-consuming over long distances, risky
because of the frequent accidents, often delayed through traffic jams, convenient

because of door-to-door transportation.

Exercise 3.2. In groups discuss the following questions.
« What do you know about the track? Has it changed greatly in the course of
rail development?
» What kinds of tracks do you know?

« What innovations in track construction have you heard of?

READING

feature — n ocobnuBicTh, prca, V MaTH XapaKTEPHY PUCY, BIIPI3HATUCS
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permanent way — BepxHs OyaoBa KoJii

temporary — adj TumuacoBmii

as well — adv takox; as well as — adv rakox sk, a Takox

rest — v onupatu(cs), BiIMOYNBATH

heavy — adj Baxxkuii, Hanpy>KEHUI

replace — v 3aMiHIOBaTH, MiHSITH

sleeper (AmE tie) — n mmana

strong — ajd minuui, cunpHui; ant weak; strength — n minHicTh, cuia
for — prep nns, ynpoaoBK, TOMY 110, OCKIIbKH

fasten — v kpinuTu; fastening — n kpiruieHHs

get acquainted with — nmo3naiiomutucs 3

weight — n Bara; weigh — vV BayxuTH, 3BaKyBaTH

support — v niaTpuMyBatH, TiANUpaT; N onopa

main — adj royioBHMiA, OCHOBHHIA; SyNn essential

volume of traffic — o6csr nepeBe3eHs

gauge — N mupuHa KOJIii

adopt — vV mpucTOCOBYBAaTH, JIar0IUTH

rolling stock — pyxomuii ckian

exist — v icuyBaTw; existing — adj icuyroumnii

border — n rpanwus, KOpaoH

treat — v 0Opo06asTH, CTABUTHUCS 10

provide — v 3a6e3nieuyBatu; provide for — v mepenbavaru

stability — n cTabinbHicTh, MilIHICTB; Stable — adj cTaGinbHMIA, MILIHHMA, TPHBATHIA
Improve — vV mokpaiyBaTH, MOJIMIIyBaTH; IMProvement — N yaocKoHaJICHHS,
TOJTIMIIIEHHS

elimination — n ycynenss; eliminate — v ycyBaTu, JiKBiIOByBaTH
joint — n micue 3’egHaHHs; JOIN — V 3’€qHyBaTH

reduce — v 3MeHmyBaTH, ykopouyBaTw;, reduction — n 3MeHIICHHS

continuous welded rail (CWR) — 6e3cTuxoBwii (3BapHUit) MUTSIX
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smooth — adj piBHu#, mIaBHUIA

maintenance — N peMoOHT, eKcIuTyaTaiis; Mmaintain — VvV migTpuMyBaTH,
00cIyroByBaTH

because of — prep 3 ornsay Ha, yepes

advantage — n nepeBara, npuBiieii; ant disadvantage

OCCUr — V BUHUKATH, 3’ SIBISITUCS

precision — N TOYHICTb, MYHKTYaJIbHICTh; Precise — adj Tounuit

ease — N JIerKicTh, MPOCcTOTa; €asy — adj jJerkui

installation — n Bcranosnenns; install — v scranosmoBaTn

therefore — adv Tomy, yepes te

just — adj cipaBeiuBHI

increase [in’kri:s] — v 30unbiyBaTH, 30inbiieHHs; N [ ‘inkri:s] — 3pocranns; ant

decrease

Exercise 3.3. Change italicised words into their synonyms from the
vocabulary.

To put rails on granite blocks, to ensure drainage, a greater steadiness of the track,
the intensive traffic, to abolish (liquidate) rail joints, to substitute for iron rails,
a trunk line, to be rightly called; both switches and rails, to back up the idea;

the peculiarities of modern track; to know exactly; the simplicity of calculation.

Exercise 3.4. Arrange the words in pairs of synonymes.
Increase, feature, tie, power, raise, strength, benefit, decrease, main, travel,

advantage, journey, reduce, sleeper, intense, characteristic, heavy, major.

Exercise 3.5. Read and translate the following word combinations.
The weakest part of the permanent way; to weaken the track structure; to date
back to early days; a temporary track; to be of the same gauge; heavily-used main

lines; the two-century-long progress; to serve 15 times as long as iron rails;
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volume of traffic; the original gauge; engineering and rolling stock; to be under
construction; to treat with creosote; crushed rock; to make the train pass to another
track; to be substantially improved; to stabilise the weight of the structure; to weld
the rails; to have a far greater weight; maintenance cost; longer life of rails;
ballastless solution for high speed lines; to provide a smoother running of trains;

a completely new way of thinking; to be justly considered.

THE RAILROAD TRACK

laying a track on a strip of land called the right-of-way?. The track is,

in fact, the basic feature of a railway. It is also called the permanent
way — the term, which dates back to the early days of railroad building. At that
time the workers first had to lay temporary tracks to transport materials to the
construction site. And only after that they laid down the permanent tracks or the
permanent way.

(2) The two-century-long progress of railways changed not only
locomotives and cars, but the track as well. The first tracks had no ballast; the rails
were made of wood and rested on heavy blocks of granite. Then wooden rails
were replaced by iron ones, and granite blocks were replaced by wooden sleepers
or ties. This kind of track, however, was not strong enough for heavy steam trains.
The discovery of how to make cheap steel was of great importance to the railways,
for steel rails had a life 15 times as long as iron rails.

(3) The permanent way of today consists of steel rails, fastened to cross-
ties placed in a bed of gravel ballast. Now let us get acquainted with some
important elements of railroad track more closely. Road-bed? is the foundation for
laying the ballast, ties and rails. Rails differ greatly in weight according to the
kind of traffic and load they have to support. The largest and heaviest rails are laid
in the main-line tracks, which carry the largest volume of traffic. Today, steel rails

on lines with heavy traffic weigh as much as 60 or more kilograms to the metre.
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(4) The distance between the rails is called the gauge. The standard gauge
in most North American and European countries is 1.43m — the original gauge of
the Stockton & Darlington Railway, adopted as a result of the export of English
engineering and rolling stock. However, in Ukraine the gauge is broad (1.5m).
Railways with the broad gauge also exist in a number of European countries, such
as Spain and Finland. Differences in the gauge cannot but cause problems for
international traffic crossing the borders. Recently a great number of projects have
been studied to cut the time spent by trains at gauge changeover points?.

(5) Sleepers support rails and ballast supports sleepers. Sleepers on most
tracks were almost all of wood treated with creosote for longer life. Now concrete*
Is considered to be the ideal material for railway sleepers. Concrete sleepers have
a far greater weight than wooden ones and thus provide greater stability of track
and higher speeds.

Sleepers rest upon a bed of crushed rock or gravel, which is called ballast.
Ballast is a very important element of the track for it is the ballast that supports
the track structure, holds the track in position and provides the needed drainage.
Some railways have two or more tracks. In order to make trains pass from one
track to another, railways have a switch, which is a very important element of the
track.

(6) Since the railroad beginning, the track structure has been substantially
improved. One of the greatest improvements was the elimination of rail joints —
the weakest part of the track. In order to reduce the number of joints rails are
welded into continuous lengths®. Most main lines in Europe are constructed with
continuous welded rail (CWR). CWR has greater strength, provides a smoother
running of trains at far greater speeds and reduces maintenance costs. One of its
noticeable effects — for passengers at least — is the elimination of the characteristic
clickety-clack sound® as the train crosses rail joints.

(7) Another recent improvement is the use of ballastless track for new high-

speed and heavy freight lines. More and more countries replace traditional
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ballasted track with the so-called slab track’. The principle is based on a
completely new way of thinking in railway construction. Sleepers, fastenings and
ballast bed are not needed because of the concrete slab superstructure with
embedded rails®. The slab track has more advantages over ballasted track in terms
of maintenance. Simple ballasted track needs continuous investment in track
machines, equipment and manpower. Problems with ballast bed may occur where
trains operate at speeds above 250km/h. Whereas balastless slab track has higher
levels of safety, high precision, low life-cycle cost®, ease of replacement, and short
installation time. Therefore, slab track is justly considered to be the track for the
future [1, 9, 10].

Lthe right-of-way — cmyra Binsenenns.

2 road-bed — 3emernbHE MONOTHO.

3 gauge changeover points — MyHKTH 3aMiHM KONICHHUX TIap.

4 concrete — Getom.

® lengths — peiikoBi miTi.

% clickety-clack sound — cTyk Kortic.

"slab track — 6e36anacTra kouis Ha 36ipHNX GETOHHMX TITUTAX.

8 embedded rails — BMoHTOBaHMIf, 3aMypOBaHHii.

% life-cycle cost — BuTpaTH i Yac mepioaxy BUKOPHCTAHHS.

Exercise 3.6. Match the terms in the left column with their definitions in the
right column.

1. permanent way a) the distance between rails

2. rails b) the combination of rails, ties and ballast

3. gauge ¢) rails with reduced number of joints

4. sleepers (ties)  d) the mechanism moving trains from one track to another

5. switch e) a track, having concrete cover, instead of ballast
6. joint f) the place where the ends of rails meet

7. ballast g) wooden supports for rails

8. slab track h) long steel bars on which trains run

9. CWR 1) the support for the track structure
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Exercise 3.7. Answer the following questions.

1. What is the origin of the term permanent way? 2. What elements does the
permanent way consist of? 3. What is the difference between the modern railroad
track and the track of the early days of railways? 4. What is the gauge? Where are
the standard and the broad gauges used? 5. Why does crossing borders become a
problem in some countries? 6. What is the weakest part of the track and why?
7. What is the switch intended for? 8. What does the weight of the rails laid in the
track depend on? 9. Which rails are laid in the heavily used main lines? 10. How
can we make wooden ties last longer? 11. Is ballast an important element of the
track? Why is it important? 12. What advantages do continuous welded rails have?
13. Why do concrete sleepers replace the wooden ones? What are their strong
points? 14. What other improvements in the track structure do you know? 15. For
which lines is it suitable to use slab track with embedded rails? 16. How does the
design of the slab track differ from that of the common ballasted track? 17. What

are the advantages of the slab track?

Exercise 3.8. Choose one of the topics and make up a short story based on the
text and/or any other source of information.

1. The early and the modern railroad track (the right of way, permanent way,
the basic feature, to consist of, wooden rails, to be replaced by iron rails, sleepers,
to be not strong enough, to rest on granite blocks, to have no ballast).

2. Rails and ties (to be laid in the main lines, to weigh 60 kg to the metre,
elimination of rail joints, CWR, to have greater strength, to provide smoother
running at greater speeds, to support rails, to be treated with creosote, the greater
weight of concrete sleepers).

3. Ballasted and ballastless track (a bed of crushed rock, to support the track
structure, slab track, superstructure with embedded rails, to have advantages in

terms of maintenance, to be laid in high-speed routes).
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Supplementary text A: THE TRACK FOR THE FUTURE

(1) The centuries-old traditional track structure of rails, ties and ballast is
now being challenged by innovative concrete slab track. From the late 1960s
onwards, there has been an increase in the use of concrete slab technology
throughout the world, especially for high-speed lines, heavy rail, light rail and
tram systems. The incentive is to develop a strong and durable track structure that
will permit high-speed passenger and heavy-load freight trains to operate
consistently and smoothly with low maintenance costs.

(2) The term «slab track» is used to describe non-ballasted track structures
consisting of a concrete slab placed on a subbase over a prepared subgrade
(roadbed). The ballast is replaced by a rigid concrete track slab which transfers
the load and provides track stability. The rails may be directly fastened to the
concrete slab, about half a meter thick, without ties. A similar but less expensive
alternative is to accurately position concrete ties and then pour a concrete slab
between and around them. This method is called «cast-in precast sleeper tracky.

(3) Various types of concrete slab track are in service in Japan, Europe and
North America. There are broadly five types of slab track system: embedded rail,
booted sleepers, direct fixing and resilient baseplates, cast-in sleepers, floating
slab. The slab track system can be selected to suit particular requirements. For
example, booted sleepers or floating slab will perform well for locations sensitive
to ground vibration. With the floating slab track the concrete slab can be supported
upon soft resilient bearings. It is expensive and requires more depth or height, but
can reduce noise and vibration by around 80 %.

In some cases, the traditional fastening system is abandoned in favour of an
embedded rail system. A version of the slab track, developed in the Netherlands,
has the rail continuously embedded in a channel cast within the concrete base slab.
None of the traditional track fastening is needed, as the rail is surrounded by a

resilient, long-life elastomer.
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(4) Slab track offers the following advantages over traditional ballasted

track:

Very low maintenance requirements. There are examples of slab track
installations where little or no maintenance (including rails and pads) has been
carried out for over 25 years.

Higher speed operation. Concrete slab track offers a greater degree of
trackbed stability than ballasted track. Therefore, higher running speeds are
achievable.

Long design life. An estimate of design life for traditional ballasted track is
around 15 years, after which, the track requires renewal. A concrete track slab
is typically constructed with a design life of at least 60 years.

Increased reliability. These systems offer the advantage of superior stability
and almost complete absence of deformation at speeds in excess of 250 km/h
due to the absence of any ballast.

Low whole life cost. Although the capital cost of slab track systems is higher
than the equivalent ballasted track, the long design life and minimal
maintenance for slab track systems means that overall their whole life cost is
lower than that of traditional ballasted track.

(5) The slab track system for transit applications in the United States and

for high-speed rail in Europe and Japan has performed well over the recent
decades. All new high-speed lines in Japan are built on slab track support systems.

Slab track sections are in service on the Canadian Pacific Railway, the Long

Island Railroad and in the Eurotunnel under the English Channel. Slab track is

used extensively on corridors where light rail shares the slab track pavement with

automobiles, trucks and/or buses. Because of the continued increase in tonnage to

be carried by railroads and the expected growth in high-speed passenger rail

corridors, with the smaller deviation in the rail geometry allowed for high-speed

rail, the need for a stronger track structure is apparent. Concrete slab track

technology is expected to fill the need for stronger track [1, 9, 10].
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b) Answer the questions to the text.

1. Why has slab track been developed? 2. How does slab track differ from
traditional ballasted track? 3. Why are different configurations of slab track
needed? What are the main types? 4. What are the most important advantages of

slab track? 5. Where are slab track systems used?

Exercise 3.9. a) Read about innovative materials for sleepers.

Supplementary Text B: AROUND THE WORLD: TRACK INNOVATIONS
India

Composite sleepers! developed in India could soon be finding home on steel
girder bridges? in Europe. Producers see strong export potential for the fibre
reinforced plastic® (FRP) sleepers. The FRP sleeper weighs 54 kg, compared with
a weight of between 100 and 171 kg for a wooden sleeper and 171 kg for a steel
sleeper. This makes the FRP sleeper easier to transport and handle. Other major
advantages are a life of up to 50 years, compared with up to 10 years for wooden
sleepers and up to 20 years for steel sleepers as well as zero maintenance because
FRP is corrosion free and unaffected by climatic conditions and ultraviolet rays.

These factors also give the FRP sleeper the lowest life-cycle cost [9, 13].

1 composite sleepers — koMmno3uTHi (CK1a0B1) MM,
2 girder bridges — 6amounwuii Micr.

3fibre reinforced plastic (FRP) — BoOKHHCTHIT apMOBaHMi TIACTHK.

United States

TieTeck is the world’s leading producer of thermoplastic composite railroad
sleepers. They are produced from recycled! polyolefins and crumbed tyre
rubber? — the post-consumer and post-industrial waste. The TieTek composite
sleeper is a successful application of technology to create alternative products for
the railway industry. Composite sleepers show good physical resistance?®,

resistance to moisture and electrical conductivity*. They will not crack due to poor
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weather conditions and offer long-term economic benefits not found in other
materials. The sleepers have been installed in commercial freight and transit track

across the USA and seven other railroad systems [9].

! recycled — moBTOpHO BUKOPHCTAHMIA.
2 crumbed tyre rubber — rymoBa kpuxTa Bij muH.
3 resistance — omip.

4 conductivity — mpoBiamicTs.

Exercise 3.10. Project a) Using Internet or any other source of information
find something interesting and innovative about the construction of modern
railroad track: new kinds of rails, sleepers, fastenings, materials, etc. Make

a presentation with tables, photos, etc.

b) Is there anything of the kind introduced on Ukrainian railways? Study

the issue and report on your findings.

GRAMMAR
Continuous Tenses
Active Passive
be+Present Participle (-ing) be+being+Past Participle (-ed)

| am discussing a new plan now. o ]
o ] A new plan is being discussed.
Present | He is still discussing a new plan. _ ]
] ] New plans are being discussed
They are discussing a new plan

He was discussing a new plan when | A new plan was being discussed when

the manager came. Wwe came.
Past They were discussing a new plan New plans were being discussed
during the meeting during the meeting
Euture We will be discussing a new plan ]

tomorrow at 5
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Spelling:

1. argue — arguing, hate — hating, love — loving (ane: age — ageing, dye - dyeing, agree —
agreeing, see — seeing).

2. hit — hitting, run — running, stop — stopping.

3. ad 'mit— admitting, be ‘gin — beginning, pre ‘fer —preferring (ane: ‘budget —budgeting, ‘enter
— entering).

4. signal — signalling, travel — travelling (AmE.: signaling, traveling).

5. carry — carrying, enjoy — enjoying, hurry — hurrying.

6. die — dying, lie — lying.

Present Continuous Tense

1. [MomomxkeHi Aii, 1o 3iHCHIOIOTEHCS i1 yac ropopinas (Still, now, at 11 o ‘clock,
from 5to 9 0 'clock) a6o B TenepimHiii mepio vacy (today, this week, this season).

Please, don 't make so much noise. | am studying. (not | study)

Tom and Ann are talking and drinking in a café. Tom says, ‘I’'m reading
an interesting book at the moment.’

‘You are working hard today.’ ‘Yes, | have a lot to do.’
2. CuTyartii, SIKi IIBUJKO 3MIHIOIOTHCS:

The population of the world is rising very fast. (not rises)
3. MaiiOyTHi Aii, SIKIIIO BUKA3y€E€ThCS HaMip iX 3M1iHCHEHHS a00 BIIEBHEHICTh Yy iX
BUKOHAHHI.

What are you doing tomorrow evening?

| am going to the theatre.
[Mpumitka. Present Continuous Tense Takox MOKHa BUKOPHCTOBYBATH:
- I BUCJIOBJICHHSI MEHIIIOT BIIEBHEHOCTI Ta O(iIiabHOCTI:

| am hoping you can lend me $100.

| 'm afraid we must be going;
- BUCJIOBJICHHA HC3aJ10BOJICHH:A, CKAPIru TOIIO.

He is continually borrowing money from me.
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Past Continuous Tense

[Tonos>keHa nist, n10 BiAOyBajacs B MIEBHUM MOMEHT Y MUHYJIOMY a00O B IEBHUIA
BIJIPI30K Hacy.

| was reading a book at seven yesterday.

In June that firm was carrying on negotiations for the purchase of wheat.
Past Continuous He BKka3ye Ha Te, YU 3aBEPIIHIACS JIis:

Tom was cooking the dinner (= BiH roTyBaB 00i1 i HE BiOMO, YU
NPUTOTYBAB BiH HOTO).

Tom cooked the dinner (= Bin nmpuroTyBaBs 00i).
[Mpumitka. Past Continuous 4acto CTOiTh pa3oM 13 Past Simple, axuio ogHa maist
3aiicHIOBasIacs Ha (DOHI 1HIIION.

Tom burned his hand when (while) he was cooking the dinner.
Jlns mepeniky moiid y MuHyJIoMy BxkuBaroTh Past Indefinite, nezanexxno Bix
TPUBAJIOCTI Aii.

| came home early, rested from five till six, and then worked the whole

evening.

Future Continuous Tense

1. [TonomxeHa Ais, 1o Oyje BiAOyBaTUCS B IEBHUM MOMEHT Y MailOyTHOMY a00
B IIEBHUH BiJIPI30K Yacy.

This time tomorrow they will be sitting in the cinema. They will be
watching a film.

| will be preparing for my examination in May.
2. Hamip 3miticaut niro abo BIEBHEHICTHh y ii 3ailicHeHH] (3amicTh Future
Indefinite Tense).

He will be meeting us at the station.

Future with be going to
To be going to Bupaxkae Hamip 3IIHCHUTH JIit0 00 BIIEBHEHICTH Y 11 31HICHEHH] Y

MaiiOyTHbOMY.
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We were going to ship these goods by the steamer. — Mu 30upanucs
BIJIMPABUTH 1€l TOBAp MapoOIIaBOM.
The sky is clearing up; the rain is going to stop in a minute. — He6o

MPOSICHIOETHCS; IO YITYXHE 3a XBUJIMHY.

Static Verbs that are not used in Continuous

MeHTaJBbHUI T YyrreBe
. . BigHomeHnHs Ini
CMOIIIMHUMU CTaH ClIpUUMAaHHSA
believe appear (dis)agree be
(dis)like hear promise consist
know look (=seem) surprise depend
remember see satisfy include
understand seem deny matter
want smell impress own
prefer sound astonish need
imagine taste mean lack

Exercise 3.11. Complete the following sentences putting the verbs in brackets
into the Present Simple or Present Continuous Tense.

1. Alec and Mary are Scottish. They (come) from Glasgow. 2. They’ll be here
very soon. They (come) by car. 3. Liza can’t answer the phone. She (have) a bath.
4. She (have) two new pairs of jeans. 5. | (think) that all politicians tell lies. 6. |
(think) about my girlfriend. She’s in New York at the moment. 7. Be quiet! |
(watch) my favourite programme. | always (watch) it on Thursday evenings.
8. John’s not at home. He (see) the doctor about his sore throat. 9. | (see) the
problem but I can’t help you. 10. This room (be used) usually for big meetings.

But today it (be used) for a party.

Exercise 3.12. a) Role-play the dialogue.
A: What do you do?
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B: I’m an interior designer. | decorate people’s houses, and give them ideas for
furniture and lighting.

A: And what are you doing at the moment?

B: Well, now I’m working on a house. I’m working on a hotel. I’m designing a

new dining room for the Hilton.

b) Work in pairs. Make up similar dialogues with some of the jobs below.
For ideas: a film director, a mechanic, a football manager, an artist, an architect,

a ski instructor, a journalist, a travel agent, an actor, a farmer.

Exercise 3.13. Choose the Past Simple or Past Continuous Tense.

I met / was meeting a friend while | did / was doing the shopping. | paid / was
paying for my things when | heard / was hearing someone call my name. | turned
/ was turning round and saw / was seeing Paula. She wore / was wearing a bright
red coat. We decided / were deciding to have a cup of coffee. While we had / were
having a drink, a waiter dropped / was dropping a pile of plates. We all got / were
getting a terrible shock. While the waiter picked / was picking up broken plates,
he cut / was cutting his finger. We left / were leaving the café and said / were
saying goodbye. | finished / was finishing my shopping and went / was going

home.

Exercise 3.14. Change the Infinitive in brackets into the respective
Continuous Tense.

1. Now a new railway (be built) between two cities. 2. Last year in June they
(construct) a tunnel through the mountain. 3. Now they (install) new equipment
at their laboratory. 4. When | came the problem (be discussed). 5. When our group
was in London a new deep-level tunnel (be completed) there. 6. The director (be
reported) the news when | entered the room. 7. Yesterday at the meeting this man
(sit) near me. 8. The day before yesterday from ten to half past eleven the students

(work) in the chemical laboratory.
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Exercise 3.15. Tom wants you to visit him but you are very busy. Look at
your diary for the next few days and explain to him why you can’t come. (Use
the Present Continuous for arranged actions.)

Tom: Can you come on Monday evening?

You: Sorry, I’d love to but I’'m playing volleyball ...

Tom: What about Tuesday evening then?

You: | can’t I’m afraid. ...

Tom: Well, what are you doing on Wednesday evening?

You: ...

Tom: I see...

Exercise 3.16. What are these people going to do? Write sentences using the
words: vet, actress, pilot, interpreter, chief, teacher, lawyer, athlete.

Model: Frank and I are learning to fly. — We 're going to be pilots.

1. Lisa loves children. She ... . 2. Maria’s good at languages. 3. Mary’s at drama
school. 4. Sue and Peter are studying law. 5. Anna loves animals. 6. Bill cooks

very well. 7. Bob can run very fast.

Exercise 3.17. Translate the following sentences.

1. 3 kUM po3MoOBIIsA€ Baml ToBapuin? — BiH po3MOBIsSE 3 HAIIUM YYHUTEIICM.
2. Kynu Bu mizere BBeuepi? — Mu nimeMo o nmapka. 3. Konu 3aa3B0HUB TenedoH,
BOHU 00roBOproBaiy 11e mutanHs. 4. O mecsaTii paHKy BiH TOTYBaBCS 710 ICTIHTY.
5. 51 He poOuB 3ammucu, KOJMW BIH YUTaB JIeKiito. 6. Yu Oyne BoHa 3aiMaTucs
aHrmicekor 3 9 no 11? 7. He Tenedonyii it 3aBTpa, BOHa OyJie TOTYBAaTHCS 10
iciuty. 8. Illo OyayroTe Ha oMy Oepesi piuku? 9. Mu He 3HaIM CBOIX OIIHOK,
TOMY IIIO HaIlll KOHTPOJIbHI 1€ TIEPEeBipsITH, KOJTU MU MUK 3 iHCTUTYTY. 10. Un
4acTo BH BifBigyere cBoix npy3iB? 11. lllo Bu mumere? — Mu numemo cioBa
CbOMOT0 ypoky. 12. Bouu yacto nuinyTh gukTanTU? 13. XTO CTOITH 017151 BiKHA?

— Mos cectpa. 14. [lix yac ypoKy Haill yuuTenb CTOiTh Ou1st cToiy. 15. 3apa3 yce
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Olsblue oAl BUBYAIOTh 1HO3eMH1 MOBH. 16. Ll cTyeHTH 3apa3 BUBYAaIOTh HOBI

CJIOBA.

Present Participle (-ing)

Present Participle (Participle 1) — neocoGoBa ¢opma miecioBa, IO Mae
BJIacTUBOCTI jiecioBa 1 mpukmeTHuka (verbal adjective). Present Participle

BXOJUTh 1O CKJIaay Ji€ciioBa-mpucyaka 4aciB rpymm  Continuous,

BUKOPHUCTOBYIOTh 1 CAMOCTIMHO y QYyHKIIAX O3HAYEHHS Ta OOCTaBUHHU.

QyHuryis Micye y peuenni
a reading girl (mepen o3HauyBaHUM CIIOBOM) — JIIBUMHA, SIKA
O3HaueHHs
yuTae
O3HavanbHUN The girl reading a newspaper is our student (micis
JENPUKMETHUKOBUN 03HAuyBaHOTO cjioBa) — J[iBUnHa, sIka YUTAE ra3ery, Halla
3BOpPOT CTYJEHTKa
5 (When, while) Looking through the book she came across the
OOcTaBuHHUN o ] o
' 5 description of this process (na mouatky abo HaIPUKIHIl
J1E€MPUKMETHUKOBHI
peuenHs) — [lepernsiatoun KHUTY, BOHA HaTpanwia Ha OMKC
3BOPOT

nporo nporiecy (abo Konu BoHa meperisgana KHATY ...)

Bxoauts 10 ckimanay yaciB
rpymnu

Continuous

She is reading an interesting book (pa3om 3 gomomi>kHUM

niecioBoM be) — BoHa uuTae 1ikaBy KHUTY

Bxoauts y ckianne

JOITIOBHCHHA

They watched the ship approaching the shore — Boun

CIIOCTepiraju, K IMaporuiaB MmiaxoauB A0 Oepera

[Tpumitku: 1. Y pedeHHi JiENPUKMETHUKHA MOKYTh BUKOHYBATH (DYHKIIIFO BCTABHOT'O 3BOPOTY:

beginning with — nournarouu 3;

judging by — cyasumu 3;

speaking of (for) — rosopsiuu mpo (Ha KOPHCTH);

broadly (generally) speaking — roBopstuu B3araii;

strictly (roughly, frankly) speaking — ctporo (rpy6o, BiiBepTO) KakyuHu.

2. 3akiHyeHHst —iNg Moxe OyTH B IMECHHUKIB 200 MPUKMETHHKIB:

an interesting (burning) question — 1ikaBe (HEBiAKJIaHE) TUTAHHS;

a building — 6yznosa, mim.
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Exercise 3.18. Give the Present Participle of the following verbs and translate
them. Write word combinations with participles.
Build, grow, bring, obtain, find, produce, teach, return, tell, change, write, read,

make, speak, see, say, begin, offer, save, equip, get, take, burn, show.

Exercise 3.19. Translate the sentences with the Present Participle.

a) as an attribute

1. The locomotives developing high speeds are used to draw passenger trains.
2. Ballast supporting the track structure is made of broken stone. 3. The engineers
taking part in the conference spoke about the latest achievements of our railway
engineering. 4. Countries facing the energy crisis have to introduce power-saving
technologies. 5. Most of trains running the service on suburban lines operate on

electricity.

b) as an adverbial modifier

1. Organizing international railway exhibitions we demonstrate the latest
locomotives, cars, modern machinery. 2. Discussing the project the engineers
spoke of its advantages. 3. The locomotive must develop a higher tractive effort
when drawing a heavy train. 4. When designing the Trans-Caspian Railway, the
engineers had many difficulties. 5. The scientists paid great attention to railway

electrification while working out the general development plan.

Exercise 3.20. Translate the following word combinations paying attention to

the Present Participle.
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A
npodecop, KU YUTA€E JEKIIII0
CTYJIEHT, IKHi1 BUBYA€E aHTIIICHKY
METOH, 110 MOKPAILYIOTh IIPOLIEC
JIBUMHKA, SIKa TTUTAE JOPOTY
1HXKEeHep, KU 3Ha€ 1HO3EMHY MOBY
JIIOJIMHA, SIKa IPONIOHYE CBOO
HOCIIYyTY
XJIOMYMKH, SIK1 TPalOTh Ha BYJIMII

JTUPEKTOP, SIKUM OJEPKYE JTUCT

B
BUBYAIOYH 1HO3EMHY MOBY
PO3yMIIOUH 1I€ TIPABUIIO
3HaXO/sIYM HOBI 3aCO00HU
nepeikpkalour Ha HOBY KBapTUPY
NEPEKIaIal0ul TEKCTH apaOChKOI0
JUBJISTYMCH HA HOBY KapTUHY
CTBOPIOIOYM HOB1 YMOBU

HarpiBaroy4 1o cymimi 10 50

rpajyciB

Exercise 3.21. a) Substitute the subordinate attributive clause for a clause
with the Present Participle.

Model: All the people who live in this house are students. — All the people living

in this house are students.

1. The woman who is speaking now is our secretary. 2. The apparatus that stands
on the table in the corner of the laboratory is quite new. 3. People who take books
from the library must return them in time. 4. There are a lot of students in our

group who take part in all kinds of extracurricular activities.

b) Substitute the subordinate adverbial clause for a clause with the Present

Participle.

Model: As he felt more at ease, the man spoke in a louder voice. — Feeling more
at ease, the man spoke in a louder voice.

1. Since he knew the man very well, Robert was not surprised to hear the news.
2. As she thought that he would be offended, Ann decided to tell him nothing.
3. Since he needed a shelter for the night, Peter decided to go to the neighbour’s

house.
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Exercise 3.22. Rewrite sentences using the information in brackets.
Model: That girl is Australian. (She is talking to Tom.)

The girl talking to Tom is Australian.

1. A plane crashed into the sea yesterday. (It was carrying 28 passengers.)
2. When | was walking home, there was a man. (He was following me.) 3. | was
woken up by the telephone. (It was ringing.) 4. At the end of the street there is a
path. (The path leads to the river.) 5. Some paintings were stolen from the palace.

(They belong to the Queen.)

Exercise 3.23. Rewrite the sentences, using one of the following words and a

participle clause with —ing.

while when after by on since

Model: He finished work and went home. — After finishing work, he went home.

1. He read a book and ate his supper. 2. He worked hard and saved a lot of money.
3. | came to live in the country a few years ago. | now realise how much | hated
living in town. 4. He graduated from the university, and went off to work in
Australia. 5. When you go abroad, it is advisable to take out travel insurance. 6. |
came across a wonderful book. I was browsing in our local bookshop. 7. | worked
hard, and | managed to pass all my exams. 8. When you open a tin, be careful not
to cut yourself. 9. When we heard the weather forecast, we decided not to go

camping in the mountains.

Exercise 3.24. Translate the sentences using the Present Participle.

1. CtyneHntu, ski bazcamo 3aumaromscsa aH2iliCbKo, 3MOXKYTh PO3MOBIISITH ITIEI0
MOBOIO 4Yepe3 11Ba poku. 2. Posmosnawouu 3 [lempom, MU pO3TISIHYIU Oarato
npobnem. 3. Iuwyyu oukmanm, s 3poOUB IeKiTbKa TOMIIIOK. 4. BiH po3MOBIIsB
TUXO0, 00 OOSIBCSI MOTYpOYBaTH JiTEH, AKi cnaau B CyCimHii KiMHaTi. 5. [lpayrooyu
3 yumu IHJiceHepamu, BiH Ji3HaBcsA Oarato IikaBoro. 6. Ciayxarouu jaexyiro

npocghecopa, s1 3anmcaB JSKiIbKa 3alTUTaHb, SIKi S 30MpaBCsS B HHOTO CITUTATH.
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PRONOUNS

OcoboBi
IIpucsiiini 3BopoTHi
Ha3uBHi 006’ exTHi
Xmo? Komy? Yomy? Yuu? Yua? Yuu? Yua?
Ax? (cam)
]o? Kozo? Hozco? (3 iMeHHUKOM,) (camocmiiino)

I me my mine myself
you you your yours yourself
he him his his himself
she her her hers herself

it it its its itself
we us our ours ourselves
you you your yours yourselves
they them their theirs themselves

Exercise 3.25. Fill in the gaps with the appropriate pronouns.

1. We go to ... University every morning. 2. The first train carried freight. But ...
also carried passengers. 3. ... doesn’t work at her English hard. 4. ... took their
luggage and went to the station. 5. Our friends like to travel. This year ... have
visited many European countries. 6. We’re staying at a very nice hotel. ... room is
very comfortable. 7. He is going to invite all ... friends to the party. 8. Do you
think that most people are happy in ... jobs? 9. These are my friends. ... names
are Ann and Victor. 10. The company has ... head office in Kyiv. 11. Put on ...

coat when you go out, it’s very cold.

Exercise 3.26. Choose the right word.

1. Is this your / yours book? 2. It is their / theirs problem, not our / ours. 3. That
Is not my / mine umbrella. My / Mine is yellow. 4. They know our / ours address
but we don’t know their / theirs. 5. My / Mine room is bigger but her / hers is
nicer. 6. Is this camera your / yours? 7. They’ve got two children but | don’t know

their / theirs names.
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Exercise 3.27. Finish the sentences with myself / yourself etc.

Model: | cut myself with a knife.

1. Be careful! That plate is very hot. Don’t burn ... 2. I’m not angry with you. I’'m
angry with ... 3. They never think about other people. They only think about ...
4. When people are alone they often talk to ... 5. | got out of bath and dried ... with
a towel. 6. He fell off the ladder but he didn’t hurt ... 7. 1I’d like to know more
about you. Tell me about ... (one person) 8. Goodbye! Have a good holiday and
look after ... ! (two people) 9. Ann had a good holiday. She enjoyed ... 10. | don’t
want you to pay for me. I’ll pay for .... 11. If you want more tea, help.... 12. They
decorated their house.... 13. The film... was not good but I liked the music. 14. |

don’t think Victor will pass the exam. He... doesn’t think he’ll pass it.

Exercise 3.28. Translate the following sentences.

1. Moi niapy4YHHUKY JiexKaTh HA CTOJI1, @ HOTO — Ha IMBaHi. 2. Y MEHE Ay»Ke cTapuil
HiIPYYHUK. Y HbOMY HEMA€ 11’ SITO1 BIIpaBH. 3. Y4opa BOHU B3sJIM HaIlll )KypHAIIH
1 3auImuiad HaMm c¢Boi. 4. Mos KHMKKa AK€ BaKKa Il MEHE, a MOro KHUra —
nerka. 5. 5 4yB 1e Bij JOAWHH, sKa Oyna Tam cama. 6. [lornsHp y a3zepkaiio, T
cebe He Bmi3zHaem. Tu qyxe Opynuwuid. [liqn momuiics. 7. S 3aBxau rotyro cooi
CHIJTaHOK caM. 8. BiH mepekiaB 1110 CTaTTio caMOCTIHHO. 9. Bonu 30yayBanu e

niM cami. 10. BoHa Biguysa cebe 30BCiM MOJIOOFO.

Use of It

1. 3amiHsg€e 3rajaHuii paHilie IMEHHUK-HEICTOTY, MEPEKIaaioTh 3aJIEKHO BiJl
HAOro rpaMaTUYHOTO POAY.

Where is my book? — It is on the table.

Jle most xaura? — BoHa Ha cToi.
2. BUKOpUCTOBYIOTH SIK MIAMET UM JOJIATOK, MEPEKIAAAIOTH SIK ye.

It is a magazine. — Ile xypHaur.

| am going to do it. — £ 30upatocs me 3pooUTH.
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3. BuxopucroByots Ak QopManpHui abo 0e3oco0oBuil miAMET (HE
MEPeKIIaatoTh).

It is spring now. — 3apa3 BecHa.

It is getting dark. — Crae TemHo.

It is five o0 clock now. — 3apa3 n’sita roauHa.

It is dangerous to drive so fast. — HeGe3meuno i34uTH TaK IIBHIKO.

It often rains in late autumn. — HanpukiHI oceHi 4acTo He JIOIII.
4. EmbartuuHa KOHCTPYKIIis It is (was) + eusnauanvue croso + that (who, which,
when). [epeknanaroTh K came, ye, K pas.

It was yesterday when | met her at the concert. — Came B4Opa 51 3ycTpiB ii
Ha KOHIIEPTI.

It was in Kyiv that | ran into my old friend. — Came B KueBi s BumaakoBo
3yCTpiB CBOTO CTapOTO JIpyTa.

It is our group which will participate in the competition. — Ile (Came)

Hallla rpyna OpaTuMe y4acTh Y 3MaraHHi.

Exercise 3.29. Translate the following sentences.

1. Where is my suit? — It is in the wardrobe. 2. It is the book of a well-known
English writer. 3. Have you watched this film? — No, | have not. But | am going
to do it. 4. Look at this building. It is the highest building in our city. 5. It is
important to learn new English words every day. 6. It is hard to learn this subject
In a short time. 7. It is known that new railway will connect two big cities. 8. It is
no use missing lessons. It would be difficult to pass the exam. 9. It was the railway
that became the shortest way from Europe to Asia. 10. It is the railways that are
the most popular means of travel. 11. It was only yesterday when we discussed
the plan of work at the project. 12. It gets dark early in winter. 13. It was raining

cats and dogs. 14. It got colder.
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Exercise 3.30. Paraphrase the following sentences using the emphatic
construction It is (was) ... that (who, which).

1. George Stephenson built the first steam-powered railway between Manchester
and Liverpool in 1829. 2. Climatic conditions made the construction of this line
difficult. 3. In 1891 the construction of Trans-Siberian railway began. 4. The first
steam trains opened up a new era in transportation. 5. Railways are the safest and
the most popular means of communications. 6. Differences in the track gauge
cause problems for international traffic crossing the borders. 7. All new high-

speed lines in Japan are built on slab track support systems.

Exercise 3.31. Complete the sentences. Use it’s + A + to + B.
A B

difficult, dangerous, easy, impossible, | see you again, wear, understand-him,

nice, stupid, easy meet people, go out alone, sleep, save

Model: It’s easy to understand him because he speaks very slowly.
1. ..., Jill. How are you? 2. ... at night. There is always a lot of noise. 3. A lot of
cities are not safe. ... at night. 4. If you haven’t got a well-paid job, ... money. 5. ...

warm clothes in hot weather. 6. Everybody is very friendly in this town. ... .

This/ These That / Those
- s MroJiei abo pedeid mopyd i3 HaMmH. - 7151 JTroieit abo pedeid, siKi 3HaXOASIThCs Ha
These shoes over there are mine; Bizcrani Big Hac. That chair over there is

- JUIs TO3HAYCHHSI CUTYalliil y HacTynHoMy | broken;

abo maitbyTHpOMY 4aci. | 'm going to - JUTsl TIO3HAYEHHS CUTYyalliil y MUHYJIOMY

Disneyland this month; gaci. We had a wonderful Christmas that

- KOJIM 3HAXOJUMOCS B MICIIi, TIPO SIKe year;

rosopuMo. This room is very untidy. (The - IS TOTO 11100 BiJiCIIATH JI0 YOTOCh, 110

speaker is now in the untidy room); sragyBajiu panime. ‘She failed her exams.’
That’s bad’;
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- JUIS TOTO 1100 MO3HAWOMMTH JIFOJCH OUH | - KOJIM, PO3MOBIISIOUH 110 Tene(oHy, MU
3 OIHUM a00 MPEJCTaBUTHUCH 110 Tele(OoHy. 3alUTYEMO, XTO TOBOPHUTH 3 HAMH.
‘John, this is Ann.’ ‘Hello? This is Jo. Who s that speaking?’

‘Hello? This is Pam speaking’

Exercise 3.32. Put this, these, it or they into the gaps.
Model: A: Bob, this is my mother.
B: Hello, Mrs Smith.
1. Take ... bags into the kitchen. 2. I don’t like ... music. 3. Is ... book John’s? —
Yes, ... is. 4. Are ... books Mary’s? — Yes, ... are. 5. How much are ... glasses? —

...re very cheap. 6. ... exercise is very easy. — No, ... isn’t. ...’s difficult.

Exercise 3.33. Put that, those, it or they into the gaps.

1. Is ... your brother over there? 2. Look at ... beautiful flowers! 3. What’s ... in
your bag? 4. Is ... house Ann’s? — Yes, ... is. 5. Are ... boys your brothers? Yes, ...
are. 6. How much is ... hi-fi? —...’s $350. 7. Do you like ... shoes? — No, | don’t.

... re horrible.

Exercise 3.34. Translate the following sentences.

1. 3apa3 3uma. 2. Fomy 6y10 BaKKO HepeKIafaTH L0 CTATTIO, 0O BiH He 3HAB
Oarato cmiB. 3. Tak AuBHO, IO HOMYy HE croj00anocs MoaopoXyBatu. 4. Y
KIMHATI JIy’Ke TeMHO, 1 1 He 0ady, 110 3HAXOUThCI B JATbHROMY KYTKY. 5. Ham
I[IKaBO MOTOBOPUTH 3 HUM. BiH ydopa moBepHyBcsa 3 AHrmii. 6. 3apa3 mocta
roguHa. ['agato, 1yxe pano OyauTH ioro. 7. Bam Oyne mpreMHO mob6adnuTy Hale
Micto. BoHo myxe 3minmnocs. 8. S 3Haro, 1o HoMy Ba)KKO HAaBYATHUCS B IHCTUTYTI
1 mpamoBati Ha 3aBoji. 9. CrymeHtam Oyno JIETKO PO3MOBJISTH 3 HUM

anrmiricekoro. 10. Tyt gyke crieKoTHO, i HE Tak?
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KinbkicHi Hopsakosi
Cardinal Ordinal
1-one the first
2 - two the second
3 - three the third
4 - four the fourth
5 - five the fifth
6 - six the sixth
7 - seven the seventh
8 - eight the eighth
9 - nine the ninth
10 - ten the tenth

NUMERALS

KinbkicHi Hopsaakosi

Cardinal Ordinal
11 - eleven the eleventh
12 - twelve (a dozen) the twelfth
13 - thirteen the thirteenth
20 - twenty (a score) the twentieth
21 - twenty-one the twenty-first
100 - one (a) hundred the hundredth

1000 — one (a) thousand the thousandth

0 - (BrE) -nought, (AmE) - zero, (po3m.) - oh

101 - one hundred and one (books)

1001 - one thousand and one

1235 - one thousand two hundred and thirty-five = twelve hundred and thirty-five

2, 045, 328 - two million forty-five thousand three hundred and twenty-eight

Fractions

Ilpocmi opobu

Lecamkosi Opodou

Y/, - a half (half of a kilometre)
Y5 - athird (third of a ton)

Y4 - a fourth, a quarter

Y5 - a fifth

%[5 - two thirds

1Y/, - one and a half

3/, - three fourths, three quarters

0.2 - point two
1.56 - one point five six
3.5 % - three and half per cent

1 % - one per cent

3anam’araiire:

* y IBa pasw, 1Ba pasu - twice
* y Tpu pasw, Tpu paswu - three times

* y wotupm pasu - four times

* pa3 - once
* mapa - a pair, a couple

* mrokuHa - a dozen
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* y wotupu pasu Buiie - four times as high | * niBaroxunu - half a dozen

* y ... pasu Bute - yucaienux + fold

The reaction was accelerated tenfold. — Peakuist npuckopunacs y 10 pa3is.

Mathematical operations
7 + 3 =10 seven plus (and) three equals (is) ten
9 - 8 = 1 nine minus eight equals one
10 x 3 =30 ten times (multiplied by) three equals (is, makes) thirty
20 : 5 =4 twenty divided by five equals (is) four

Measurement
3m x 4m - three meters by four meters
5 cm? - five cubic centimetres
60 mph - sixty miles an hour (per hour)
5 cm? - five square centimetres

50 mpg - fifty miles per (to) the gallon

Numbers of telephones, buses, etc.
Tel: 14 — 07 — 44 one-four-oh-seven-double four
in Room 203 = room two-oh-three
to take bus 67 = sixty-seven

on page 305 = three hundred and five = three — [ou] five.

Dates
BC = Before Christ — 1o PizaBa XpucToBa, 10 Haioi epu (10 H. €.)
AD = anno domini = Hamoi epu (H. €.)
1900 — nineteen hundred
1806 — eighteen oh six
1999 AD - nineteen ninety-nine [ei di:]
2000 BC — twenty hundred, two thousand [bi: si:]
2002 — two thousand (and) two, twenty hundred and two
2015 — twenty fifteen
GB: 3" January 1998 = 3/1/98 = the third of January nineteen ninety-eight
US: January 3, 1998 = 1.3.98 = January the third, nineteen ninety-eight.
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Time

Yac 0o 12 °° ous nosnauarome —a.m., nicas 12 % ons — p.m.

GB us Formal
7.00 |seven o’clock, seven a.m. seven hundred hour
7.03 |three past seven three after seven seven oh three
7.15 |a quarter past seven a quarter after seven seven fifteen
7.30 |half past seven half after seven seven thirty
) ) ) twenty-five minutes before _ _
7.35 |[twenty-five minutes to eight | seven thirty - five
eight
7.57 |three minutes to eight three minutes before eight |seven fifty-seven
midday, noon twelve hundred hours
12.00 ——
midnight twenty-four hundred hours

Exercise 3.35. Read the numerals.

1) 5; 15; 50; 51; 12; 20; 11; 112; 201; 10; 446; 376; 267; 6,000,000; 0.85; 5.3;
0.6; Y3; 7 Yg; Yo; 414, 1,234; 1.234.

2) 1,005 students; 5,400,000 coins; 6.75 miles; by bus 9; in room 218; the 3"time;
506 samples; 4,790 magazines; 627 hryvnias; on page 733; by tram 27; on the 12%"
day.

3) The 1% of January; on July the 16", 1661; on August the 2", 2002; at the end
of 1789; in early 1990s; on June 18, 1997; on December 31, 1991; on the 8" of
July; at the beginning of 1770; in late 60s.

4) 5.4 tons; 2/ of an inch; 0.2 pound; 9,152 gallons, 26.5 ounces; %/ of a mile;
0.1 foot; 7.89 grams.

5) The thirtieth kilometre, the second hour, the eleventh night, the eightieth year,
the hundredth passenger, the first day, the sixteenth locomotive, the second

proposal, the twentieth coach, the fifth floor.

Exercise 3.36. Change cardinal numerals into ordinal.
6; 60; 7; 8; 18; 82; 9; 19; 91, 12; 100; 103; 300; 425; 705; 2,000, 7,056.
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Exercise 3.37. Translate and read the word combinations.

a) 4 motoro 2001; 25 tpaBus 1837; 17 cepnns 1907; 8 uepBHs 43 p. H. €.; y YEpPBHI
305 p. H. e.

b) 50 ¢ynris; 300 aBromMoO1NiB; 61 (HyHT; MBA MUIBHOHU TOHH; COTHI IIYXJIST;
TUCAYl Jrojel; 281 monap; JeCATKH MOJICMEHIB; IIICTh TUCSY TPUBEHB; I STh

BalllMX KHUYKOK; TPOE MOIX JIPY3iB.

Dozen, hundred, thousand i million ve mMaroTs 3akinueHHs —S micias yucia, few
a6o several.
Three dozen bottles, a few hundred times, several million pounds.

aire: We 've got dozens (of) bottles. She made millions in the property market.

Exercise 3.38. Put in dozen(s) (of), hundred(s) (of), thousand(s) (of) or million(s)
(of).

1. He had to sign his name five (hundred) times. 2. We export 40 (million) tons a
year. 3. | just need to borrow a few (hundred) pounds. 4. I’ve told you (million)
times. 5. (Thousand) refugees are flooding into the country. 6. Could I have two

(dozen) eggs?

Exercise 3.39. Say the following.
1. Your telephone number. 2. Your date of birth, your relatives’ date of birth.
3. The approximate population of your home village (town, city) and your

country. 4. The floor where your apartment is.

SPEAKING

Exercise 3.40. Complete the three telephone conversations. Use the phrases

from the box. Role-play the dialogues.
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No, itisn’t. I’ll just get her.
Can | take a message?

Great! See you on Sunday at ten. Bye!
Never mind. Perhaps next time. Bye!

This is Jo speaking.

I’ll ring back later.

I’m having a party on Saturday. Can you come?
Can | speak to the manager, please?

I. A: Hello. Can I speak to Jo, please?

B: ..

A: Oh! Hi, Jo. This is Pat. I’m just ringing to check that Sunday is still OK for
tennis.

B: Yes. That’s fine.

A

B: Bye! See you soon.

I1. A: Hello. Is that Liz?

B: .

A: Hello. Liz here.

B: Hi, Liz. It’s Tom. Listen! ...?

A: Oh sorry, Tom. | can’t. I’m going to my cousin’s wedding.
B: ..

A: Bye!

I11. A: Hello. Barclays Bank, Chasswood.

B: Hello. ...

A: Hold on. I’ll put you through ... I’m afraid Mr Smith isn’t in his office. ...?
B: Don’t worry. ...

A: All right. Good bye.
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WORD BUILDING

Noun Suffixes: -ity, -ty, -ship

Adjective Suffixes: -ous, -ive, -y
Verb Suffixes: -ate, -en

Exercise 3.41. a) Form nouns by adding — ity (-ty) to the adjectives.
Model: active (adj) — activity (n) (akmuenuii — axmuenicms)
Capacious, certain, various, curious, human, fatal, stupid, public, able, equal,

regular, extreme, possible, probable, desirable, responsible, domestic, absurd.

b) Form collective nouns by adding —ship to the following nouns.

Leader, apprentice, owner, relation, professor, citizen, member, friend, author.

Exercise 3.42. a) Form adjectives by adding —y to the following nouns.
Grass, star, rain, velvet, chalk, room, water, foam, snow, fog, frost, wind, silk,

mist, sand, slang, milk.

b) Form adjectives by adding —ive to the verbs and translate them.
Collect, reflect, respect, attract, prevent, construct, oppress, communicate, create,

imitate, regulate, interrogate, illustrate, alternate, demonstrate.

Exercise 3.43. Define the nouns from which the following adjectives are
formed and translate them.
Melodious, murderous, dangerous, spacious, righteous, anxious, religious,

joyous, thunderous, famous, mysterious, nervous, jealous, adventurous.

Exercise 3.44. Name as many derivative words from these verbs as you only

can.

Graduate, facilitate, activate, accumulate, sanitate, legislate, originate, agitate,

indicate, circulate, dedicate.
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V. UNDERGROUND RAILWAYS

Discussion:  Advantages and Disadvantages of City Transport
Main Text:  Underground Railways
Supplementary Text A: Light Rail as Modern Solution for Large Cities
Supplementary Text B: Kharkiv Underground
Supplementary Text C: News in Brief about World Metros
Grammar: Perfect Tenses

Perfect Continuous Tenses

Past Participle

Pronoun One

Attributive Groups
Speaking: Social Expressions
Word Building: -ic, -al, -an; -age, -th, -ee; -ize, -(i)fy; en- (em-)

DISCUSSION

Exercise 4.1. a) Think about the advantages and disadvantages of city
transport. Fill in the table comparing different means of public
transportation in terms of their efficiency, cheapness, accessibility, comfort,

speed, etc.

Kind of transport Advantages Disadvantages

Underground
Light Rail

Tram

Trolley-bus

Bus

Taxi

b) Tell your story supporting it with the examples of your own logistics

throughout the day.
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Exercise 4.2. In groups discuss the following questions.
* What do you know about the history of the underground?
« Have you heard about Light Metro? What is it like?
* How old is the Kharkiv metro? What anniversary has it celebrated recently?
« Ifyou know any interesting facts or stories about underground systems, share

this information with the group.

READING
mean (meant, meant) — v o3Ha4aTu, po3yMiTH

average — adj cepeaHii, cepeHs BeIUYHHA

adult — adj nopocnuii

fear — v 6ostucs, moboroBaTHcs; N 00A3HB, MOOOIOBAHHS, CTpaX

besides — adv kpim Toro

cause — V CHOpUYMHSTH, NPU3BOJUTH 0, BHUKIWKath; cause discomfort —
CHPUYMHATH HE3PYUHOCTI

cost — n mina; construction cost — 1ina OyAiBHHIITBA

narrow — adj By3bkuii

wonder — n 3aMBYyBaHHs, 4y[0; V JMBYBaTHCS, IikaButucs; wonderful — adj
JTUBOBHXHUM, Uy JOBUI

fill — v manosuroBatw; full — adj moBHui

introduce — v BipoBaKyBaTH

frequent — adj gacrwuii; v [fri kwent] gacto BinBigyBatu, OyBaTh; frequency — n
YaCTOTHICTh

spread (out) — v po3noBcroKyBaTH(CS)

follow — v iitu ciinom 3a

currently — adv tenep, y meii yac

reason — n nmpu4ynHa

traffic congestion — TpanciopTHe NepeBaHTaKEHHS, 3aTOP
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environment — n HaBKOJMIIHE CepepOBUINE; environment protection — 3axucr
HABKOJIMIIIHROTO  cepenoBuimia; environment pollution — 3a0pynHenHs
HABKOJIHUIIHBOTO CEPEIOBHUIIA

annual — adj piuauii, mopivHUH

employ — V BUKOPHCTOBYBATH, 3aCTOCOBYBATH

CoNversion — N mepeBecHHS, IePeXiT

conventional — adj 3Buuaiinuii, Tpa UIiHMIA, Syn COMMON

cheap — adj nemesuii

reliable — adj namiitanii

vehicle — n TpancniopTHHii 3aci0

promise — v obirstu; promising — adj 6araTooOilsIbHAN, TEPCIIEKTUBHU N
carrying capacity — npomnyckHa CIpOMOXHICTb

allow — v no3Bonsartu

feed — v mocTauaTH, migABOANTH, KUBUTH

claim — v 3asBIsATH, CTBEPIKYBATH

equip — vV obiaaHyBaTH

prevent (from smth) — v He qomyckaTH, CTpUMYBaTH

pay attention to — nmpuaiasaTH yBary

Light Rail — cucrema mMicbKkoro peikoBOro TpaHCIOPTY («JISTKHI TPaAHCIIOPT))
urban — ajd micekwuit; suburb — n mepeamicts, okoJIHII

dedicated lines — cnemianizoBani jiHii; Syn purpose-built lines

approach — v mabmmwxkarucs, TiaxXoauTH; N MiAXiT, METO

quiet — adj TuxuH, CIIOKIMHAN, HETOJIOCHHH

avoid — v yaukatu

compatible — adj cymicHwmii

emit — vV BUIIPOMIHIOBATH, BUALUIATH; €MiSSION — N BUIIPOMIHIOBAHHS, BUKH/I
remarkable — adj 3naunuii, BumaTHuii; remark — n 3ayBakeHHsI, BUCIIIB; V ~ ON

IOMIYaTH, BiJIMIYaTH, BUCJIOBIIIOBATHCS.
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Exercise 4.3. Change the words in italics into their synonyms from the active
vocabulary.

The typical resident of a big city, grown-up citizens, to declare one’s rights on the
property, commuter trains, to bring electric traction into use, to be afraid of getting
deep under the ground, to send out much pollution, purpose-built high-speed line,
to result in the increase of carrying capacity, common types of cars, to use the
latest technologies, to permit automated metros to operate safely, to comment on
some important issues, the most advanced transportation means, city rail mass

transit network.

Exercise 4.4. Complete the sentences with the verbs introduce, frequent, warn,
fill, emit, pay attention and claim.

1. He poured her a drink, then ... his own glass. 2. It is important to ... to the
questions of safety on railway transport. 3. The company ... that their product
‘makes you thin without dieting’. 4. | ... you not to walk home alone. 5. Let me ...
myself. 6. The bar was ... by actors from the nearby theatre. 7. The Earth ... natural

radiation.

Exercise 4.5. Read and translate the following word combinations.

By turns, to reduce construction costs, no wonder, a sardine-box-railway, to make
engineers introduce electric traction, when put into service, much more frequent
services, to be finished in marble, to be treated as a kind of art, renewal of
equipment, ticketing machines, passenger carrying capacity, driverless systems,
high-capacity heavy metros, glass safety door barriers, warning light and sound
systems, to use codes in the rails, compatible with pedestrian environments, low-
floor light rail vehicles, urban rail mass transit network, to get across town

quickly, for added security, more than twice as many.
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UNDERGROUND RAILWAYS

Metro has always meant more to the city than a way to get to work and back home.
During its long history it has been, by turns, the city’s lunchroom, library,
dormitory, shelter, chapel, bazaar, concert hall, hospital and even maternity ward.
It is calculated that the average resident of a big city spends more than a year in
the metro over the course of their adult life.

(2) The first underground passenger railway was opened in London in 1863.
It was the Metropolitan Railway, only 3.75 miles (6 km) in length. At first,
Londoners feared to get deep under the ground. Besides, this new and strange way
of travel caused discomfort for passengers. The tunnels were made as small as
possible in order to reduce construction costs. The coaches themselves were small
and narrow. No wonder that people called this underground line a ‘sardine-box-
railway’. The small windows in the trains were made in the roof so that passengers
could see nothing. The oil and gas lamps used gave little light, so passengers had
to take candles with them. Steam locomotives filled the tunnels with steam and
smoke. It was this discomfort that later on made engineers introduce electric
traction. When put into service, electric trains eliminated steam and smoke and
ensured much more frequent services for passengers.

(3) Since that time underground railways have spread rapidly all over the
world. London Metropolitan was followed by metros in Budapest, Berlin, and
Paris, and later on in the rest of Europe, North and South America, Japan, China,
and India. About 180 cities in 56 countries currently have metro networks,
carrying more than 150 million passengers daily. The reason for metro building
Is the same as 100 years ago — traffic congestion and environmental protection.
According to the statistics, the London Underground (LU) is the oldest and
longest (415 km) metro system in the world, while the Tokyo Subway is the
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busiest, with 3.2 billion annual passengers (more than twice as many as the New
York Metro).

(4) Modern underground railways offer more comfort and better service for
passengers. Metro operators around the world employ the latest technologies in
such spheres as architecture treated as a kind of art, safety systems, automatic
driving and ticketing, etc.

The top priority task is the conversion of conventional metro lines to full
automation. Automatic operation has a number of essential advantages: it is
cheaper and more reliable than manual; it will use less energy; it will need fewer
vehicles and operate shorter trains more frequently; and, finally, it promises better
service and passenger carrying capacity.

(5) A key concept with driverless operation is the safety and security of
passengers, and this is where most of the innovations are being made. The
automatic train operation system regulates train speed precisely, controls
acceleration and breaking, activates on-board passenger announcements, unlocks
doors at stations, and operates the trains so that energy is saved. A platform track
intrusion detection system has also been developed. The system is connected to
the ATC so that trains in the area stop automatically if any object larger than 30
cm in diameter enters the track area in stations.

(6) Today’s technology allows high-capacity heavy metros to operate
safely and efficiently under automatic control. The Victoria Line system in
London, the most fully automatic line now in operation, uses codes in the rails for
both safety signalling and automatic driving. Code systems feed information to a
central computer, which calculates where the train should be at any given time,
and instructs the train to slow down, speed up, stop, etc.

(7) The new automated high-speed line Meteor of the Paris Metro system
claims to be the forerunner? of the 21% century metro. It has the platforms
equipped with a glass safety door barrier to prevent passengers from falling onto

the line. The doors slide open in synchronisation with the train doors. The doors
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are also equipped with a warning light and sound system for deaf and blind
passengers. The control centre has full video monitoring of all station platforms
and the inside of trains for added security.

(8) The optimum solution for a typical large city will inevitably be a
multimodal mix3. Therefore, in recent years great attention has been paid to
developing the so-called Light Rail. There are now more than 400 light rail
systems in about 50 countries, with a further 100 planned. Light rail is a modern
form of public transit, combining the qualities of both tram and metro. Electric
trains made up of 2 to 4 cars carry passengers along certain routes in urban areas
as well as neighbouring suburbs. The trains run in dedicated lines, either in the
medians of city streets or in exclusive right-of-ways*. They stop at stations located
every half-mile and trigger® traffic lights to turn green on their approach so that
the trains only stop at stations.

Light rail acts as an efficient, quiet, smooth, and comfortable alternative to
get across town quickly, avoiding congestion. Light rail trains are good
neighbours; they are more compatible with pedestrian environments® than roads,
emit no pollution and are only as noisy as a private car. Disabled” and old people
are able to travel just as easily as everyone else — station platforms are at the same
level as the floors of the trains (or there exist special low-floor light rail vehicles).

(9) Metros are of crucial importance for efficient, sustainable mobility in
cities worldwide. Today’s demographic, economic and environmental factors
mean that it is essential to go on developing urban rail mass transit networks in
big cities. The next 100 years could very possibly be more remarkable than the

metro’s first century [1, 10, 13].

L finished — 031061€Hi.

2the forerunner — monepeHUK.

$a multimodal mix — equna iHTerpoBaHa TPaHCIIOPTHA Mepeka.
4 exclusive right- of-ways — crienianizoBaHi cMyru BiBeieHHS.
® trigger — mym BMMKAIOTh, IEPEMUKAIOTh.

® pedestrian environments — mimoxiani nepexou.

" disabled — inBamim.
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Exercise 4.6. Answer the following questions.

1. Where was the world’s first underground railway built? 2. What made people
think about the construction of underground transport? 3. Why did people
experience many discomforts in the early London Metropolitan? 4. What
advantages did electric traction have when introduced on underground railways?
5. How many cities in the world have metro systems? 6. What are the Tokyo
Subway and the London Underground famous for? 7. What innovations have been
introduced in metros lately? 8. How is the safety of driverless operation provided?
9. What unique features does the high-speed line Meteor in Paris have? 10. Where
are the automated lines in use now? 11. Why is the automatic operation system
better than manual? 12. What is the Light Metro? 13. How many countries have
the light metro? 14. What are the distinctive features of the light rail? 15. What

are the advantages of the light metro in a modern big city?

Exercise 4.7. Translate the word combinations in brackets.

1. Metro is defined as (rniozemna 3aniznuuna cucmema) in which trains run in
(mpy6u) under the earth. 2. (Ilepesanmadsicenns pyxy) was already felt in the
streets in the middle of the 19" century. 3. (Ilepwa nacascupcvka niozemna
saniznuys) was opened in London on the 10 of January, 1863. 4. This new and
strange way of travel (3asoasas) many discomforts. 5. The steam locomotives
(3anosniosanu myneni napom wu oumom). 6. Electric trains (ycynynu) steam and
smoke and (zabeznevunu 6inow weuoke) service for passengers. 7. The Victoria
Line system in London is the most (nosunicmio asmomamuzosana ninis) NOW in
operation. 8. Light rail is a modern form of public transit, (sxa noeonye sixocmi

Mpameas. ma mMempo).

Exercise 4.8. Agree or disagree with the following statements. Give your

arguments according to the text.
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1. Metro has always meant a way to get to work and back home. 2. The reason for
having underground railways in every major city is traffic congestion. 3. Public
didn’t experience any discomfort while travelling by early metros. 4. Automatic
driving hasn’t been introduced widely yet. 5. Light rail connects neighbouring
suburbs with the centre of a city. 6. Light rail trains aren’t compatible with
pedestrian environments. 7. Disabled people and senior citizens can’t travel
independently by this friendly form of transit. 8. Station platforms are at the same
level as the floors of the trains (or there exist special models of low-floor light rail

vehicles).

Exercise 4.9. Choose one of the topics and make up a short story based on the
text and any additional source of information.

» The world’s first underground.

» Metros worldwide.

« Automated underground systems.

« The Light Metro.

Supplementary Text A: LIGHT RAIL AS A MODERN SOLUTION FOR
LARGE CITIES

(1) Big cities worldwide face the same problem. The capacity of the street
network is not enough for cars, trams and buses, while underground systems are
too massive and expensive outside the city centre. Light rail combining the
benefits of a tram, metro and commuter train is seen as a modern solution to this
eternal problem of city congestion.

(2) Conventional rail technologies including high-speed, freight,
commuter/regional, and metro/subway/elevated urban transit systems are
considered to be ‘heavy rail’. Light rail or light rail transit (LRT) is a form of
urban rail public transportation that generally has a lower capacity and speed than

heavy rail, but higher capacity and speed than traditional street-running tram
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systems. The term LR was devised in 1972. ‘Light’ in this context is used in the
sense of ‘intended for light loads and fast movement’, rather than referring to
physical weight, since the vehicles often weigh more than those on the so-called
heavy rail systems. The investment in infrastructure is also usually lighter than
would be found for a heavy rail system.

(3) Modern light rail technology has primarily German origin because the
Germans did not destroy the tramway systems as had happened especially in the
USA and UK after World War 11, but developed them into model light rail systems
(Stadtbahnen). All large and most medium-sized German cities maintain light rail
networks.

(4) There are two general types of LR. Firstly, there is the traditional type
where trains run along the streets sharing space with road traffic (usually in the
dense city centre). And secondly there is the type where trains run along their own
right-of-way and are separated from road traffic, but still have to comply with
traffic laws. There are many LR systems which have a combination of the two,
with both on-road and off-road sections. LR can also be elevated or routed through
tunnels where the street area is already used. A combination of these is used to
match local conditions and helps to increase both the capacity and the speed of
LR.

(5) In practice, LR is characterised by the following features.
* [t works in the tunnels as a metro.
* On its own right of way, it works like a train.
* On the streets it works like a traditional tramway or a bus.
* On the market squares and other pedestrian areas, it works much like an old-
fashioned slow streetcar or coach.
(6) LR usually operates electric trains since they are fast, quiet, and non-
polluting. These trains may be powered with overhead cables, or through the use
of a third rail. LR is often networked with commuter rail, subway, and buses. It

usually runs at set intervals or times to match other means of transport.
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(7) The main advantage of LR is that it is cheaper and more flexible since
it can be operated on the road with mixed traffic. It has a much simpler signalling
than heavier rail systems, often relying on the driver. When it is running along a
highway it can be given priority at signalised junctions.

(8) A derivative of LRT is Light Metro. Such railways are characterised by
exclusive rights of way, advanced train control systems, short headway capability,
and floor level boarding. These systems approach the passenger capacity of full
metro systems, but can be cheaper to construct.

(9) It’s hard to find a city in America or Europe that isn’t planning,
proposing, studying or actually building a LR system. There are now more than

400 LR systems in about 50 countries, with a further 100 planned.

Exercise 4.10. a) True or false? Give the correct version.

1. LR is a form of suburban rail transit. 2. LR was introduced to help cities cope
with traffic congestion. 3. LR can only use dedicated right-of-way. 4. Metro, LR
and trams are tightly interlinked in a city traffic network. 5. Only megapolises can

afford LR. 6. The term LR, as opposed to heavy rail, refers to light capacity [1, 10].

b) Answer the questions.
1) When and why was Light Rail developed?
2) How does LR differ from heavy rail? from traditional trams?
3) What types of Light Metro do you know?
4) What are the specific features of Light Rail?

Supplementary Text B: KHARKIV UNDERGROUND
(1) Kharkiv was the second city in Ukraine to have a metro. At the
beginning of the 70s the transportation problem in Kharkiv became very acute.
The surface transport couldn’t cope with growing passenger turnover. The

situation was complicated by the relief of the city, its narrow central streets and
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large-scale construction of new residential areas in the outskirts of Kharkiv. The
only way out was the construction of the Kharkiv Metropolitan system.

(2) There were two variants under consideration: the ordinary underground
only for urban transportation and the other variant, which would provide for the
possibility for metro trains to come out to suburban railway sections. No matter
how promising the second project seemed, it would have required a new rolling
stock, longer platforms and tunnels of greater diameter while the construction
technologies didn’t allow doing this.

(3) In August 1975 the first section of Kharkiv underground was put into
operation. While constructing the underground a number of developments and
innovations were applied. On the Saltovskaya line the first in the former USSR
experimental metro bridge of original construction was built over the river
Kharkiv. It was a closed type bridge, 336 metres in length, which connected the
Barabashova and the Kievskaya stations. In the centre of the city the underground
line crossed the Kharkiv and the Lopan rivers and ran under the railroad tracks of
Southern railway.

(4) Nowadays, the Kharkiv underground has three autonomous lines,
almost 40 km in length, with 26 stations. These lines cross in three change
stations. Annually, the underground handles 250 million passengers. It is
equipped with the latest machinery and has a perfect air-conditioning system,
which makes the Kharkiv underground one of the most reliable and convenient

underground systems in Ukraine.

[borrowed from different articles presented in WikipediA The Free Encyclopedia]

Exercise 4.11. Translate the word combinations in brackets.

1. At the beginning of 70s the surface transport (re mie 6nopamucs) with growing
(nacasicupoobicom). 2. The situation (yckraowniosanacs) by the relief of the city.
3. The first variant, (wempononimen ons enympiwnbomicokux nepegezensv), Was
chosen. 4. The (nepwa cexyis) of Kharkiv underground was (zanmywena 6

excnayamayiio) in August 23, 1975.
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Exercise 4.12. True or false? Give the correct version.

1. The surface transport could cope with growing passenger turnover at the
beginning of the 70s. 2. There were three variants of the Metropolitan system
under consideration. 3. The first experimental underground bridge of closed type
was built over the Dniper river. 4. Three lines of Kharkiv underground cross in

four change stations.

Exercise 4.13. Project.
* In groups of three or four discuss the possibilities of extending Kharkiv
Metro lines. Where can they emerge into the open and be transformed into
Light Rail?
 Imagine yourself being the main architect of ‘Kharkiv Metro Project’.

Name your own stations and present your sketches of station interior.

Exercise 4.14. Here you will find information about the network of
underground systems in major cities all over the world. Which is the oldest,
youngest, longest, shortest of them? Which of them has the largest or smallest

number of stations?

City Year OT Length (km) Numt.)er of Daily riders
construction stations
London 1863 408 273 2,99 min
New York 1868 373 468 4,33 min
Paris 1900 213 380 4,05 min
Chicago 1892 166 151 542,000
Tokyo 1927 304 290 8,7 min
Berlin 1902 147 195 1,39 min
Seoul 1974 287 348 5,61 min
Washington 1976 171 90 611,000
Shanghai 1995 420 278 3,56 min
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Exercise 4.15. Read the text and summarise in a few sentences the most

interesting facts about the mentioned underground systems.

Supplementary Text C: NEWS IN BRIEF ABOUT WORLD METROS
* New York’s subway celebrated its centenary in 2004. You can assess
the New York subway in purely numerical terms — track-km (1377), daily trains
operated (6700), employees (48,000), annual capital investment ($US 2 billion).
Unlike most other metros, NY metro has local and express tracks that form one

seamless transport network [10].

« Hamburg Metro has put into operation the first two of a new generation
of environmentally-friendly Metro trains. These trains are claimed to be up to 92
% recyclablel. This has been achieved by using a practicable dismantling?
concept, using environmentally-friendly materials and chemicals without
increasing the weight of the trains, and by reducing the number of the materials
used [10].

! recyclable — mosTopHO BUKOpHCTaHMIA.

2 dismantling — po36upaHHs, TeMOHTAX.

* Nuremberg Metro is the first metro in the world which converted a
manually-operated line to full automation in spring 2006. It has equipped two
metro lines with a fleet of 30 two-car driverless trains. A number of firsts are

claimed for this project:

the first driverless metro to be built in Germany;

the first operational metro line to be converted to driverless operation;

the first combined operation of driverless and manned trains [10].

Meteor, the first fully-automated metro line in Paris, is equipped with
driverless trainset®. The commercial speed of 40 km/h is highly attractive as

compared to the 20-25 km/h achieved on conventional lines. This gives a capacity
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of 40,000 passengers per hour in each direction, by far the highest capacity of any
fully automated system of public transport in the world. From this perspective, an
automated metro is perhaps ideally suited to serving routes like a sports stadium
or concert arena. This automated line will increase passenger capacity on one of

the busiest transport corridors through the heart of Paris [10].

3a trainset — cexiist morsra.

» The International Association of Public Transport (UITP) predicts
that more and more cities worldwide will open its fully-automated driverless
systems. They have been around for more than three decades but until recent years
the applications have mainly been peoplemovers* in airports, port areas, or
connectors to residential areas. Now both heavy and light metros extensively use
driverless systems (Heavy Metros: Paris Meteor, Nuremberg (U1/U2), Lyon Line
D, etc. Light Metros: Copenhagen, London Docklands, Toronto (Scarborough),

Vancouver SkyTrain.

“a peoplemover — peiikosuii aBTOGYC.

Exercise 4.16. Project. Make a presentation about any modern underground
system of your choice. Surf the Internet to present your own project with

maps, photos etc.

GRAMMAR
PERFECT TENSES
Active Passive
have + Past Participle (-ed) have + been + Past Participle (-ed)

) ) The letter has been written by a
| have just written the letter.
Present _ secretary.
She has already written the letter

All the letters have been written
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We had written the letter before )
) The letter had been written before you
Past you came to the office (by 6 )
came in (by 6 o’clock yesterday)
o’clock yesterday)

. They will have written the letter | The letter will have been written by 6
uture
by 6 o’clock tomorrow o’clock tomorrow

Present Perfect Tense
1. Mis BigOymnacs 10 TENEpiltHLOTO MOMEHTY, Yac 3/I1IMCHEHHS 1l HE BKa3aHUU.
| 've met a lot of famous people (before now).
She has written twenty books (up to now).

SIk11o BKa3zaHW yac, KOJIM Oya 3JiMCHEHA Jisl, BXXMBAIOTh Tibku Past Indefinite.

| lost my key the day before yesterday.

Jim went to Canada in 1999.
2. Jlis BimoOpaxkye HeaaBHIN JOCBIT Oyb-40T0 (4acTo 3 MpUCIiBHUKaMU NEVer,
ever, lately, recently).

Have you ever been to China?

We have never had a car.
3. Jlis 3aKiHYWIaCch y HEJJABHROMY MUHYJIOMY 1 Ma€e 0€3MocepeiHIi pe3yabTaT y
TEHEPIIHLOMY Yaci (4acTo 3 npuciaiBHukaMu just, already, siki 3a3Budaii CTOSATH
IiCTIsl JOTATKOBOTO J1€CIIOBA, 1 Yet, 0 CTOITh HANPUKIHII Ta BYKMBAHUM TUIBKU B
NUTAIBHUX 1 3aMEPEYHUX PEUCHHSX).

| 've lost my wallet. (I haven’t got it now)

Jim has gone to Canada. (= he is in Canada or on his way there)

Would you like something to eat? — No, thanks! I have just had lunch!

Don 't forget to post the letter, will you? — | have already posted it!

Has Ben come yet? — ben Bake npuiimon?

They have not completed it yet. — Boru mie He 3aKiHYHIH T1€.
4. Jlis moyasacs B MUHYJIOMY 1 TpUBa€ 3apa3 (4acto 3 oOcTaBUHAMH dacy Since ta

for).
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| 've lived here for twenty years (since 1995; since | left school). — S xxuBy
TYT JBaJLSATh POKIB.

Axne: | lived there for twenty years. (I don’t live there now).

How long have you worked as a teacher? (you still work there).
5. 3 oocraBuHamMu vacy this year, today, this week, this term (sixro i nepioau
Yyacy He 3aKIHYWINUCS 10 MOMEHTY FOBOPIHHS).

Ron hasn 't studied very much this term.

| haven't seen Tom today. Have you?

Past Perfect Tense

Jii, mo BiAOyBaIKUCh 1 3aKIHUWIIKCS JI0 SIKOTOCh MOMEHTY abo0 1HIIO1 J1i B
MHUHYJIOMY.

| had translated the article by five o clock.

George didn’t want to go to the cinema with us because he had already
seen the film twice.

It was my first time in an airplane. | was very nervous because |_hadn't
flown before.

Future Perfect Tense

MaiiOyTHi aii, ki OyAyTh 3M1MCHEHI 10 IEBHOI'O MOMEHTY a00 MEeBHOT il
B MailOyTHHOMY, BUPAXKCHO 3a JOIIOMOTO0 IpUAMEHHIKA DY.

By the time you get home, I will have cleaned the house from top to bottom.

They will have finished by tomorrow afternoon.

Exercise 4.17. Match a line in A with a line in B.

A B
Joe is happy because he has just burnt the meal.
Richard is sad because he has just got some good news.
Tim is worried because his girlfriend has gone away on business.

Malcolm is excited because | his daughter hasn’t come home yet.

Ken is annoyed because his wife has just given birth to a baby.
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Exercise 4.18. Fill in just, already or yet into each gap.

Model: I’m not hungry. I’ve just eaten my lunch.

1. Peter hasn’t phoned ... and its ten o’clock. 2. Tina’s ... told me that you won.
Congratulations! 3. We’ve ... seen that film — it was on last week. 4. Have you
been to the doctor ...? No, | haven’t. 5. Lock the door! I’ve ... seen her coming up
the path. 6. Careful! She’s ... passed her driving test. 7. Has the postman been ...?

8. Yes, he’s ... been. He was here a long time ago.

Exercise 4.19. Open the brackets, using verbs in the Present Perfect or Past
Simple Tense.

1. 1 (live) in London for eight years, and | don’t want to move. 2. He (live) in
Oxford for two years, and then in 1993 he (move) to London. 3. The rain (stop)
and the sun is shining in the sky again. 4. The rain (stop) half an hour ago. 5. Mary
(buy) a new flat. 6. I (buy) a pair of gloves yesterday. 7. We (meet) Ann and Paul
three years ago. How long you (know) them? 8. Alex (meet) his friend two hours
ago. 9. We just (discuss) our new plan. 10. | (see) Peter today. 11. | (not see) you
for a long time. | (see) you in the town two or three days ago, but you (not see)

me. | (be) on a bus.

Exercise 4.20. Complete the sentences with a verb from the box. Use the

Present Perfect Tense.

break, buy, firish, do, go, go, lose, paint, read, take

Model: ‘Are they still having a dinner?’ ‘No, they have finished.’

1.1 ... some new shoes. Do you want to see them? 2. ‘Is Tom here?” ‘No, he ... to
work.” 3. ‘... you ... the shopping?’ °No, I’m going to do it later.” 4. “Where is
your key?’ ‘I don’t know. I ... it.” 5. Look! Somebody ... that window. 6. Your
house looks different. ... you ... it? 7. | can’t find my umbrella. Somebody ... it.
8. I am looking for Sarah. Where ... she ...? 9. ‘Do you want the newspaper?’ ‘No,

thanks. I ... it.’
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Exercise 4.21. Answer the following questions using the words in brackets.
Model: When did you last smoke? (for two years) — | haven't smoked for two
years.

1. When did it last rain? (for ages) 2. When did they last visit you? (since June)
3. When did you last play tennis? (for a long time) 4. When did you last drive?
(six months) 5. When did you last go to Spain? (never)

Exercise 4.22. Read the news story and put the verbs in brackets into the
Present Perfect or Past Simple (Active or Passive).

The Loch Ness Wallet
14 years ago Spanish tourist Gaspar Sanchez (drop) his wallet into the waters of
Loch Ness in Scotland. His passport, his car keys, his business card and his money
(lose) in 150 m of water. This week the phone (ring) in Senor Sanchez’s Barcelona
flat and a Scottish policeman told him, “Sir, your wallet (find)! It (discover) last
Sunday on the bed of the loch by some scientists in a submarine looking for the
Loch Ness monster!’
Senor Sanchez said, ‘The whole thing is absolutely amazing. Apparently, my
wallet and its contents (put) in the post to me already. | should get them tomorrow.

I can’t believe it!’

Exercise 4.23. Complete the sentences in three different ways, using your own
ideas. Write sentences using the Past Simple, Past Continuous, and Past

Perfect.

1. When the car broke down... we had just passed a small village.
we were driving from our country
house.

the driver phoned the company

2. When I finally got to the airport...
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3. When we climbed to the top of the

mountain. ..

4. When the police arrived at the
hotel...

Exercise 4.24. Put the verbs into the Past Perfect or Past Simple.

1. The house was very quiet when | got home. Everybody (go) to bed. 2. | felt
very tired when | got home, so | (go) straight to bed. 3. Sorry I’m late. The car
(break) down on my way here. 4. There was a car by the side of the road. It (break)
down and the driver was trying to repair it. So we (stop) to see if we could help.
5. ‘Was Tom there when you arrived?’ — ‘No, he (go) home.” 6. ‘Was Tom there

when they arrived?’ — Yes, but he (go) home soon afterwards.’

Exercise 4.25. Use the Future Perfect to put the beginnings and ends together.
BEGINNINGS ENDS

I (not finish) the report by Monday, | and we’ll be able to get a smaller

house.
In a couple of years the children and it’s needed for Monday morning.
(leave) home ... | (drive) for fourteen hours non-stop.
On our next wedding anniversary ... | | (work) for forty years.
When | get home tonight ... we (be) married for twenty-five years

When I retire ...

Exercise 4.26. Translate the sentences paying attention to different meanings

of for and since.

for: ons; ynpooosoic; 3a; ockinvku

1. The unusual phenomenon occupied the boy’s thoughts for hours. 2. See what |
have for you, my boy. 3. For a few years Albert Einstein lived in Prague. 4. His
unexpected arrival was a great surprise for everybody. 5. In 1993 our Institute was

given the status of the Academy for great successes in training specialists for
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railway transport. 6. Einstein always answered all students’ questions, for there

were no foolish or simple questions for him.

since: 3; 3 mux nip (sK), 60, OCKiTbKU

1. Since the Moon is the nearest body to the Earth, we know more about it than
about any planet. 2. Since that time, the railway has become the most popular
means of transport. 3. Since the atomic structure became known, many chemical
processes became much cheaper. 4. He left for Spain and we have not seen him

since. 5. Since | can’t say anything for sure, I’ll make no comments so far.

Exercise 4.27. Work in pairs. Make questions by choosing a beginning from
A to a suitable ending from B below. If possible, ask and answer further
questions, giving details, as in the example.
Q: Have you ever lost your luggage?
A: Yes, | have.
Q: Where did you lose it?
A: I lost it when | flew to Berlin last year.
Q: Did you get it back?
A: | got it back in the end, but | had to wear the same clothes for a couple of days.
A B
Have you ever travelled abroad (on business)?
Have you worked ever had?

How often have you had an interview?

How many times have you
Where’s the furthest you’ve

What’s the worst journey you’ve

missed a flight or connection?
been ill this year?

been late for class this year?

had a serious argument at home?
ever travelled?

in this company for long?

lost your job?
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PERFECT CONTINUOUS TENSES

have + been + Present Participle (-ing)

He has been writing a letter since this morning. —
Present )
Bin nume et 3paHKy

He had been writing a letter for two hours when | came. —

Past
BiH nucaB IHCT ypoOJOBXK JABOX TOIMH J0 TOTO, SIK 51 IPUHIIOB

. He will have been writing a letter for two hours when | come. — Bin
uture

MHCAaTUME JIUCTA BIIPOAOBXK JBOX F'OJUH MEPE TUM, SIK 5 IPUKTY

Present Perfect Continuous
1. Jlii, siki movanucsi B MUHYJIOMY 1 TIIBKU 3aKIHYMIIHCS.
You are out of breath. Have you been running?
That man over there is bright red. I think he has been sunbathing.
2. JIii, siKi movayivcs B MUHYJIOMY Ta I1le TPUBATUMYTh HA MOMEHT FOBOPIHHS.
How long have you been learning English?

| have been waiting here since 2 o clock.

Past Perfect Continuous
Jii, mo moyanucs 10 MEBHOTO MOMEHTY B MHUHYJIOMY 1 TPUBAJIHM JIO IHOTO

MOMEHTY.
Ken had been smoking for 30 years when he finally gave it up.

| was very tired when | arrived home. | had been working hard all day.

Future Perfect Continuous
JIii, 0 MOYHYTHCSA O MEBHOTO MOMEHTY B MalOyTHbOMY 1 TPUBATHUMYThH IO

IBOTO MOMCEHTY.

On Saturday, we will have been living in this house for a year. — ¥ neninto
OyJe piYHULIA, SK MU )KHBEMO B I[bOMY OYJIUHKY.

Next year | will have been working in the company for 30 years. — ¥V

HacTynHoMy potii 0yae 30 pokiB, SIK sl IPAIO0 B 11 KOMIIAHI.
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Slkmo uacu rpynu Perfect Bka3yroTh Ha daxT 3amiicHeHHs [ii, To yacu rpynu Perfect
Continuous Bka3yrTh Ha TPUBAIICTb Jii.

They have lived in London for 10 years (JItoquna Bka3ye Ha Te, 110 BOHU XHUBYTh Yy JIOHIOH]).
They have been living in London for 10 years (JIronuua Bka3ye Ha Te, sIK JOBI'O BOHH )KUBYTh

y JlonmoHi).

Exercise 4.28. Match a line in A with a line in B.
A B

_ She is furious.
Ann has been sunbathing. o _
) She has got paint in her hair.
She has been shopping. _ _
o She is crying.
She has been working in the garden.
) Her back hurts.
She has been reading for hours.
) ) She hasn’t got any money left.
She has been watching a sad film. _ _
N She is a bit burnt.
She has been waiting for hours. _ _
_ She is soaking wet.
She has been doing the housework. _
_ The house smells of onions and
She has been decorating the bathroom. '
_ garlic.
She has been cooking.

_ ) Her eyes hurt.
She has been bathing the children.

Everything is spotless.

Exercise 4.29. Choose the correct verb form.

1. How long has Angela been living / does Angela live in Paris? 2. She has been
finding / has found a good job. 3. Alan has been / has gone to South America.
4. Angela has bought / bought her flat a few months ago. 5. How long has she
known / has she been knowing Jean-Pierre? 6. Tom worked / has been working as
a postman for a month. 7. He has visited / has been visiting ten museums today.
8. He is tired because he has travelled / has been travelling around London all

day.
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Exercise 4.30. Write full questions using the Present Perfect Simple or
Continuous form.

1. How long / you / write / that report? — About 6 hours. 2. How many reports /
you / write? — Six in total. 3. Have / you / wait / a long time? — Yes, about an hour.
4. Where / he / live? — In five different countries. 5. Where / they / live? — In
France since last year. 6. Who / she / interview / all morning? — Candidates for
the post of receptionist. 7. How many / they / interview / this morning? — Two

people. One of them from Vietnam.

Exercise 4.31. Put the verb in brackets in the appropriate tense.

My wife and I (live) in our present house in the country for five years. We (move)
here after our second child (be) born. We (live) in town for ten years, and (decide)
that as soon as we (can) afford it, we (move) away from the smoke and the noise
of the city centre, which we finally (do) in 1985. We never (regret) it. We (be)
reminded of the wisdom of our decision every morning when we (draw) the
curtains to see open fields stretching before us. When the children (have)
breakfast, they (rush) outside to play, which they (do) whatever the weather.
Whilst they (play) outside, we somehow manage to start the day.

Exercise 4.32. Fill in with the appropriate past form.

Indefinite | Continuous Perfect Perfect Continuous

Past | took | was taking | | had taken I had been taking

In 1894 a steamship (sail) across the Atlantic Ocean from England to America.
The sun (shine) and a gentle breeze (blow). The ship (sail) for three weeks and
was halfway to its destination — New York. The passengers (relax) on deck when
suddenly they (hear) a loud bang. They all (jump) up, (run) to the edge of the boat
and (look) over the side. To their horror they saw that they (hit) some hard object

which (tear) a hole in the side of the ship. Water (pour) into the steamship at an
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alarming speed. Fortunately, another ship arrived half an hour later, just in time

to save everyone on board.

Exercise 4.33. Translate the following sentences.

1. 4 nikonu He O0yB y Kuesi. 2. 5 He Oauy ioro 3 noneainka. 3. Hacrtana 3uma, 1
TEnep MU 3HOBY OyZeMO 4acTO XOJUTH Ha KoB3aHKY. 4. BoHa Oyna 3quBOBaHa:
HIKOJIM paHillle He Oaumia CTUIbKM KBITIB. 5. KoiM s MpOKUHYBCS, MaTh BKe
rotryBajia CHiIaHokK. 6. Bu xonu-neOynp 6aunnu neit pinem? — Hi. 7. 5 3nato, 110
BOHA MPALlO€ HAJl LIIE€I0 CTATTEIO BXKE TpH THXKHI. 8. TH BXKe CKJlana HapeuTi CBOi
peui? Takci Bxke J1ecaTh XBWIMH Yekae Outs mia’i3ay. 9. S 3Hao 110 KIHKY BXKe
kibka pokiB. 10. Konu BiH npuiioB 7010My, MU BXke My B KiHo. 11. CrarTio
mie He HanucaHo. 12. ro kHury OyJe nepexiaazgeHo A0 KiHI HaCTyIHOTO POKY.

13. Ile nuTaHHs BXKE BUPIIICHO.

PAST PARTICIPLE

Past Participle (Participle 1) — Heoco6oBa hopma miecioBa, 1110 Ma€ BIACTHBOCTI
niecimoBa i npukMmetHuka (verbal adjective). Past Participle BxoauTs 10 ckiamy
miecimoBa-pucyaka vacie rpynu Perfect, Passive Voice, BUKOPHCTOBYIOTh I

CaMOCTIHHO y QYHKIIISX O3HAYEHHS Ta OOCTaBUHHU.

Use of Past Participle

The constructed railway was 15 miles long (nepen o3HadyBaHuM
CII0BOM). — 30yToBaHa 3ai3HuLs Oyna 15 MIIb JOBKUHOIO.
O3HaueHHsS The railway constructed carried heavy traffic (micms
03HA4YyBaHOTO clIOBa). — 30yJ0BaHa 3alli3HUILIA 3/11HCHIOBAIIA

BEJIMKUI 00CST MepeBe3eHb

O3HavaibHHI The house built in our street has simple and severe lines (mics

TIEMPUKMETHUKOBUI | 03HAUyBaHOIo clioBa). — by IuHOK, 30y10BaHuil Ha HaIiil ByMIli,

3BOpPOT Mae MpOoCTi Ta YiTK1 JiHii
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When built, this house will be the highest in our street. — Konu

OO6cTaBuHHUN
) _ | mif mim 30yyr0Th, BiH Oy/1€ HAWBUIIMM Ha HAIIIA ByJIHLII.
TIEMPUKMETHUKOBUN _
Metal bars become longer if heated. — Meranesi 6pycu
3BOPOT

MOJIOBXKYIOTHCSI, SIKIIO X HATPITH

Bxoauts B yci wacu | That house was built two years ago (miciist 1omoMiXXHOTO

MACHUBHOTO CTaHY niecioBa be). — Toii nim OyJi0 30y10BaHO JBa POKH TOMY

_ The construction firm has recently built a house in our street
Bxoauts B yc1 yacu
(micast moromixkHoOro giecioBa have). — s OyaiBenbHa dipma
rpymu Perfect _
HEIOAaBHO 30y/TyBaja OyJMHOK Ha HAII¥ BYJIHUII

Exercise 4.34. Give the Past Participle of the verbs and write word
combinations with them.
Build, grow, bring, obtain, find, produce, teach, return, tell, change, write, read,

make, speak, see, say, begin, offer, save, equip, get, take, burn, show.

Exercise 4.35. Translate the sentences paying attention to the Past Participle.
1. She put a plate of fried fish in front of me. 2. The coat bought last year is too
small for me now. 3. Nobody saw the things kept in that box. 4. My sister likes
boiled eggs. 5. We stopped before a shut door. 6. They saw overturned tables and
chairs and pieces of broken glass all over the room. 7. This is the church built
many years ago. 8. The books written by Dickens give us a realistic picture of

19th century England.

Exercise 4.36. Compare the pairs of sentences and define the function of
participles.

1. The steam locomotive invented by George Stephenson developed low speed. —
When invented, the steam locomotive played an important part in transportation.
2. The first railways built used slow locomotives. — The railway, when built, will
shorten the way between two cities. 3. The rails heated by the sun become longer.
— Rails become longer when heated. 4. The trains drawn by horses were short and

light. — When drawn by electric locomotives, the trains may have more than 90
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cars. 5. The radio used for the sorting of trains makes the work of railwaymen

much easier. — If used, the electronic computers will make the sorting of trains far

more efficient.

Exercise 4.37. Read and translate the word combinations paying attention to

the Participle.
A

all developed countries;
the information obtained recently;
the railway built between the two
towns;
help offered by the teacher;
the lecture delivered by a well-known
person;
the research made in the laboratory;
the film shown to the students;

the letter sent to his parents

B
KHHTA, siKa OyJia 3aJIMIIeHa JI0Ma;
METO/I, BIIPOBAPKCHUIA Ha
BUPOOHUIITBI;
CTaTTsl, MepeKIiajieHa JCKITbKOMa
MOBaMHU;
JlaH1, oJiep KaHi B OMEPETHHOMY
TECTI;
ICTIUTH, CKJIQJICHI MUHYJIOTO THXKHS;
TECT, 3alPOIIOHOBAHUI BUIATHUM
YUCHUM;
peui, 3HaieH1 B madi;

EKCIIEPUMEHT, MPOBEJCHUN PETEIHHO

Exercise 4.38. Rewrite the sentences. Each time use the information in
brackets to make an -ed clause.
Model: The man was taken to hospital. (he was injured in the accident) — The man

injured in the accident was taken to the hospital.

1. The window has now been repaired. (it was broken in the last night’s storm)
2. Most of the suggestions were not very practical. (they were made at the
conference) 3. The paintings haven’t been found yet. (they were stolen from the
museum) 4. Did you hear about Bob’s car? (it was damaged badly this morning

in the car crash)
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Exercise 4.39. Choose the necessary form of the Participle.

1. We listened to the girl (singing, sung) Ukrainian folk songs. 2. We listened to
Ukrainian folk songs (singing, sung) by the girl. 3. The girl (washing, washed)
the floor is my sister. 4. The floor (washing, washed) by Helen looked very clean.
5. Who is that boy (doing, done) his homework at the table? 6. The exercises
(doing, done) by the pupils were easy. 7. The house (surrounding, surrounded)
by high trees is very beautiful. 8. The wall (surrounding, surrounded) the house
was very high. 9. The girl (writing, written) on the blackboard is our best pupil.
10. Everything (writing, written) here is quite right. 11. Do you know the girl
(playing, played) in the garden? 12. The (losing, lost) book was found at last.
13. Look at the beautiful flowers (gathering, gathered) by the children.

Exercise 4.40. Complete the sentences with participles from the following

verbs.

blow, call, tavite, live, offer, post, read, sit, study, wait, work

Model: None of the people invited to the party can come.

1. Tom has a brother ... in a bank in London and a sister ... economics at the
university in Glasgow. 2. Somebody ... Jack phoned while you were out. 3. All
letters ... today should arrive tomorrow. 4. When | entered the waiting room there
was nobody ... except for a young man ... by the window and ... a magazine. 5. A
few days after the interview, | received a letter ... me a job. 6. There was a tree ...
down in the storm last night. 7. Sometimes life must be very unpleasant for people

... hear airports.

Exercise 4.41. Translate the following sentences using participles.

1. Bona manma MeHi KHWXKKH, 632mi B OiOmioremi. 2. SI po3MOBISAB i3 HaIIUM
CTYJICHTOM, sKuti Opae ywacms y KoH(pepeHmii. 3. Bukmagad BiamoBiB Ha
3alUTaHHSA, W0 nocmasuau CTyneHT. 4. [Ipunecenutl BUKIagadeM XypHail OyB

Ty’Ke MiKaBuM. 5. [ omyroyuce 10 ICTIATY, S TPOYATAB 0arato KHUKOK, HANUCAHUX
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HallUMU BUKJaAadaMu. 6. Jlyxe LiKaBO YUTaTU TBOpH, HanucaHni JiTbMu. 7. Lle
MO1 JOMOBI/l, NPOYUMAHi MUHYJOrO poKy. 8. MU cTosuM nepes 3auuHeHumu
neepuMa. 9. BoHa mokaszana MeH1 mapacosibky, xkymiewy B Jlonmoni. 10. Meni

XOTLUIOCS 3a0yTH 1CTOPIIO, 5K BIH PO3HOGIE.

PRONOUN ONE

1. Bupaxae HeBU3HAUCHY 0CO0Y, MEPEKIATAIOTh sIK 0€30C000BUI1 3BOPOT.
One should say that making a timetable is a very complicated job. — Tpeoa
CKa3aTH, IO CKIAJaHHA PO3KJIaay — AYKE BaKKa po60Ta.
One can’t learn a language in six weeks. — He Mo)xHa BHBYHMTH MOBY 3a
IIICTh THXKHIB.

2. BUKOpUCTOBYIOTH JUIsl 3aMIHM paHillle 3raJlaHoro IMEHHUKA JJI1 YHUKHEHHS

noBTopy, micis the, the only, the main Ta every.

‘Is this your umbrella?’ ‘No, mine’s the big blue one (= umbrella).’ — «Ile
TBOS Mapacoibka?y «Hi, Most Benuka, cuHs (mapacosbka)y.
| think his best poems are his early ones (= poems). — I'agaro, 1m0 #oro
HaWKpallli TOeMH — 11€ paHHI (IIOeMH).
The only jokes I tell are the ones that I hear from you. — I numie po3mnosigaio

T1 aHEKJOTH, 1110 YYIO BiJ] Bac.

Exercise 4.42. Translate the following sentences.

1. One may say that studying foreign languages is hard work. 2. One must
understand that the work of a driver requires much experience. 3. One can expect
that a new metro line will be opened soon. 4. At the exhibition one could see the
last works of the famous artist. 5. At the conference one should mention the latest
achievements of the plant. 6. The only ones who will benefit are the shareholders.
7. One after another, tropical storms battered the Pacific coastline. 8. Great

pictures make one think.
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Exercise 4.43. Use the appropriate substitute words instead of italicised ones.
1. I think this department store is bigger than that department store. 2. These shoes
are less comfortable than those shoes. 3. My watch isn’t working well. | must buy
a new watch. 4. I’ve got a pair of black gloves but I must buy brown gloves to
match my new shoes. 5. | think my watch is ten minutes slow. What’s the time on
your watch? 6. This English book is too easy for me. Please give me a more
difficult book. 7. I don’t like these pictures. They’re too dark. | saw better pictures
in a shop in our street. 8. | think this show will be more interesting than the last

show.

Exercise 4.44. A asks B some questions. Use the information in the box to

write B’s answers. Use one in your answers.

B doesn’t need a car B has just had a cup of coffee

B there is a chemist’ in Mill road B can’t ride a bicycle

B hasn't got a pen B hasn’t got an umbrella

A: Can you lend me a pen? B: I’m sorry, | haven’t got one.
A: Would you like to have a car? B: No, I don’t ...

A: Have you got a bicycle? B: No, I can’t ...

A: Can you lend me an umbrella? B: I’m sorry, ....

A: Is there a chemist near here? B: Yes, ...

A: Would you like a cup of coffee? B: No, thank you, ...

ATTRIBUTIVE GROUP

Y ¢ysKii o3HAYCHHS MOXKIJIMBE BHKOPHUCTAHHS SK NPUKMETHHUKIB, TaK 1
IMCHHMKIB. | 0JTOBHUM ITO3HAYCHUM CIIOBOM Y TaKiii HU3Il IMCHHUKIB € OCTaHHIM

IMEHHMUK.
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Apmukno Imennux y poni o3nauenns Tlo3nauenuti imennux
The land transport
The land transport improvement
The land transport improvement | problem

life test — BunmpoOyBaHHs Ha CTPOK Ipaili

labour cost — Butpatu Ha poGouy cuiry

safety standard — crangapT, sIKHit BCTAaHOBJIIOE ITPaBHUJIa TEXHIKH OC3MEKH

College Science Improvement Program — Ilporpama BIOCKOHaJIcHHS HayKOBOI pPOOOTH B
konemkax (CILA)

emergency snow clearing — TepMiHOBe PO3YHIIICHHS CHITOBHX 3aMETiB

rail transport movement table — rpadik pyxy 3a1i3HUYHOTO TPAHCIIOPTY

Exercise 4.45. Find the headword of the word combinations and translate
them.

Automatic train operation system, a glass safety door barrier, low-floor light rail
vehicles, a platform track intrusion detection system, evening school, school
evening, oil output, the shoe factory, world disarmament conference, train duty
dispatcher, rail track maintenance, information control systems, flight navigation
equipment, traffic flow density control, school bus service, the research program
results, the traffic speed increase issue, the New York region newspaper ad, the
temperature limit determination device, the railway bridge reconstruction tender,
the household goods store sale, the London underground extension project, the
steam engine invention, solar energy accumulation process, the modern house
ventilation facilities, the deep sea current measuring device, the car speed
calculation formula, the high quality concrete sleepers, traditional ballasted track
design life, light rail public transportation, service and passenger carrying
capacity, high-capacity heavy metros operation, on-board passenger

announcements, urban rail mass transit networks.
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Exercise 4.46. Translate the word expressions using nouns.

Kam’stHa cTiHa, 3adi3HUNA MICT, TOPriBias Ha(TOK, PUHOK OAaBOBHM, ILIYKpPOBI
IUIAHTALlll, IHA BHYTPIIIHBOIO PUHKY, 3MEHIUEHHS I[IH Ha M’5ico, OaHKHOTa B
JECATh LIEHTIB, MIChbKa paJia, CTYI€HTChKUI I'YPTOKUTOK, 3aBOJIChKa JabopaTopis

BUINIPOOYBaHHS IBUTYHIB.

SPEAKING

Exercise 4.47. a) Social expressions. Match an expression in column A with a

reply in column B.
A
Mind your own business.
I’ve changed my mind.
Excuse me.
Mind the step.
Sorry!

Pardon?

| don’t care what he does.

It serves him right.
Here you are.
Come on!

What’s up?

It’s up to you.

Do you want this one or that

one?

Thank you.

Where t0?

| don’t feel very well.

Ouch! Too late.

| don’t mind. You choose.

Never mind. It doesn’t matter.

I’ll say it again for you.

Oh, no. | hate decisions.

Why? What did he do?

All right. All right. | didn’t mean to be
noisy.

Yes, can | help you?

What again?

That’s not very nice. | thought you two

were friends.

b) Compose short dialogues using these expressions.
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Exercise 4.48. a) Make up dialogues on the topic ‘Travelling in the city’.
Explain to a city guest how to get to their hotel (the centre of the city, some
monuments, shopping centres, theatres, etc). Use the expressions:

- Excuse me, how can I get to...?

- Is this the right way to...?

- It’s over there (not far from here; within 5 minutes” walk; next to; straight ahead;
two blocks away; round the corner; opposite the hotel; nearby).

-You’d better take a taxi.

- Is there a bus to the airport?

- It takes you ten minutes to get there on foot.

b) Translate the dialogue.

- Bubaute MeHi, K TPOUTH 10 ToTeNto «IHTYypuCT»?

- YHU3 1o 11 ByJHIli, MOTIM MOBEPHITH O11s1 cBITIIOhOpa 1 BM MOOAYUTE TOTEb.
- JIskyro.

- He Bapto mopasku. byapre oOepexHi, mepexoAbTe BYJIHIIO MO MiI3€MHOMY
nepexoy (pedestrian subway), Ha 1opo3i cuiabHUM pyX (the traffic is heavy).

- Bu nyxe no6pi.

WORD BUILDING

Adjective Suffixes: -ic, -al, -an

Noun Suffixes: -age, -th, -ee
Verb Suffixes: -ise (-ize), -(i)fy

Verb Prefix: en- (em-)

Exercise 4.49. Form nouns using the following suffixes and translate the
words formed:

-age: marry, use, root, herb, break, post, anchor, dose, wreck, mile, percent.

-ee: employ, assign, trust, address, present, grant, train, refuge, refer, consign, pay,

arrest, examine, interview, abandon.
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Exercise 4.50. Translate the pairs of words.
Long — length, dead — death, true — truth, strong — strength, breathe — breath, warm

—warmth, deep — depth, broad — breadth, grow — growth.

Exercise 4.51. Translate the verbs with -ise*, -fy suffixes and en- prefix.
Specialise, localise, generalise, standardise, popularise, realise, centralise;
simplify, glorify, purify, classify, horrify, falsify, personify, terrify, certify,
intensify, justify, electrify; encage, embed, embody, endanger, enable, enact.

*Iin AmEn the suffix -ize is used

Exercise 4.52. Form adjectives from the words using -an (-ian, -n).
Africa, Mexico, America, Scandinavia, Shakespeare, Hungary, Syria, Paris,

Australia, Arab, Crimea, Chile, Canada, crocodile.
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TOTATOK

ACTIVE VOICE

) Perfect Perfect
o Continuous )
Indefinite _ have + V-ed Continuous
be + V-ing )
(3d) have been + V-ing
V(s)
| write a letter. | | am writing a I have just I have been writing a
Present ) )
She writes a letter now written a letter | letter for an hour
letter
V-ed (2) B} _
| was writing a | said that I had .
| wrote a letter ) I had been writing a
Past letter when you already written
an hour ago. letter when you came
called me a letter
| worked hard
will +V _ _
] ) _ . I will have I will have been
I will write a I will be writing a ] .
Future written a letter | writing a letter for an
letter next letter at 5.
by 5 hour tomorrow
week
PASSIVE VOICE
Indefinite Continuous Perfect
be + V-ed (3¢) be being + V-ed (3¢) have been + V-ed (3¢)
o The letter is being The letter has been
Present | The letter is written _ _
written now written
) The letter was being He said that the letter
Past The letter was written _ _
written when you called | had not been written yet
) ) The letter will have been
Future | The letter will be written

written by 5 o’clock
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PRONOUNS

I you he she it we  you they
0co00Bi ) )

me you him her it us you  them

my  your his her  its our  your their
NpHCcBiiHi

mine yours his hers its ours yours theirs

3BOPOTHI Ta

myself, yourself, himself, herself, itself, ourselves, yourselves,

miICHII0BAIbLHI themselves

B3a€EMHI each other, one another

BKa3iBHi this (these), that (those), such, the same
NUTAJbHI who, whom, whose, what, which

BiHOCHI Ta

3’€AHYyBaJIbHI

who, whom, whose, what, which, that

HeBHU3HAYEHI

some, any, one, all, each, every, other, another, both, many,

much, few, little, either, no, none, neither
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FUNCTIONS OF MODAL VERBS AND EXPRESSIONS

USE PRESENT/FUTURE PAST
Ability He can read Arabic. He could/was able to read Arabic
when he was four (0is, wo
HOBMOPHOEMbCSL — 3010HICIb Y
MUHYTIOMY).
She’s able to run a marathon He was able to escape (oounuuna
0is)
Possibility He can win the race. (90 %
6neBHeHOCMI.)
They could still be at school. (50 % | She could have been killed in the
6n€6H€HOCmi; MOIHCIUBO, 60OHU We Yy car Crash_ (Ha wacms, 6oOHa
wiKoni.) BANUMUTIACS HCUBA.)
Tom may be studying in his room. He may have spoken to Jenny
(modce Oymu; 50 % 6nesnenocmi; yesterday. (Mooiciuso, 6in 2o6opus 3
MOIHCTTUBO, 8IH we H06qa€7}’ZbC}Z.) ﬂ?fceHHi.)
He might want some more food. He might have forgotten.
(40 % enesnenocmi, moscauso, sin (Mooiciugo, ein 3a6ye.)
basicae we noicmu.) It was likely that he had arrived
It’s likely that he will arrive the day before.
tonight. He was likely to have arrived the
He is likely to arrive tonight day before
Probability They will be home soon. (100 %

enesHenocmi, nepedbayennsi.)
Greg should win easily. (90 %
8nesHeHoCmi, 8iH nepemooice He3
3YCUIb, UUe 00 MaAubOYmMHb020.)
They ought to be home by now.
(90 % enesnenicmo,; nanesro, 6omnu

6yoyms yooma.)

He should have received his prize
by now. (Ha yeii uac sin, mosxcmuso,
oice 11020 00epacas.)

They ought to have arrived an
hour ago. (HaneeHo, BOHU BIHCE

npuixanu.)
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Logical She must be working. (90 % She must have been working. (7
assumption 6NEGHEHOCHII; 51 BNeGHEHUl, BOHA e 6NesHEeHU, WO B0HA NPAYEAld.)
npaye.)
She can’t be over forty. (7 She can’t have stolen the money.
6nesHenUll, wo il He Oinble SIK COPOK (A énesnenuil, wo 6ona e Kpana
POKig.) epowel.)
He couldn’t be at work (7 ne dymato, | He couldn’t have been at work
wo 6in Ha pooomi.) yesterday. (A ne oymaro, wo 6in 6ye
Ha pobomi suopa.)
Permission You can/can’t borrow my car. He wasn’t allowed to/couldn’t
(0o36in abo siomosa, negpopmanvruii.) | cross the border.
He was allowed to enter the
Could I use your phone? (6invw country (not: eeuld)
8giuUGe; 3anum 0036071Y.)
You may use the phone.
(thopmanvre, nadanus 003601y.)
Might | speak to Mr Jones, please?
(6invuwt hopmanvre, 3anum 003601y.)
I’m afraid you can’t/mustn’t see the
patient. (necpopmanvue; siomosa.)
Children may not be left
unaccompanied. (popmanvie,
BIOMOBA — NUCOMOBE NOBIOOMIICHHSL.)
Necessity I must buy a new jacket. (5 max | had to buy a new jacket. (7

68adicaio.)
He has to put some petrol in the car.

(HeobxiOHicmb 32I0HO 3 308HIWHIMU

obcmasunamu O moeco, Xxmo 2o60punits.

I’ve got to go to the bank now.
(neghopmanvhe.)

My car needs repairing. or My car
needs to be repaired. (ye neobtxiono.)
They don’t have to/don’t need
to/needn’t come if they don’t want

to. (siocymmuicme neobxionocmi.)

nosuuex 6y8.)
Since his car was being repaired

he had to go to York by train.

| had to go to the bank yesterday.

My car needed repairing. or My
car needed to be repaired. (ye 6y10

HeobXiOno.)
She didn’t have to go.

(8iocymmuicmo HeobXiOHocmi.)
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| ought to get my hair cut. (ye

HeobXiono.)

He needn’t have worn such heavy
clothes. (Fomy moorcna 6yno ne
o0sieamu maxi axcKi peyi, ane 6in ye
3podus.)

She didn’t need to/didn’t have to
buy any apples. (fii ne mpeéa 6yno

Kynysamu s01yKa i 60HA iX He

Kynuna.)
Advice You should drink more water. You should have gone to bed
(3azanvha nopada, s paoxicy 6am.) earlier last night. (aze su yozo ne
You ought to respect the elderly. (= | spo6unu.)
paosicy eam, binbuicmo arooell max He ought to have seen a doctor
ssadicac.) earlier. (aze 6in yoeo ne 3pobus.)
You had better finish it. (ye capna It would have been better if you
ides,; nopaoa wodo nesnoi cumymayii.) | nad finished it yesterday. (aze su
Shall I buy that car? (sanum nopaou.) Y020 He 3pobunL)
Criticism You could at least help me You could have at least helped
me last night.
They should have tried harder.
(ane 8oHu Y020 He 3pobUILL.)
You ought to have behaved
yourself yesterday. (byro 6 ooope
ye 3p06umu, ajle 6u Yboco He
3pobunu.)
Obligation | must go on a diet. (2 nosunen; s | had to go on a diet a month ago.
maxk 86avicaio.)
| have to go on a diet. (2 nosunen; | had to go on a diet a month ago
mak cxkazas nixkap.)
We ought to help the poor.
(ye 0obpe, ane n0ou He 3a601couU ye
pobaams.)
Requests Can | borrow your book?

(neghopmanvhe.)
Could I borrow your book?

(66iunu60.)

147




May | have a cup of coffee, please?
(¢hopmanvhe.)

Might I use your phone? (oyorce
gopmanvie.)

Will you phone Jane tonight?
(Opyoicue.)

Would you mind sending this fax?

(ssiunuse.)

Offers

Can I/we do anything for you?
(neghopmanvhe.)

Shall I/we do it for you?

(¢hopmanvhe.)
Would you like me to help you?

Suggestions

Shall we dance?
I/We can go now if you like.
We could leave if you want

He could have consulted a lawyer

Prohibition

You can’t smoke there. (sam ne
0038071€H0.)

You mustn’t smoke there. (ye
3a60poHeH0.)

You may not smoke there.

(chopmanvre.)

They couldn’t smoke there. (iv ne

6y10 003601€H0.)

Duty

Everyone must obey the law.
People ought to be more tolerant.

(ue 0obpe, ane sonu ne 3a8cou ye

pobsame.)

All the villagers had to obey the
law.

He ought to have been more
tolerant. (ye 6yn0 dobpe, are eonu

Yb0o2o He 3pobuiL.)
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USE OF PREPOSITIONS AFTER WORDS AND EXPRESSIONS

afraid of

Are you afraid of spiders?

agree with

agree about
agree on

agree to

| entirely agree with you.

He left the firm because he didn’t agree with their sales
policy.

We agree about most things.

Let’s try to agree on a date.

I’ll agree to your suggestion if you lower the price

arrive at (in)

What time do we arrive at Cardiff?
When did you arrive in England?

depend on

independent of

We may play footfall — it depends on the weather

die of (from)

More people died of flu in 1919 than were killed in this war.
A week after the accident de died from his injuries

divide into

The book is divided into three parts

drive into

Granny drove into a tree again yesterday

explain smth to smb

Could you explain this rule to me?

get in (to), out of

(car, taxi, small boat)

When | got into my car, | found the radio had been stolen

get on (to), off (train,
plane, bus, ship, bike,

horse)

We’ll be getting off the train in ten minutes

impressed with/by

I’m very impressed with/by your work

interest / interested in

When did your interest in social work begin?

Not many people are interested in grammar

(a) lack of, (to) lack

Lack of time prevented me from writing.

Your mother lacks tact

laugh at | hate being laughed at

listen to If you don’t listen to people, they won’t listen to you
look at Stop looking at me like that.

look after Thanks for looking after me when | was ill.

look for Can you help me look for my keys?

operate on They operated on her yesterday evening
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pay for

Excuse me, sir. You haven’t paid for your drink

pleased with smb
pleased with/about/at
smth

The boss is very pleased with you.
| wasn’t very pleased with/about/at my exam results

proof of

| want proof of your love. Lend me some money

reason for (not of)

Nobody knows the reason for the accident

remind of

She reminds me of a girl I was at school with

responsible/responsibilit

y for

Who’s responsible for the shopping this week?

run into (= meet)

I ran into Philip at Victoria Station this morning

search

search for (= look for)

They searched everybody’s luggage.
The customs were searching for drugs at the airport

shocked at/by

| was terribly shocked at/by the news of Peter’s accident

sorry about
sorry for/about

I’m sorry about your exam results.

I’m sorry for/about breaking your window

speak to/with

Could I speak to/with your father for a moment?

surprised at/by

Everybody was surprised at/by the weather

think of/about

I’m thinking of/about studying medicine

translate into (not in)

Could translate this into Greek for me?
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BRITISH AND AMERICAN ENGLISH

British English
advertisement
air host(ess)
anti-clockwise
autumn
banknote
barrister
bath
bill
booking office
biscuit
blinds (for windows)
carriage

cash dispenser

cashier
centre of the city

chair

chemist’s
chips

cinema
clever

coach
company
cooker, oven
country
crossroads
cul-de-sac
current account
dinner jacket
doctor

double track

American English

commercial
flight attendant
counterclockwise
fall

bill

lawyer, attorney
bathtub

check

ticket office
cookie

shades

car

ATM (automatic teller
machine)

teller

downtown

department

drugstore, pharmacy
French fries
movie theater
smart

bus

corporation
stove

nation
intersection

dead end
checking account
tuxedo

physician

double line
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Ukrainian Equivalent
pexinama (Ha TenebaueHH1)
cTroapj(eca)

NPOTH TOAMHHUKOBOI CTPIIKH
OCIiHb

OaHKHOTa

aJIBOKAT

BaHHA

paxyHoOK

3aJli3HAYHA Kaca

II€YUBO

K031

BAaroH

OaHKOMAar

Kacup

IIEHTpP MicTa

kadenpa (y 3akiaji BUIIOT
OCBITH)

anTeka

CMa)keHa KapTOILIs
KiHOTEaTp

KMITJIMBUN

TYPUCTUYHHM aBTOOYC
KpYIHA KOMIIaHis
KyXOHHA TJINTa

KpaiHa

nepeisa, nepexpects
TYTHK

MOTOYHHI PaxyHOK y OaHKY
CMOKIHT

JiKap

JIBOKOJIIMHA 3aTI3HALA



draughts
driver

dust bin
enquiry office
faculty

flat

form
fortnight

full stop
goods shed

government, cabinet

ground floor
the High Street
on holiday
lend

lift

liquidizer
lorry

Ltd. (limited)
luggage

main road
pavement
petrol

primary school
post code
queue

railway

rolling stock
rubber
secondary school
shop

shopping centre
shunting

sleepers

checkers
engineman

garbage can

information bureau

department
apartment
grade

two weeks
period

freight house
administration
first floor
Main Street
on vacation
loan

elevator
blender

truck

Inc. (incorporated)
baggage
highway
sidewalk
gasoline, gas
elementary school
zip code

line

railroad
equipment
eraser

high school
store

mall
switching

railroad ties
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HIAIIKA
MAaIIHHICT

SIAK JUISL CMITTS
JIOB1IKOBE OIOPO
dakyabTeT
KBapTUpa

KJac (y IIKOJI)
JIBA TIDKHI
Kparmka
TOBAapHUU CKJIaJ
ypsan

MEPIINI MOBEPX

TOJIOBHA BYJIUIIS MiCTa

y BIIAMYCTII
MMO3UYaTH

moT

MIKCEp
BaHTaXKIBKa

TOB

Oarax

oce

TpoTyap

OeH3UH
MOYaTKOBa IIKOJIa
[IOILITOBUA 1HIEKC
yepra

3JII3HUALA
PYXOMUU CKIIaJ
ryMKa

CepeHs IIKoJa

MarasmH

TOpI‘OBCJ’IBHI/Iﬁ HOCHTP

MaHCBpU

oimnaian



subway pedestrian underpass IiI3eMHUN TIepeXi

thousand million billion MUTBSIP]

timber lumber JIepeBHHA

toilet bathroom, restroom TyayueT

tram street car TpamBai

trousers pants, slacks HITaHU

underground, tube subway METPO

zebra (pedestrian) cross walk HIIITOX1THHUH TIepexis
crossing
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